Stainless Steel components Al_:i

\_______\\J




Stainless Steel components

AN N

API

A\

Stainless steel cylinders
ISO 6432

from page 5.1.1

Stainless steel cylinders
ISO 15552

from page 5.5.1

Stainless steel round
cylinders

N@/

&;—i‘

from page 5.11.1

Stainless steel cylinders
ISO 21287

from page 5.16.1

Stainless steel piston rod
accessories

from pagé 5.20.1

Stainless steel mounting
accessories for cylinders
ISO 6432

from page 5.30.1

Stainless steel mounting
accessories for cylinders 1ISO
15552

from page 5.40.1

Stainless steel mounting
accessories for round
cylinders

W7 PR o

from page 5.30.1

Stainless steel NAMUR (&)
solenoid valves

from page 5.70.1

Stainless steel ball valves

from page 5.100.1

Stainless steel
uni-directional valves

from page 5.105.1

Stainless steel quick exhaust
valves

Do

from page 5.110.1

Stainless steel airline
equipment

from page 5.140.20

Stainless steel push-in
fittings series RX

Ure

from page 5.150.1

Stainless steel rapid
fittings series CX

T

from page 5.155.1

Stainless steel compression
fittings series OX

Qs

from page 5.160.1

Stainless steel standard
fittings series AX

UeSe

from page 5.165.1

Stainless steel quick-lock
couplings

from page 5.170.1

Stainless steel swivel joints

from page 5.175.1

Stainless steel air-reservoirs

from page 5.180.1

Stainless steel flow controls

from page 5.185.1

Stainless steel silencers and
silenced exhaust restrictors

from page 5.190.1

5.0



AN N

API

A \\4

Notes




Stainless Steel cylinders ISO 6432

Double acting

Bores from 16 to 25 mm

AN N

A\

Standard executions
Version Symbol Type
Magnetic %]D MDMX
Magnetic with adjustable
cushionings ﬂ MDMAX
(bore from 20 to 25 mm)
c E @ I 2Gc IIC T5
Il 2Dc T100°C
On request, they can be supplied
according to 2014/34/EU - ATEX
Series of stainless steel cylinders conforming to ISO 6432
standards.
The heads are connected with the tube through rolling; this
guarantees perfect tightening.
The cushionings are in nitrile rubber to relieve the impact of the
piston.
- - One or more magnetic reed switches can be applied to the
Options Suffix magnetic type.
For the magnetic reed switches type ASV see from page 1.110.1.
Through rod P For mounting accessories see from page 5.30.1.
For rod clevis see from page 5.20.1.
Seals FKM -20°C + +150°C V How to order: 20/50 MDMXP
20 / 50 MDMX P
Special version on request / S Bore / Stroke Type Option
The options can be combined (when this is possible).
Technical data
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Pressure max 10 bar

Temperature range

-20°C + + 80°C (standard)

-20°C + +150°C (V)

Heads: Stainless steel AISI 304
Barrel: Stainless steel AISI 304
. Rod: Stainless steel AISI 304
Materials
Seal: Polyurethane
Bushing: Sintered bronze
Piston: Brass
. See page 1.1.3 to calculate the cylinder force.
Bore Corse standard Maximum stroke hag \ Y
Seal kits not available for these cylinders.
(mm) (mm) (mm)
16
10, 25, 50, 80,
100, 125, 160,
20 200, 250, 320, 1000
400, 500
25

51.1



Stainless Steel cylinders ISO 6432 a— )

Bores from 16 to 25 mm Double acting "
G + stroke Type MDMX'MDMAX
L + stroke
L1 + stroke
M + stroke
n’:i c
T
R @77 ol o >
? —CL ) g
L*" KL+
G1 + stroke J
14} Cc2 V1 C1 R |KLi| R1 V |[D|CLyfLr| L |M|Gi|AL|CL| A M]S| C G|K|H|H|S:
mm
16 M6 6 M16x1,5 | 20|12 |17,27| 19 | 6 |16 |82 |96 |46 |56|22 |18 |27 | 9 |5| M5 |112|24| 6 | 3 | 10
20 M8 8 M22x1,5 |27 |16 |21,27|25,5| 8 |20 | 95|111|51 (67|24 |20 |32 |12 |7 | 1/8" |131|27| 8 | 4 | 13
25 |M10x1,25| 10 | M22x1,5 |30 |16 | 26,5 | 28 | 8 | 22 |104|118|52 |67|29 |22 |37 |12 |9 | 1/8" |140|27| 8 | 5 | 17

= Type: MDMXP-MDMAXP

T ,4H, I m c
‘T’ r——
| o |
T T — m%
AF + stroke
Flange L + stroke
p K L1 + stroke
P1
- g
e e i 2 mm L L1 © ©Ca C2 S S1 \% K
PD
PA+ stroke P2 16 74,5 | 96,5 | M5 | M16x1,5 M6 5 10 6 16
High foot
20 92 116 | 1/8" | M22x1,5 M8 7 13 8 20
25 97 125 | 1/8" | M22x1,5 |[M10x1,25| 9 17 10 22
NF + stroke ‘ NO ‘
Rear clevis
g mm AF HC P P1 P2 PA PD PL PO T VO N
16 82 27 20 14 6 92 32 4 84 4 20 18
20 97 30 25 17 8 109 36 5 102 5 25 19
25 102,5 30 25 17 8 1145 40 5 103,5 5 25 23

For dimensions and codes of the accessories see page 5.30.1

51.2



Stainless Steel Cylinders ISO 15552

Bores from 32 to 200 mm

Double acting

AN N

A\

Standard executions

Version Symbol

—

For the magnetic reed switches type ASV see from page 1.110.1.
For coupling cylinders/reed swiches/brackets see table on page
1.120.5
For mounting accessories see from page 5.40.1
For rod accessories see from page 5.20.1.

Il 2Gc IIC T5

c E @ I 2Dc T100°C

On request, they can be supplied
according to 2014/34/EU - ATEX

Type

AMX

Magnetic Standard

New series of stainless steel 316 L cylinders conforming to
ISO15552.

Round tube and external tie-rods, standard with adjustable
cushionings.

Scraper ring in polyurethane specially developed for chemical
and food industries.

- - : . The main features of this cylinder are the “clean” modern design
Lubrication with synthetic grease long lasting . ;
. . . and the attention to details.
for applications with low start up, granting low . . .
- R A particular attention has been given to the manufacture of the
friction and a permanent lubrication film. ) . o L
. end caps; there are no external casting cavities, thus eliminating
Fully composed by non-toxic elements contamination traps
conforming to directive FDA section 21 CFR 178 raps. .
- . . In order to facilitate the replacement of the piston rod seal the
about accidental contact with food ( registered ) .
nose has been developed for simple maintenances also on
NSF H1). - - A
cylinders still mounted on a machine.
Options Suffix
Through rod (pag. 5.5.4) P
Seals FKM -20°C + +150°C V
Scraper ring only FKM -20°C + +80°C V1
Low temperature seals -40°C + +80°C BT
Tandem forward movement piston rods coupled together  (pag. 5.5.5) TAL1
Tandem forward movement piston rods independent  (pag. 5.5.5) TA2
Tandem back to back  (pag. 5.5.5) TA3
Tandem front to front (pag. 5.5.5) TA4
Extended rod (indicate the requested WH dimension in mm. E.g.: WH -100) WH-...
Without adjustable cushionings D
Adjustable rear cushioning only D1
Adjustable front cushioning only D2
Special male thread (indicate the requested thread. E.g. : R-M 10x1,5). R-M
The dimension AM of the special thread will be the same as the standard. The cylinder will be supplied without rod nut. -
Female thread; for dimensions see page 5.5.4 F
With bellows for protection of the rod (in this case the dimension WH will be extended according the stroke of the cylinder) Z
NBR seals H
Piston rod scraping ring in nitrile rubber NBR H1
Special on request /S

The options can be combined (when this is possible).

The suffix of the options are to be added to the model number of the standard product, as shown in the following table.

How to order: 63 / 100 AMXPVR-M12x1,25

63 / 100 AMX

V

R-M12X1,25

Bore / Stroke Type

Option

Option

Option

551



Stainless Steel Cylinders 1SO 15552

Bores from 32 to 200 mm

Technical data

AN N

API

L \\U
3 7 5 2 1 6 4 9
/\%
/4 pza
= %
g N—
8 2

Materials (standard types)
Tube and tie-rods Stainless steel AISI 316L
Heads Stainless steel AISI 316L
Rod Stainless steel AISI 316L, lapped
[4] Piston Die-cast aluminium
@ Bushing Self-lubricating sintered bronze
[6] Guide ring Natural Delrin
Rod seals Special polyurethane
Disassembling nose Stainless steel AISI 316L
@ Group cushioning screw Stainless steel AISI 316L
Other seals Nitrile rubber NBR/polyurethane
Technical data
Bore (mm) 32 40 50 63 80 100 125 160 200
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Pressure 0,5 + 10 bar
Temperature range -20°C + +80°C (standard /V1) -20°C + +150°C (V) -40°C + +80°C (BT)
Stroke from 10 mm to 2500 mm
Cushion lenght 20 22 25 25 35 35 35 48 48
Ports 1/8” 1/4” 3/8” 1/2” 3/4”
Rod thread M10 x 1,25|M12 x 1,25 M16 x 1,5 M20 x 1,5 M27 x 2 M36 x 2

Stroke zero (g) 860 1350 2290 2940 4960 7030 12730 24780 31320
Weight —

Additional 10 mm

Stroke (g) 27 35 61 66 106 116 214 331 478

55.2



Stainless Steel Cylinders ISO 15552

Bores from 32 to 200 mm

Standard dimensions

AN N

API

A\

ZJ+stroke

Type: AMX

AM WH L2+stroke VA
—C=l
L1_| PL L7 E
VD TG
= | S
s} § x 1 | A\ E— _ _ u*( }n s u
ST ' ﬂ ) I ‘%ﬁ dB
]
/ S Y
= |
! =
ﬁ, x BG
Y
§ )

(%] AM B BG E EE J2 JE KK L1 L2 H
(mm) @ d11

32 22 30 15 47 G1/8 6 5 M10x1,25 20 94 8

40 24 35 15 52 Gl/4 7.5 5 M12x1,25 22 105 6

50 32 40 16 65 Gl/4 9.5 7,5 M16x1,5 26 106 8

63 32 45 16 75 G3/8 13.5 4 M16x1,5 25 121 8

80 40 45 17 95 G3/8 13.5 6 M20x1,5 32 128 10
100 40 55 17 115 G1/2 15 6 M20x1,5 38 138 10
125 54 60 21 140 G1/2 17 8 M27x2 40 160 14
160 72 65 24 180 G3/4 17 15 M36x2 50 180 14
200 72 75 24 220 G3/4 17 15 M36x2 65 180 14

@ (mm) L7 MM PL RT TG VA VD WH ZJ - 1 - 2 - 8
a7

32 17.5 12 10 M6 32,5 4 4 26 124 10 17 27
40 21.5 16 15 M6 38 4 4 30 139 13 19 32
50 20 20 15 M8 46,5 4 4 37 147 17 24 36
63 20 20 16 M8 56,5 4 4 37 162 17 24 38
80 27 25 20 M10 72 4 4 46 178 22 30 42
100 28.5 25 235 M10 89 4 4 51 193 22 30 50
125 315 32 235 M12 110 5 5 65 230 27 41 52
160 33 40 275 M16 140 6 8 80 266 36 55 60
200 35 40 27 M16 175 6 8 95 281 36 55 70

553



Stainless Steel Cylinders ISO 15552

Bores from 32 to 200 mm

Options

AN N

API

A\
Type: ...P
[/
f | _ a _ _ |
( [/ |
||
ZJ +Stroke
ZM +2Strokes
Type: ...F
T4 %/
AF e
WF__|
(] AF KF T4 WF GF ZJ ZM
mm
32 12 M6 2,6 26 8 120 146
40 12 M8 3,3 30 10 135 165
50 16 M10 4,7 37 12 143 180
63 16 M10 4,7 37 12 158 195
80 20 M12 6,1 46 14 174 220
100 20 M12 6,1 51 14 189 240
125 32 M16 8 65 18 225 290
160 36 M20 10 80 22 260 340
200 36 M20 10 95 22 275 370

554



Stainless Steel Cylinders ISO 15552

Bores from 32 to 200 mm

Options

AN N

API

L\
Type: ..TA1
AM  WH L8 + stroke 1 B L8 + stroke 2
1 o - o
| S
Type: ..TA2
strokel AM  WH L8 + stroke 1 B L8 + stroke 2
stroke 2
T - <2 Z -
L s &
&)
Type: .. TA3
AM  WH L8 + stroke 1 C L8 + stroke 2
__ | _ A |
| = N+,
L] 7S N
§
Type: .. TA4
L8 + stroke 1 D L8 + stroke 2
i )
1
(%) AM B @ D L8 WH
mm
32 22 40 12 48 94 26
40 24 44 12 54 105 30
50 32 52 16 69 106 37
63 32 50 16 69 121 37
80 40 64 20 86 128 46
100 40 76 20 91 138 51
125 54 80 35 120 160 65
160 72 100 50 152 180 80
200 72 130 50 167 180 95

555



Stainless Steel Cylinders ISO 15552

Bores from 32 to 200 mm

Mounting accessories SO

AN N

API

A\

ZF + stroke
1 i
C I
O ©)
XD + stroke - L
w
Rear clevis/eye Flange
XA stroke XV max + stroke
"
[ i o
=|
1
. - - - | x
: -
T |\+/ | <
< 1 (" L
—
J L—1
‘ XV min.
SA + stroke
Feet Centre trunnion
o Y
—— —
) ) ) ] fg . ) ) 1 LA
(% Y
—T T a
| | [ |
XD + stroke B XD + stroke C
Rear standard hinge Rear 90° hinge
For dimensions and codes of the accessories: see page 5.40.1
(%] A AH B C D SA W XA XD XV XV ZF
mm max min max
32 70 32 22 21 32 142 16 144 142 60 86 130
40 78 36 25 24 36 161 20 163 160 69 96 145
50 91 45 27 33 45 170 25 175 170 78 102 155
63 94 50 32 37 50 185 25 190 190 82 113 170
80 130 63 36 47 63 210 30 215 210 97 123 190
100 145 71 41 55 71 220 35 230 230 107 133 205
125 170 90 50 70 90 250 45 270 275 126,5 163,5 245
160 190 115 55 / / 300 55 305 315 150 190 285
200 240 135 60 / / 320 70 322,5 335 165 205 300

5.5.6



Stainless Steel Round Cylinders

AN N

Bores from 32 to 63 mm Double acting "
Standard executions
Version Symbol Type
Front threaded end cap
mounting.
Magnetic, adjustable RXDVA
cushioning
Front and rear threaded
end caps mounting.
Magnetic, adjustable RXDVD
cushioning
Four threaded holes on
rear cap.
Magnetic, adjustable RXDFP
cushioning
Male hinge fixing (ISO
MP4) 9 9 ( RXDCM New series of stainless steel round cylinder with bores from
Magnetic, adjustable 32 to 63mm., characterized by an essential design specifically
cushioning 1 developed to prevent the settling of impurities.
Male hinge with articulat- l ‘ L ‘
ed head (ISO MP6) . . .
Ma%rjeti'c, adjustable RXDCS Vc\llﬁlér:ged;ir?(ggz S|settslrenooth surface free of chamfers or cavities
cushnioning .
Narrow female hinge This series is fully in Stainless Steel AISI 316L.
(ISO AB6)
Maghneu_c, adjustable RXDCF These features make RXD cylinders specifically suitable for
cushioning Food&Beverage, Chemical, Pharmaceutical and Medical
Hinge on front end cap. industries and for all those applications where maximum hygiene
Magnetic, adjustable RXDBA and cleaning are required, even in corrosive environments.
cushioning
Hinge on rear end cap. RXD_ Series are avallgble in several configurations bespoke
Magnetic, adjustable RXDBP solutions are also possible.
cushioning
For the magnetic reed switches type ASV see from page 1.110.1
For mounting accessories see from page 5.35.1
c € @ I 2Gc IIC T5 For rod accessories see from page 5.20.1
Il 2Dc T100°C
On request, they can be supplied according to 2014/34/EU - ATEX Lubr'icat_ion W.ith synthetic grease long Ie_lst_ing for
applications with low start up, granting low friction and
a permanent lubrication film.
Fully composed by non-toxic elements conforming to
directive FDA section 21 CFR 178 about accidental
contact with food ( registered NSF H1).
Options Suffix
Through rod P
High temperature seals FKM (-20°C + +150°C) V
Scrape ring only in FKM (-20°C + +80°C) V1
Low temperature seals EPDM (-40°C + +80°C) BT
Extended rod (indicate the requested WH dimension in mm. E.g.: WH-100) WH-
Without adjustable cushionings D
Adjustable rear cushioning only D1
Adjustable front cushioning only D2
Special male thread (indicate the requested thread. E.g. : R-M 10x1,5). R M
The dimension AM of the special thread will be the same as the standard. The cylinder will be supplied without rod nut. -
With bellows for protection of the rod (in this case the dimension WH will be extended according the stroke of the cylinder) Z
Nitrile rubber NBR seals H
Piston rod scraping ring in nitrile rubber NBR H1
Special on request /S

The options can be combined (when this is possible).

The suffix of the options are to be added to the model number of the standard product, as shown in the following table.

How to order: 63 / 100 RXDVAP

63 / 100 RXDVA

Bore / Stroke Type Option

5.11.1



Stainless Steel Round Cylinders

Bores from 32 to 63 mm

Technical data

AN N

API

A\

Type: RXDVA

— [N
< ] 7
{
r 1
| %
L) [ Z

Materials (standard types)

Tube and tie-rods Stainless steel AISI 316L

Heads Stainless steel AISI 316L

Rod Stainless steel AISI 316L, lapped
[4] Piston Die-cast aluminium

@ Bushing Self-lubricating sintered bronze
[6] Guide ring Natural Delrin

Rod seals Special polyurethane

Group cushioning screw Stainless steel AISI 316L

Other seals

Nitrile rubber NBR/polyurethane

Technical data

Bore (mm) 32 40 50 63
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Pressure 0,5 + 10 bar

Standard: -20 °C + +80 °C
Temperature rance High temperature (V): -20°C + +150°C

P 9 Scrape ring only in FKM (-20°C + +80°C)

Low temperature (BT): -40°C + +80°C
Stroke from 10 mm to 1000 mm
Cushion lenght 20 22 25 25
Ports 1/8” 1/4” 3/8”
Rod thread M10 x 1,25 M12 x 1,25 M16 x 1,5

5.11.2




H H AN
Stainless Steel Round Cylinders A‘PI
Bores from 32 to 63 mm Standard dimensions "

Type: RXDVA
AM ZJ + stroke
H WH PLEE EE , _PL
] P
Ll L
i LA e
CH3 CH1
CH2
VB ZA + stroke
g | AM 2B @D | EE KK |@MM| PL | VB | U | WH | ZA | ZJ | CHL1 | CH2 | CH3 | H
(mm) 7 +1 +1
0 0
32 | 22 |M30x1,5| 36 | G1/8 |M10x1,25| 12 | 105 | 20 | 265 | 26 | 94 | 120 | 10 | 29 | 17 5
40 | 24 | M38x1,5| 45 | Gl/4 (M12x1,25| 16 | 12 | 22 | 31 | 30 | 105 | 135 | 13 | 36 | 19 6
50 | 32 |M45x1,5| 54 | Gl/4 | M16x15| 20 | 11,5 | 26 | 395 | 37 | 106 | 143 | 17 | 42 | 24 8
63 | 32 |M45x1,5| 68 | G3/8 | M16x15| 20 | 145 | 25 | 385 | 37 | 121 | 158 | 17 | 42 | 24 8
Type: RXDVD
AM ZJ + stroke
H WH PL EE EE  PL
07 &7
Ll _l
)
s| | 1]
14 AR —— e
CH3 CH1
CH2 CH2
VB ZA + stroke VB
g | AM oB @D | EE KK |@MM| PL | VB | U | WH | ZA | ZJ | CHL | CH2 | CH3 | H
(mm) f7 +(1) *é
32 22 | M30x1,5| 36 |G1/8|M10x1,25| 12 | 10,5 | 20 | 265 | 26 | 94 | 140 | 10 | 29 | 17 5
40 24 | M38x1,5| 45 |Gl/4|M12x1,25| 16 | 12 | 22 | 31 | 30 | 105 | 157 | 13 | 36 | 19 6
50 32 | M45x1,5| 54 |Gl4|M16x15| 20 | 11,5 | 26 | 395 | 37 | 106 | 169 | 17 | 42 | 24 8
63 32 | M45x1,5| 68 |G3/8| M16x15| 20 | 145 | 25 | 385 | 37 | 121 | 183 | 17 | 42 | 24 8

5.11.3




Stainless Steel Round Cylinders A“I_:i

Bores from 32 to 63 mm Standard dimensions "
Type: RXDFP
AM ZJ + stroke
H WH PL, EE EE , PL
] P
Ll L
[
s 1]
: 089 T —-——— ¢
CH3 CH1 'c_c
CH2 VD BG
VB ZA + stroke

*For bore @ 63 thread absent

(%] AM | @B | BG | @D | EE KK OMM| PL | RT | TG | VB |[VD| U |[WH | ZA | ZJ |CH1|CH2|CH3| H
(mm) d11 f7 i i
0 0
32 22 30 6 36 |G1/8 |M10x1,25| 12 [10,5| M4 | 19 20 4 |26,5] 26 94 | 120 | 10 29 17 5
40 | 24 | 35 | 8 | 45 |G1/4|M12x1,25| 16 | 12 | M5 | 24 | 22 | 4 | 31 | 30 |105|135| 13 | 33 | 19 | 6
50 32 40 9 54 | G1/4 | M16x1,5| 20 |11,5| M6 | 28 26 4 1395 37 | 106 | 143 | 17 38 24 8
63 32 45 12 68 | G3/8 | M16x1,5| 20 |145| M8 | 35 25 4 1385 37 | 121 | 158 | 17 42 24 8
Type: RXDCM
AM ZJ + stroke
H WH PL EE EE PH
A [T
Ll L
R
2 x | g _ _ _ _ _ A ot o
8 NPBLE

CH3/ CH1

CH2 VD L |

VB ZA + stroke

2 |AM | @B | @C | @D | EE |EW KK gMM| L (LU |PH|PL |VB|VD| U |[WH| ZA | ZJ |CH1|CH2|CH3| H
(mm) di1 | H8 f7 #io|p e

32| 22|30 |10 | 36 |G1/8| 26 [M10x1,25| 12 | 13 | 9 |32,5/10,5| 20 26,5| 26 | 125|142 | 10 | 29 | 17

40 | 24 | 35| 12 | 45 |Gl/4| 28 |M12x1,25| 16 | 16 | 10 | 37 | 12 | 22 31 | 30 |140 160 | 13 | 33 | 19

50 | 32|40 | 12 | 54 |G1/4| 32 | M16x1,5| 20 [16,5| 12 | 37 |115| 26 39,5| 37 |145]170| 17 | 38 | 24

EE I S
Q|| o | U,

63 | 32| 45| 16 | 68 |G3/8| 40 | M16x1,5| 20 | 21 |12 | 46 |145] 25 38,5| 37 |165|190 | 17 | 42 | 24

5.11.4



Stainless Steel Round Cylinders A“I_:i

Bores from 32 to 63 mm Standard dimensions "

Type: RXDCS

AM ZJ + stroke

i
=

(I
]

CH3/ CH1

CH2 VD L LU

EW VB ZA + stroke

@ |AM| @B |@C |@D | EE | EP |[EW KK MM| L LU |PH|PL|VB|VD| U |WH| ZA | ZJ |CH1|CH2|CH3| H |a®°
(mm) di1 | H7 f7 G
0 0

32 (22|30 |10 |36 |G1/8|10,5| 14 |M10x1,25| 12 | 13 | 15 |32,5(10,5| 20 | 4 (26,5| 26 | 131 | 142 | 10 | 29 | 17 | 5 |13

40 | 24 | 35 | 12 | 45 |Gl/4| 12 | 16 |[M12x1,25| 16 |16 |19 |37 |12 |22 | 4| 31|30 |149|160| 13 |33 |19 |6 |13

50| 32|40 |16 | 54 |G1/4| 15 | 21 | M16x1,5| 20 |16,5/20,5|38,5/11,5| 26 | 4 |39,5| 37 (1535|170 | 17 | 38 | 24 | 8 |15

63|32 |45 |16 | 68 |G3/8| 15 | 21 | M16x1,5| 20 | 21 | 24 |46,5|14,5| 25 | 4 |38,5| 37 | 177 | 190 | 17 | 42 | 24 | 8 |15

Type: RXDCF

AM ZJ + stroke
490
H WH PL EE EE PH
1y ﬁ*%/ \%71 ‘j
Ll Ll
—
P TS N . v ena
8 L/
N I
L CH3/ CH1 /
EP CH2 vD | | L |t
EW VB ZA + stroke

@2 |AM | @B |@C |@D| EE | EP | EW KK gMM| L (LU | PH | PL [VB|VD| U [WH| ZA | ZJ |CH1|CH2|CH3| H
(mm) d11 | H8 f7 o

3222|3010 |36 |G1/8| 14 | 34 |M10x1,25 12 |16 | 9 |325(10,5| 20 26,5| 26 | 125|142 |10 | 29 | 17

40 | 24 | 35|12 |45 |G1/4| 16 | 40 |M12x1,25| 16 | 19 | 10 | 37 | 12 | 22 3130 140|160 | 13 | 33 | 19

50 |32 |40 |16 |54 |G1/4| 21 | 45 | Ml16x15| 20 | 21 |12 | 37 |115]| 26 39,5| 37 | 145|170 | 17 | 38 | 24

B I A
Q|| o | O,

63 32|45 |16 |68 |G3/8| 21 | 51 | Ml16x15| 20 | 24 | 12 | 46 |145]| 25 38,5| 37 | 165|190 | 17 | 42 | 24

5.11.5



Stainless Steel Round Cylinders A“I_:i

Bores from 32 to 63 mm Standard dimensions "
Type: RXDBA
AM ZJ + stroke
AX
H WH PL EE EE PL
e T
T Tlﬂ
CH4 CH4 U:::H U: «J
[
: 03 TR — ¢

CH3 CH1

CH2 VD

AL VB ZA + stroke

@ | DA | AL | AX | AM | @B | @D | EE KK OMM| PL | VB [VD| U |WH| ZA | ZJ [CH1|CH2|CH3|CH4| H
(mm) | 7 d11 f7 Vi
0 0
32 |12 | 67 | 39 | 22 | 30 | 36 | G1/8 |M10x1,25| 12 |10,5| 20 | 4 |26,5| 26 | 94 | 120 | 10 | 29 | 17 | 10 | 5
40 | 12 | 76 | 43 | 24 | 35 | 45 | G1/4|M12x1,25| 16 | 12 | 22 | 4 | 31 | 30 [105|135| 13 | 33 | 19 | 10 | 6
50 | 16 | 89 | 40 | 32 | 51 | 54 |G1/4| M16x1,5| 20 |11,5| 26 | 4 |395| 37 | 106|143 | 17 | 38 | 24 | 14 | 8
63 | 16 | 103 | 47 | 32 | 47 | 68 |G3/8| M16x1,5| 20 |145| 25 | 4 |385| 37 | 121|158 | 17 | 42 | 24 | 14 | 8
Type: RXDBP
AM ZJ + stroke
AY
H WH PLﬁ iPL
I Lﬂ
CH4 CH4 U:::U U: :U
1
s 8 g eI - —- Q g

CH3/ CH1

CH2 VD

AL VB ZA + stroke

@ | OA | AL | AY | AM | @B | @D | EE KK OMM| PL | VB |[VD| U |WH| ZA | ZJ |CH1|CH2|CH3|CH4| H

(mm) | 7 di1 f7 *é +c1)

32 | 12 | 67 |110| 22 | 30 | 36 |G1/8 [M10x1,25| 12 [10,5| 20 | 4 |265| 26 | 94 |120| 10 | 29 | 17 | 10 | 5

40 | 12 | 76 | 122 | 24 | 35 | 45 | G1/4 [M12x1,25| 16 12 | 22 | 4 31 30 |105|135| 13 | 33 | 19 | 10 | 6

50 | 16 | 89 [129| 32 | 40 | 54 | G1/4| M16x1,5| 20 |115| 26 | 4 |395| 37 | 106|143 | 17 | 38 | 24 | 14 | 8

63 | 16 | 103 |(148| 32 | 45 | 68 | G3/8| M16x1,5| 20 |(145| 25 | 4 |385| 37 | 121|158 | 17 | 42 | 24 | 14 | 8
ZM + 2x stroke Type: ...P

ZJ + stroke

) )

| v
@ (mm) ZM ZJ
32 146 140
40 165 157
50 180 169
63 195 183

5.11.6



Stainless Steel Round Cylinders
Bores from 32 to 63 mm

Double acting

AN N

A\

Standard executions
Version Symbol Type
Double acting %ﬂ R DX
Double acting magnetic %]D RDMX
Double acting magnetic
with cushionings ﬂ RDMAX
(only for bores 32 and 40)

c E @ Il 2Gc IIC T5

Il 2Dc T100°C

On request, they can be supplied

according to 2014/34/EU - ATEX
Options Suffix
Through rod P
Seals FKM -20°C + +150°C V
Low temperature seals -40°C + +80°C BT
Low friction L
High chemical resistant rod scraper (P5600) C]_
Special versions on request / S

The options can be combined (when this is possible)

Series of stainless steel cylinders not conforming to standards.
The heads are connected with the body through rolling: this
guarantees perfect tightening.

Dumpers are in nitrile rubber to cushion the impact of the piston.
RDMAX type are provided with adjustable cushionings at both
ends (available only for bores 32 and 40 mm).

The standard cylinders are provided with rod nut.

One or more magnetic reed switches can be applied to the
magnetic types.

For the magnetic reed switches type ASV see from page 1.110.1

For mounting accessories see from page 5.35.1
For rod accessories see from page 5.20.1

How to order: 40 / 50 RDMXP

40 / 50 RDMX B

Bore / Stroke Type Option

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Pressure

max 10 bar

Temperature range

-30°C + +80°C (standard)

-20°C + +150°C (V)

-40°C + +80°C (BT)

Heads: Stainless Steel AISI 304
Tube: Stainless Steel AISI 304
Materials Rod: Stainless Steel AISI 316
Piston: Aluminium
Seals: Polyurethane
(mm) (mm) (mm) Y :
32
20 25, 50, 80,100,
125, 160, 200, 1000
50 250, 320, 400,
500
63

5.12.1



Stainless Steel Round Cylinders A“Ei

Bores from 32 to 63 mm Standard dimensions and mountings —
Type: RDX-RDMX-RDMAX
L + stroke
SwW
L 2 + stroke /
F
S
Z W + stroke
gmm| V F P D F1 R L2 Z | WH | W L1 L R1 H $ SW
32 20 | M30x1,5| 30 1/8" | M10x1,5 | 12 | 78 14 | 38 96 47 148 | 33,6 | 17,5 6 17
40 24 | M38x1,5| 35 1/4” |M12x1,75| 16 | 89 16 | 45 | 113 57 174 | 41,6 21 7 19
50 32 | M45x1,5| 38 1/4” M16x2 | 20 | 96 18 | 50 | 120 62 188 | 52,4 | 26,5 8 24
63 32 |M45x15| 38 3/8” M16x2 | 20 | 98 18 | 50 | 124 63 192 | 654 | 32,5 8 24
P L3 + stroke
= H{oH — — — — — ot g ]
) JP@ ——————— O [EE=
[ HI — D - H
L1 + stroke —
Vv “1--1h
L + stroke Q
H
High foot Rear clevis
L2 + stroke
ﬁ,
\ \
o @ ‘ | :[: ~ E
I
| @
Pivot
@ mm L L1 L2 Ls Vv Vi P H Q G D
32 148 | 124 | 125 | 125 | 48 | 47 20 | 40 | 24 | 51 7
40 153 | 153 | 146 | 146 | 60 | 57 | 27 50 | 30 | 61 9
50 160 | 160 | 158 | 158 | 64 | 62 | 30 54 | 34 | 75 9
63 164 | 164 | 161 | 161 | 65 | 63 | 34 65 | 35 | 92 9

5.12.2



Stainless Steel Compact Cylinders 1ISO 21287

Bores from 25 to 100 mm

Standard executions

Version Symbol Type

Single acting magnetic
with female thread

CIXS

Double acting magnetic
with female thread

%]ﬂ CIX

Double acting magnetic
anti-rotating

CIXN

I 2Gc IIC TS

c E @ I 2Dc T100°C

On request, they can be supplied according to 2014/34/EU - ATEX

Lubrication with synthetic grease long lasting
for applications with low start up, granting low
friction and a permanent lubrication film.

Fully composed by non-toxic elements
conforming to directive FDA section 21 CFR 178
about accidental contact with food ( registered

Series of stainless steel compact cylinders conforming to 1SO

21287 standards.

Round tube and external tie-rods are the features of this cylinder
with clean design and attention to details.
A particular attention was put to the end caps where there are no
cavities, thus eliminating contamination traps.

All series CIX is with elastic dampers on the piston
Only magnetic version available

One or more magnetic reed switches can be mounted.

For the magnetic reed switches type ASV see from page 1.110.1.
For mounting accessories

see from page 5.40.1

NSF H1). For rod accessories see from page 5.20.1 and 5.25.1
Options Suffix
Single acting, rear spring (page 5.16.4) T
Male thread on piston-rod (page 5.16.4) M
Through-rod (page 5.16.4) P
Seals FKM -20°C + +150°C V
Scraper ring only FKM -20°C + +80°C V1
Low temperature seals -40°C + +80°C BT
Extended rod (indicate the requested WH dimension in mm. E.g.: WH-50) WH-...
Special on request /S

The options can be combined (when this is possible).

The suffix of the options are to be added to the model number of the standard product, as shown in the following table.

How to order: 63/100CIXMP

63 / 100 CIX M P

Bore / Stroke Type Option

Option

How to order: 32 / SG / CIXP

Seals kits

32

n 1l Rod seal

/

SG

CIX

n. 2 Tube O-ring

Bore

n.1 Piston lip-seal

Seal kit

Type

Option

5.16.1



Stainless Steel Compact Cylinders 1ISO 21287

Bores from 25 to 100 mm

Techinical data

AN N

API

A \\4
| i 6
-|/
14 )]
T )] N
= )
Materials (standard types) Maximum radial load diagram
i F(N)
Rod Stainless steel AISI 316L ‘
90 ﬂ‘lOO
Bushing Sintered bronze self-lubricated
80
Heads Stainless steel AISI 316L o !
Tube Stainless steel AISI 316L *
50 280
[5] Piston Aluminium o
@50/63 \
30 12132/40\
[6] Guide ring PTFE N ]
20 220125 ™~
: A S e L e
Rod seals Polyurethane 1ol o .
N S e e e e 2
Other seals Nitrilic rubber NBR ‘ P o 10 S mm)
Technical data
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Pressure Single acting 2 + 10 bar - Double acting 1 + 10 bar
Temperature range -20°C + +80°C (standard /V1) -20°C + +150°C (V) -40°C + +80°C (BT)
Bore Standard strokes Standard strokes Standard strokes
(mm) CIXS CIX CIXN
25 5, 10, 15, 20, 25 (5+25) |5, 10, 15, 20, 25, 30, 40, 50, 60 (5+300) |5, 10, 15, 20, 25, 30, 40, 50, 60 (5+200)
32 5, 10, 15, 20, 25 (5+25) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+400) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+300)
40 5, 10, 15, 20, 25 (5+25) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+400) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+300)
50 5, 10, 15, 20, 25 (5+25) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+400) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+300)
63 5, 10, 15, 20, 25 (5+25) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+400) |5, 10, 15, 20, 25, 30, 40, 50, 60, 80 (5+300)
80 15, 20, 25 (15+25) |15, 20, 25, 30, 40, 50, 60, 80 (15+500) |15, 20, 25, 30, 40, 50, 60, 80 (15+400)
100 15, 20, 25 (15+25) |15, 20, 25, 30, 40, 50, 60, 80, 100 (15+500) |15, 20, 25, 30, 40, 50, 60, 80, 100 (15+400)

5.16.2



Stainless Steel Compact Cylinders 1ISO 21287

Bores from 25 to 100 mm

Standard dimensions

AN N

API

A\

o
~

PL

Type: CIX - CIXS

g
2 Py — fH ea w
— -
ing g
BG % ] RT )
WH| ZA + corsa
g |DMM| AF WH ZA ZB KF EE BG RR TG E RT PL CH |9DA| PA
(mm)| 7 H9 | +0.1
25 10 10 6 39 45 M6 M5 15 4,1 26 40 M5 8 2,1
32 12 - 7 44 51 - G18| 16 - 325 | 475 | M6 10 2,1
40 12 12 7 45 52 M8 | G18 | 16 51 38 55 M6 7,5 10 2,1
50 16 16 8 45 53 M10 | G 1/8 16 6,4 46,5 66 M8 7,5 14 12 2,6
63 16 16 8 49 57 M10 | G 1/8 16 6,4 56,5 78 M8 7 14 12 2,6
80 20 20 10 54 64 M12 | G1/8 | 17 8,4 72 96 M10 8 17 12 2,6
100 20 20 10 67 77 M12 | G 1/8 17 8,4 89 116 M10 8,5 17 12 2,6
Type: ...N

(0] WH MF E TG B FG ZBB OF FB aC [PC MN

(mm) +0,1 +0,1 +0,1 H9 f7

25 6 8 40 26 15.6 M5 22 5 M5 14 4.5 6

32 7 10 47.5 32,5 19.8 M6 28 5 M5 17 55 8

40 7 10 55 38 23.3 M6 33 5 M5 17 5,5 8

50 8 12 66 46,5 29.7 M8 42 6 M6 22 6,5 10

63 8 12 78 56,5 354 M8 50 6 M6 22 6,5 10

80 10 14 96 72 46 M10 65 8 M8 24 7,5 10

100 10 14 116 89 56.6 M10 80 10 M10 24 7,5 12

5.16.3



Stainless Steel Compact Cylinders 1SO 21287

AN N

API

Bores from 25 to 100 mm Option "
Type: .. T
|
|
WH + stroke
Available stroke: 1+25
Type: ..M
e
§ — p— —
|
A WH
Type: ...P
| 1
I
—{|
\WH)
ZJ + stroke
ZM + stroke
(%] A KK WH ZJ ZM
(mm)
25 16 M8x1.25 6 45 51
32 19 M10x1.25 7 51 58
40 19 M10x1.25 7 52 59
50 22 M12x1.25 8 53 61
63 22 M12x1.25 8 57 65
80 28 M16x1.5 10 64 74
100 28 M16x1.5 10 77 87

5.16.4




Mounting Accessories for Stainless Steel Cylinders A“Ei
Clevis ISO and DIN "
Standard executions
Version Symbol Type
ISO Female clevis FFX..ISO
DIN Female clevis FFX..DIN .
A&
Clevis conforming to ISO and DIN standards.
It's provided with a pin and 2 seegers.
The clevis is mounted on the cylinder rod and allows a swinging
movement.
Options Suffix Technical data
) . ) Body and clip:  Stainless steel AISI 316
Special version on request /S Materials Seeger: Stainless steel AIS| 316
L Type: FFX..1ISO
FFX..DIN
@ - Q
R

For the accessories of bore 125-160-200 mm, apply for availability because they have to be produced on request only.

Code Iltem For cylinder D A B D1 D2 E L L1 L2 N R | Weight

g mm B12 (9)
041052 | FFXO04ISO/DIN 8-10 M4x0,7 4 8 4 6 21 16 11 8 0,5 7
041071 FFX05DIN * M5x0,8 6 10 5 7,5 26 20 | 135 | 10 0,5 12
041053 | FFXO06ISO/DIN 12-16 M6x1 6 12 6 10 9 31 24 16 12 0,5 19
041054 FFX08ISO 20 M8x1,25 8 16 8 14 12 42 32 22 16 0,5 47
041055 FFX101SO 25-32 M10x1,25 10 20 10 18 15 52 40 25 20 0,5 89
041070 FFX10DIN 32** M10x1,5 10 20 10 18 15 52 40 25 20 0,5 89
041056 FFX121SO 40 M12x1,25 12 24 12 20 18 62 48 30 24 0,5 153
041216 FFX12DIN 40** M12x1,75 12 24 12 20 18 62 48 30 24 0,5 153
041057 FFX16ISO 50-63 M16x1,5 16 32 16 26 24 83 64 39 32 1 320
041078 FFX16DIN 50-63** M16x2 16 32 16 26 24 83 64 39 32 1 320
041058 FFX20I1SO 80-100 M20x1,5 20 40 20 34 30 105 | 80 48 40 1 680
041112 FFX271SO 125 M27x2 30 55 30 48 38 148 | 110 - 54 1 -
041113 FFX361SO 160-200 M36x2 35 70 35 60 40 | 188 | 144 - 72 1 -

* For cylinders not conforming to standard ** For RDX, RDMX and RDMAX series cylinders

5.20.1



Mounting Accessories for Stainless Steel Cylinders

Bearings - Bearing heads DIN 648-K and ISO 8139

AN N

API

A\

Standard executions

Version Symbol Type
With female thread RFX..SE
Self-lubricating bearing heads servicing-free and conforming to
DIN 648-K and ISO 8139 standards.
The bearing head is mounted on the cylinder rod.
Technical data
Temperature range -30 °C + +150 °C
Body: Stainless Steel AISI 431
Materials Sphere: Stainless Steel AISI 316
External ring: Stainless Steel AISI 316 TI
Type: RFX..SE
Brgﬂo
2
C1 d
E;;J ‘ 1
‘i P
Sl A BN - I
J 5
Y <
\H -
> S
I | L5
2 | Y |
| ‘ | ‘ | ‘
H6
B d4
w ds
Code Item For cylin.| d ds B| Ci | di|d2| dsa |[ds| dk hi | Ls| Lsa|Ls|L7|W]| Static a°  |Weight
ISO load ©
% [T (daN)
041576 RFX4SE 8-10 5 M4 8 6 |7,7(18] 9 |11/11,112|27 10|36 | 4 |10| 9 600 13 19
041570 RFX6SE | 12-16 | 6 M6 9/6,75(8,9(20| 10 |13|12,700|30 (12|40 | 5 |11|11| 700 13 26
041577 RFX8SE 20 8 M8 12| 9 1|10,4/24|12,50|/16|15,875|36 |16|48 | 5 |13|14| 1200 14 46
040009 RFX10SE | 25-32 |10|M10x1,25|14|10,50|12,9|28| 15 |19|19,050| 43 |20 |57 |6,5/15|17| 1400 13 75
041578 RFX12SE 40 12 |M12x1,25|16| 12 |15,4|32|17,50|22|22,225|50 |22 |66 |6,5(17|19| 1900 13 112
040011 RFX16SE | 50-63 |16| M16x1,5 [21| 15 |19,3|42| 22 |27|28,575|64 |28 |85 | 8 |23|22| 4800 15 220
041579 RFX20SE | 80-100 |20 | M20x1,5 |25| 18 |24,3|50(27,50|34|34,925| 77 | 33|102|10|27|30| 5200 14 | 406
041580 RFX30SE 125 |30| M27x2 |[37| 25 |34,8/70| 40 |50|50,800|110|51 |145|15|36(41| 10800 17 |1120
041581 RFX35SE | 160-200 | 35| M36x2 [43| 28 |37,7/80| 46 |58|57,150|125|56|165|17 |41|50| 12400 19 |1595

5.25.1



Mounting Accessories for Stainless Steel Cylinders
Bearings - Self-aligned articulated couplings

AN N

API

A\

Standard executions

Version Symbol Type
Axial GBX
Options Suffix
Special versions on request / S

Axial self-aligned articulated couplings mounted on the cylinder

rod.

They are fit for applications with high tractions and allow to com-
pensate the angular and parallel misalignments.
They are provided with hexagonal nut in the standard version.

Technical data

Material

Stainless Steel AISI 303

Type: GBX
CH
@ ‘\ |
_
s \
|
|
Code Item For cylin. A B C | D E |F| G H | M |CH | B° | CH1| Maximum load | Weight
ISO (N) inthustand| (g)
@ mm traction
041734 GBX008 8-10 M4x0,7 33 8 |22|155| 6 [85]145 |12 1013,2| 10| 12 750 20
041735 GBX010 12-16 M6x1 39 |12 32|175| 6 | 85| 14,5|13 10| 5 (10| 7 1200 23
041736 GBX020 20 M8x1,25 | 55 |16 | 4 |245| 8 |12,5| 19 |17 200 7 |10 | 10 2500 60
041737 GBX040 25-32 | M10x1,25| 73 [ 20| 5 | 34 |14| 21| 32 |30 20|12 |10 19 5000 230
041738 GBX060 40 M12x1,25| 77 |24 | 6 | 34 |14| 21| 32 |30 20|12 |10 19 5000 230
041739 GBX100 50-63 M16x1,5 | 108 | 32 | 8 | 54 | 22|3355| 45 |41 3211910 30 10000 650
041721 GBX120 80-100 | M20x1,5 | 122 |40 | 9 | 54 |22 |33,5| 45 |41 40(19 |10 | 30 10000 710
041740 GBX130 125 M27x2 | 147 | 54 |135| 71 | - | 59 | 60 |55 40(24 | - | 32 - 1600

* For cylinders not conforming to standards.

5.

25.10



Mounting Accessories for Stainless Steel Cylinders

Self-aligned articulated couplings

AN N

API

A\

Standard executions

Version Symbol Type
Self-aligned
articulated couplings GCX
Axial self-aligned articulated couplings mounted on the cylinder
rod.
They are suitable for applications with high tractions and allow to
compensate the angular and parallel misalignments.
Options Suffix
Technical data
Special version on request / S Material Stainless Steel AISI 303
Type: GCX
E A
F
K CH
x - A\ i\
© = N> N>
- TN N -
g ol al = / l/\ 3 -
|\
(D) ()
7/ N
Code Item A B C D CH E F 2G| OH a1 K M o Weight
(9)
041728 | GCXM10x1,25 | 60 | 37 (36 :0,15/23 015 17 24 15 20 11 6,6 7 |M10x1,25 0,4+0,8| 0,3
041729 | GCXM12x1,25 | 60 | 56 |42 02|38 02| 19 30 20 25 15 9 9 |M12x1,25 0,4+0,8| 04
041730 | GCXM16x1,5 | 80 | 80 |58 02|58 02| 24 32 20 30 18 11 11 | M16x1,5 0,4+0,8| 0,9
041731 | GCXM20x1,5 | 90 | 90 [65=:02|65+02| 36 35 20 40 20 14 13 | M20x1,5 0,4+0,8 11
041732 | GCXM27x2 90 | 90 |65:02|65:02| 36 35 20 40 20 14 13 | M27x2 0,4+0,8 11
041733 | GCXM36x2 | 125 | 125 |90 02|90 02| 50 55 30 60 26 18 17 | M36x2 0,4+0,95 34

5.26.1



: . H ; AN
Mounting Accessories for Stainless Steel Cylinders A‘PI
Mountings for ISO 6432 "
Standard executions
Version Symbol Type
Rear clevis CFX
(with pin)
Foot PX
Technical data
Flange EX
Material Stainless Steel AISI 304
Type: CFX o
- H-—w
R
T S
Code ltem |Forcyll] B|E|C|H|L| N |O|R Weight
- *4‘—/ g mm )
c B 040046 |CFX12-16| 16 |5,5| 6 |15|27|25|12,1{24| 7 36
L N
040047 |CFX20-25| 20-25 |6,5| 8 |{20|30(32(16,1{31|10 78
Rear clevis Complete with a pin and 2 seegers in the standard version.
Type: PX A s
e N
T ”—T—B
N~ T T
T 1 N—L Code ltem |Forcyl] A |[B|C|D|G|H|J|R Weight
c G £2) i (9)
D J 040026 | PX12-16 16 |16,1|5,5/32|42|14|20|20|13 40
Foot 040027 | PX20-25 | 20-25 |22,116,6{40 |54 |17 |25|25|20 90
A Code Iltem |Forcyl.| A B C R D S | Weight
L @ mm (9)
B s 040006 | FX12-16 | 16 16 | 55| 40 | 15 6 4 26
Flange 040007 | FX20-25|20-25 | 22 | 6,6 | 50 | 20 8 5 50

5.30.1




H H H H ANV
Mounting Accessories for Stainless Steel Cylinders A‘PI
Mounting for round cylinders "
Standard executions
Version Symbol Type
Rear clevis
(with pin) CFX AQ M
Foot flange PX. AQM
Heads nut GHX. AQM
pins SECX..AQM Technical data
Body: Stainless steel AISI 304
Materials
Bushes: DELRIN
E Rear clevis
H | —— .
b G . o Type: CFX..AQM
{ iz
Ho[— =~z 2 =2 4 H 4 F5
- , L
w G
A -
N
T j [ [
RN \
L B C
A
Kit provided with two pins
Code Item @mm|A| At [A2|A3|B|C|D|E| F |G |Gi|H |[H H2 Hs|Hs[CH| | | L |P|Q
040113 |CFX32AQM| 32 |40| 18 | 6 | 6 |24|20|20|35|381| 4 | 4 [12|10| M8x1 |12[10|13| 7 |8 |12]| 4
040111 |CFX40AQM| 40 |50(21,6| 7 | 7 |30|28|27|40|46,1| 5|5 [15|12| M10x1 |15[12|17| 9 |10|13| 5
040139 |CFX50AQM| 50 |54 (26,4| 9 |85|34|36|30(45|57,1| 6 | 6 |18 |14 | M12x1,5|20|14|19| 9 [10|14| 6
040031 |CFX63AQM| 63 |65(33,5|/13(85(35|42|34|50|70,1| 6 | 6 (20|16 |M14x1,5|23[16|19| 9 |15|16]| 6
N D Foot flange
P .
| \( L Type: PX..AQM
o _ _ L
o
ST & .
" v R
| N ST
\ H
M L
C
E
A
Code Item @mm | A B C D E F G H [ gL |@M|BN| P Q R
040119 | PX32AQM| 32 66 | 49 | 21 4 52 | 14 | 28 | 14 | 28 | 30 7 7 4 2
040120 | PX40AQM | 40 80 | 58 | 30 5 60 | 18 | 30 | 20 | 33 | 38 9 9 10 5 2
040137 | PX50AQM | 50 90 | 70 | 30 6 70 | 20 | 40 | 20 | 40 | 45 9 9 10 6 2
040138 | PX63AQM | 63 96 | 80 | 30 6 76 | 20 | 50 | 20 | 45 | 45 9 9 10 6 2

5.35.1



Mounting Accessories for Stainless Steel Cylinders

Mounting for round cylinders

AN N

API

A\

Heads nut

Type: GHX...AQM

Code Iltem @ mm A B © D E
040069 | GHX32AQM 32 @45 | M30x1,5 40 7 5
040187 | GHX40AQM 40 @50 | M38x1,5 46 8 5
040188 | GHX50/63AQM | 50/63 @ 58 | M45x1,5 52 9 6

Pins
Type: SECX..AQM
D
— |17 - r 467 m
Kit composed by two pins

Code Iltem @ mm A D E F |
040174 | SECX32AQM 32 M8x1 8 14 @10 5
040175| SECX40AQM 40 M10x1 95 | 1656 | @ 12 6
040176 | SECX50AQM 50 M12x1,5 11 20 @14 6
040177 | SECX63AQM 63 M14x1,5 13 28 @ 16 8

5.35.2



Mounting Accessories for Stainless Steel Cylinders
Mountings for ISO 15552

AN N

API

A \\4
Standard executions
Version Sym. Type
Rear clevis CFX. AQ IS
Rear eye CMX..AQIS
Rear 90° hinge
CETOP RP 107P ASVX..AQIS
Pin with rear clevis MP2
with seeger SECX AQIS
Narrow rear clevis CFSX. AQlS
Narrow rear eye with bearing
Narow e CMSX..AQIS
Rear 90° hinge with bearing
Anti-rotating pin for narrow ;
ear clevis SECX. _ARAQ|S Technical data
Flange VDMA FLVX AQIS Material Stainless Steel AISI 304 - 316
Note: The mounting screws are to be ordered separately. (see
Low foot PBX. AQIS page 5.50.1).
Round adjustable centre For the accessories of bore 125-160-200 mm, apply for
trunnion (tie rod) CTX. AQIS availability.
Type: CFX Code Item Forcy | A |[L|D|R|{N|B|S|F|Z|G|M|CM|T/| Weight
g mm (@
. 040012 | CFX032AQIS 32 |325|45(66|11|55[10|30| 5 |22 (10|10 |26 |45
N
oM 040830 | CFX040AQIS 40 38 |55(66(11|55|10 35| 5 | 25| 12|12 |28 |52
@} 040801 | CFX050AQIS 50 [465|65| 9 |15/65(10|40| 5 |27 (12|12 |32 60
: 040014 | CFX063AQIS 63 [565|75| 9 |15/65(12|45| 5 |32 (16|16 |40 |70
”’E 040013 | CFX080AQIS 80 72 |95|11|18|10 |14 | 45| 5 | 36| 16| 16 | 50 | 90
040838 | CFX100AQIS | 100 89 |115| 11 |18 | 10 | 16 |55 | 5 |41 | 20 | 20 | 60 |110
A 040005 | CFX125AQIS | 125 | 110 (140{13,5{20| 10 |20 [ 60 | 7 |50 | 25 | 25 | 70 |130
040797 | CFX160AQIS | 160 | 140 (180| 18 |26 10 | 20 [ 65| 7 | 55| 30 | 25 | 90 |170
Rear clevis MP2 040798 | CFX200AQIS | 200 | 175 (220| 18 |26 11|20 (75| 7 |60 | 30 | 25 | 90 |170
The pin is to be ordered separately: for the pin see page 5.40.2 (SECX..AQIS)
Type: CMX Code Item Forcyl. | A LIDIRIN|G|S|F|C|M|T B Weight
g mm (@)
- c 040805 | CMX032AQIS| 32 |325|45|6,6|11|55|10 30| 5 | 22|10 |10 | 26
: 040806 | CMX040AQIS | 40 38 |55 |66(11|55|10 35| 5 | 25|12 |12 | 28
O T = 040802 | CMX050AQIS | 50 |465|65 | 9 |15(65(10 |40 | 5 |27 | 12 |12 |32 |02
el — 040808 | CMX063AQIS | 63 [565| 75| 9 |15|65| 12 | 45| 5 | 32| 16 | 16 | 40 |-0,6
S @ 040016 | CMX080AQIS | 80 72 | 95|11 (18|10 |14 45| 5 | 36| 16 | 16 | 50
T o 040799 | CMX100AQIS | 100 89 (115|111 |18/ 10| 16 | 55| 5 | 41|20 | 20 | 60
040008 | CMX125AQIS | 125 | 110 |140(135/20| 10|20 |60 | 7 |50 |25 | 25| 70
040800 | CMX160AQIS | 160 | 140 [180| 18 |26| 10|20 | 65| 7 | 55|30 | 25| 90 23
Rear eye MP4 040804 | CMX200AQIS | 200 | 175 [220| 18 |26|11|20| 75| 7 |60 |30 | 25|90 |
Type: ASVX Code Item Forcyl.| Q | M |BG|BH | Bl |BL |{BM|BN|BO|BS|BR[BQ| G | T | S | Weight
BQ G @ mm (@)
_1_ L= 040809 |ASVX032AQIS| 32 (66|11 |18|31|21| 8 |32|38|51|10|20|26|10|1,6|20
o
T B - 2/ 040810 |ASVXO040AQIS| 40 66| 1122 |35|24 10|36 |41 |54|10|22|28|12|16|20
a3
FH J i A 040812 |ASVX050AQS| 50 | 9 | 15|30 (45|33 |12|45|50 65|14 |26 (32|12 |16/ 20
i S
L%J LBEJ o 040813 |ASVX063AQIS| 63 | 9 |15|35|50 |37 |12 |50 |52 |67 |14 |30|40|16 |16/ 20
M BH
@@g;@gg;ﬁmww 040814 |ASVX080AQIS| 80 |11 |18 |40 |60 |47 |14 |63 |66 86|18 |30 |50 |16 |25]|20
FROMABOVE 040815 |ASVX100AQIS| 100 |11 |18 |50 |70 |55|15| 71|76 | 96|20 |36 |60 |20 |25]| 20
Lear 0 minae 040816 |ASVX125AQIS| 125 | 14 20|60 | 90| 70|20 | 90 | 94 |124| 30 | 45 | 70 | 25 |32

5.40.1




Mounting Accessories for Stainless Steel Cylinders

Mountings for ISO 15552

AN N

API

A \\4
Type: SECX Code Iltem For cyl. @ G BT CG CH BU Weight (g)
mm
040829 | SECX032AQIS 32 10 46 9,6 11 53
BY 040831 |SECX040AQIS| 40 12 53 11,5 11 60
040811 | SECX050AQIS 50 12 61 11,5 11 68
OH — @ 040832 | SECX063AQIS 63 16 71 15,2 11 78
- ch 040015 | SECX080AQIS 80 16 91 15,2 11 98
040839 | SECX100AQIS| 100 20 111 19 1,3 118
040818 |SECX125AQIS| 125 25 132 239 13 139
040819 |SECX160AQIS| 160 30 1715 28,6 1,6 178
Pin for rear clevis MP2 040820 |SECX200AQIS| 200 30 1715 28,6 1,6 178
It is supplied with 2 seegers included.
Type: CFSX Code Item Forcyl.| L [ T|CM| A | Z | H| B |DS| S |G |D:|D2|TA|[TZ| LI |Weight
g mm ()
040821 |CFSX032AQIS| 32 |45|34|14(325/ 22| 5 |10|55|30|10|6,6|11| 3 [33|115
040822 |CFSX040AQIS| 40 [55|40(16(38| 25| 5 |10|55|35|12|66|11| 4 (43|12
040823 |CFSX050AQIS| 50 |65 (45(21(465(27 | 5 |10 |65|40 (16| 9 |15|4 |43 14
040824 |CFSX063AQIS| 63 |75 (51(21(565(32 | 5 |12 |65|45|16| 9 |15|4 |43 14
040825 |CFSX080AQIS| 80 [95(65(25| 72|36 | 5 |16 |10 |45 |20|11|18| 4 [43]| 16
Narrow rear clevis for rear 040826 |CFSX100AQIS| 100 [115(75(25(89 |41 | 5 |16 |10 |55|20| 11 |18| 4 (63| 16
male trunnion with bearing
DIN 648 K 040833 |CFSX125AQIS| 125 |140|97|37|110| 50 | 7 (20 | 10 | 60 |30{135(/20| 6 |63 | 24
The pin is to be ordered separately: for the pin see page 5.40.3 (SECX..ARAQIS)
Type: CMSX Code Item Forcy.| A| B |[C|D|EN|ER|F|G|E |L|M|N|P|H/|R|Weight
g mm (g)
040834 |CMSX032AQIS| 32 [32,5/105|22 |10| 14 | 15 |30 |10| 6,6 | 45 |10,5/ 55| 5
040835 |CMSX040AQIS| 40 |38 |12 |25|12| 16 |18 [35]10|66 |55 |11 |55]| 5
040836 |CMSX050AQIS| 50 |46,5| 15|27 (16|21 | 20 |40|10| 9 |65 |15|65| 5|51 |19
040010 |CMSX063AQIS| 63 [56,5| 15 |32 16| 21 | 23 [45]12| 9 |75 |15|65]| 5
040837 |CMSX080AQIS| 80 | 72|18 |36|20| 25 |27 (45|14 |11 95|18 |10 |5
Narrow rear eye for rear 040848 |CMSX100AQIS| 100 |89 | 18 |41|20| 25 |30 (55|16 11 [115]18 |10 |5
male trunnion with bearing
DIN 648 K 040849 |CMSX125AQIS| 125 [110| 26 |50 (30| 37 | 40 {60 |20 |135(140( 20| 10 | 7
Type: ASSX Code Item Forcyl.| Q |M |BG|BH|BI|BL|BM|BN|BO|EN|ER[BQ|D | H |S |F | Weight
N g mm ©
= = 040850 |ASSX032AQIS| 32 |66|11|18(31|21|10(32|38|51 |14 |15(105(10|85 |20 3
4 ’P J 040851 |ASSX040AQIS| 40 |[6,6|11|22(35(24|10(36|41|54 |16 (18| 12 12|85 |20| 3
4° | "]
a_ = - 040852 | ASSX050AQS| 50 9 |15(30|45(33|12|45|50| 65|21 20| 15 |16(105|20| 3
=i . —L— i ‘r—l—{ﬂ 040853 |ASSX063AQIS| 63 9 [15(35|50|37|12|50 (52|67 |21 |23|15|16{105|20| 3
e S |71 | 040854 |ASSX080AQIS| 80 | 11 |18(40 (60|47 14|63 |66 |86 |25 |27| 18 |20{115|20| 3
BH 040855 |ASSX100AQIS| 100 |11 |18|50(70|55|15|71|76|96|25|30| 18 |20|125|20| 3
Rear 90° hinge with bearing
DIN 648 K 040856 |ASSX125AQIS| 125 |13,5/20({60 |90 (70| 20|90 |94 |124|37 |40| 25 30| 17 |20 | 3

5.40.2




Mounting Accessories for Stainless Steel Cylinders

Mountings for ISO 15552

AN N

API

"
Type: SECX - AR Code ltem Forcyl.| A (© D E F G H L B Weight
g mm (@)
B c 040857 |SECX032ARAQIS| 32 3 132511 10 | 96 4 41 | 14 | 45
A 040858 |SECX040ARAQIS| 40 4 38 | 11| 12 | 115| 4 48 | 16 6
- L”H — w @ 040859 [SECX050ARAQIS| 50 4 43 |11 ] 16 | 152 | 5 54 | 20 6 0
$_‘7'3 040860 |SECX063ARAQIS| 63 4 49 1101 | 16 | 152 | 5 60 | 20 6 -1
I . B 040861 |SECX080ARAQIS| 80 4 63 | 1,3 | 20 19 6 75 | 24 6
040862 |SECX100ARAQIS| 100 4 73 113 20 19 6 85 | 24 6
Anti-rotating pin for narrow 0
rear clevis 040863 |SECX125ARAQIS| 125 6 94 | 16 | 30 | 286 | 7 | 110 | 36 9 2
It is supplied with 1 seeger included.
Type: FLVX Code Item Forcy. | A | AP |AO| R | AS| AR | AQ | AT | AV | C | D |Weight(q)
AR AS I
AQ AP D 040864 | FLVX032AQIS 32 325 7 | 30|65 1045 | 32 | 64 | 80 |105
| L 040865 | FLVX040AQIS | 40 38| 9 | 3B |65(10]52 |36 729 |11
© ‘%9( 72’* 040840 | FLVX050AQIS 50 |465] 9 | 40| 9 |12 | 65| 45 | 90 |110| 15 | 55
7 040866 | FLVX063AQIS 63 |565| 9 | 4 | 9 |12 | 75 | 50 |100|120| 15 | 55
< <[] } 2] 2 j%* 040867 | FLVX080AQIS 80 72 112 | 45 | 11 | 16 | 95 | 63 | 126 | 150 | 18 | 8
’ﬂfjt 040868 | FLVX100AQIS | 100 89 | 14 | 55 | 11 | 16 |115| 75 | 150|170 | 18 | 8
[ b !4} T * 040869 | FLVX125AQIS| 125 |110| 16 | 60 |135| 20 | 140 | 90 | 180|205 | 20 | 9,5
A : 040870 | FLVX160AQIS| 160 |140| 18 | 65 | 18 | 20 | 180 | 115 | 230 | 260 | 26 | 10,5
040871 | FLVX200AQIS| 200 |175| 22 | 75 | 18 | 25 | 220 | 135 | 270 | 300 | 26 | 12,5
Flange VDMA MF1/ MF2
Lowered head screws type VBTRX (see page 5.35.1) must be used with this mounting accessory.
Type: PBX Code ltem Forcy. | C |[B[D|E|F |G| H |[I|S|T|R|U]|Z]| Weight
. 0 g mm (9)
z S .| 6 040872 | PBX032AQIS 32 325(32|45(35[30| 7 |1575(24| 4 |32 15|11 | 7
(3 e 040873 | PBX040AQIS 40 38 (36523630 7| 17 |28] 4 |36 175/ 15| 9
A IR I 040874 | PBX0S0AQIS | 50 | 465 (45|65 47|36 | 9 [21,75(32| 5 | 45|20 [ 16| 9
@ ’*G” B 7700 040875 | PBX063AQIS 63 56,550 | 75 |45] 35| 9 |21,75/32| 5 |50 (22518 | 9
¢ I f A 040876 | PBX080AQIS 80 72 | 63|95 55|47 |11 | 27 |41| 6 |63 |225| 17 | 12
h 1. s :J 040877 | PBX100AQIS | 100 89 |75|115|57 |53 |11 |265|41| 6 |71 |275| 24 | 14
E T 040878 | PBX125AQIS | 125 | 110 |90 (140 70| 70 |14 | 35 |45| 8 |90 | 30 16
040879 | PBX160AQIS | 160 | 140 |115/180|75|100| 18 | 45 (60| 9 |115|325 18
Low foot MS1 040880 | PBX200AQIS | 200 | 175 |135|220|100|100 | 18 | 47,5 70| 12 |135|37,5 22
It is supplied singly.
Type: CTX L Code ltem Forcyl. | A | AE | AL | AH |[AG | AF | AN | R | M | Q | Z |Weight(g)
g mm
¢ 040881 | CTX032AQIS 32 |325| 46 | 15 | 12 | 12 | 50 | 37 1 1625| 7 | M5
040882 | CTX040AQIS 40 38 | 59| 20| 16 | 16 | 63 | 46 | 15|625| 8 | M5
|y 040883 | CTX050AQIS 50 [465| 69 | 20 | 16 | 16 | 75 | 56 | 16 |825| 8 | M6
040884 | CTX063AQIS 63 |565| 84 | 25| 20| 20 | 90 | 69 | 16 |825| 12 | M6
o 040885 | CTX080AQIS 80 72 1102 25 | 20 | 20 | 110 | 87 | 1,6 |10,25 12 | M8
) 040550 | CTX100AQIS | 100 89 [ 125| 30 | 25 | 25 | 132 | 107 | 2 |10,25| 15 | M8
e 040886 | CTX125AQIS | 125 | 110|155 | 32 | 25 | 25 | 160 | 134 | 2 |12,25| 15 | M10
Round adjustable centre trunnion 040887 | CTX160AQIS | 160 | 140|190 | 40 | 32 | 32 | 200 | 171 | 2,5 |16,25| 18 | M12
(tie rod) MT4 040888 | CTX200AQIS | 200 | 175|240 | 40 | 32 | 32 | 250 | 214 | 2,5 |16,25| 18 | M12

5.40.3

For this accessories order separately 8 screws. (see page 5.50.1)




Mounting Accessories for Stainless Steel Cylinders
Mounting screw

Type: VTCEIX Type: VBTRX Type: GRAINS

VTCEI - UNI5931 VBTR - DIN6912 GRAINS - UNI5927

FIXING SCREWS FOR CYLINDERS STAINLESS STEEL

@ Code ltem Norm CFX CMX CFSX CMSX FLVX PBX
Cyl.
040787 | VTCEIXM6x18 | UNI5931 u - u u u
32 | 040792 | VBTRXM6x18 | DIN6912 -
040787 | VTCEIXM6x18 | UNI5931 = - = = u
40 | 040792 | VBTRXM6x18 | DIN6912 =
VTCEIXM8x16 | UNI5931 u
50 | 040788 | VTCEIXM8x20 | UNI5931 . - . .
040793 | VBTRXMS8x20 | DIN6912 -
VTCEIXM8x16 | UNI5931 u
63 | 040788 | VTCEIXM8x20 | UNIS931 = . . =
040793 | VBTRXM8x20 | DIN6912 -
040789 | VTCEIXM10x20 | UNI5931 .
g0 | 040794 | VBTRXM10x20 | DIN6912 =
881479 | VTCEIXM10x25 | UNI5931 = u = =
040789 | VTCEIXM10x20 | UNI5931 u
100 | 040794 | VBTRXM10x20 | DING912 -
881479 | VTCEIXM10x25 | UNI5931 = . = =
VTCEIXM12x25 | UNI5931 .
195 | 040705 | VTCEIXM12x30 | UNI5931 u - u u
VBTRXM12x30 | DIN6912 -
040791 | VTCEIXM16x30 | UNI5931 = = = = =
160 | 040796 | VBTRXM16x30 | DIN6912 =
040791 | VTCEIXM16x30 | UNI5931 u - u u u
200 | 040796 | VBTRXM16x30 | DIN6912 "
GRAINS FOR INTERMEDIATE HINGE STAINLESS STEEL
(%) Code Item Norm CTX
Cylinder
32/40 885125 M5x5 UNI5927 .
50/63 885119 M6x10 UNI5927 u
80/100 883534 M8x10 UNI5927 u
125 884990 M10x14 UNI5927 u
160/200 885126 M12x20 UNI5927 =

5.50.1



AN N

API

A \\4

Notes




Valves series AX1

AN N

1/4”, 3/2, IN LINE interface, electrically operated —
Standard executions
Version Symbol Code Iltem
2
12
3/2 NC B T/ | 037004 | AX1E230
3 1
2
23
3/2 NO B T/ | 037009 | Ax1E231
13
12 2 10
3/2 solenoid/solenoid| 78] {[ /N | 037010 | AX1E232
31
3/2 NC 12—
external air pilot m 037011 | AX1K230
- - P New series of “AX” valves with functions 3/2 connections in line on the body,
3/2 solenoid/solenoid m 037012 | AX1Kk232 | electric and electric servo pilot.
external air pilot 5 . . . . .
They are manufactured in AISI 316L stainless steel, especially suitable in the
food, chemical, pharmaceutical, Oil & Gas and mining industry.
AX valves are manufactured according to 2014/34/EU Directive to be used in
potentially explosive environment.
@ Il 2Gc IIB T5
I 2Dc T100°C
Coils and connectors have to be ordered separately:
For the coils type ASA12... see page 2.200.1
For the coils type ASA2... see page 2.200.10
For the coils type ASA34... (only for EG/KG) see page 2.200.30
For connector see what suggested for the coil
@ For the ATEX valves with coils Ex see version
XX-XA-XB-XC-XD from page 5.81.1
Code key
Series Actuation Size Function Option
AX1 = Standard E = electrical @9 2 =1/4Gas 30=23/2NC V = Seals FKM
AXX1* = Completely in K = electrical @9 2N = 1/4 NPT 31=23/2 NO
stainless steel external air pilot 32 = 3/2 solenoid/solenoid
EG** = electrical @13
KG** = electrical @13
external air pilot

*On request ** For actuation EG/KG use coils type ASA34

Technical data

Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Threaded connection 1/4 Gas - 1/4 NPT

Standard Spring return: 2,5 + 10 bar (E - K) Bistable: 1 + 10 bar (E - K)
Pressure range — - -

High pressure | Spring return: 2,5 + 12 bar (EG - KG) Bistable: 1 + 12 bar (EG - KG)

Minimum external air pressure

1,5 bar (K - KG)

Temperature range

-25°C + +70°C (standard)

-10°C + +90°C (V)

Protection grade

@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)

Manual override

Bistable

Response time (at 6 bar)

Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

(1) Body:

Stainless steel AISI 316L

(2) Cover:

Stainless steel AlSI 316L

(3) Spool:

Hard aluminium anodized (AX1 series)
Stainless steel AISI 316 (AXX1 series)

?PLPPPY
ﬂ/

r: . 4

Materials

(4) Distancers:

Ixef 1022 (AX1 series)

Stainless steel AlSI 316 (AXX1 series) - ] Vo

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring:

Stainless steel

(7) Operator:

Stainless steel

5.70.1



H AN
Valves series AX1 API
1/4”, 3/2, IN LINE interface, electrically operated —

i Actuation = K
——mmm G 14 Gl/4
T ——— —Gu8
e SRR
{ o, i | O
el 0t
3 —l_‘ﬁ =l ] —l_ __3_ _—/_:-—c
S R - 496 215 | 21,75
255
—~ n @4.2\
N ——N—=T 19
T = @ @ =
i " o B
j:'] 7777777777 | ‘
| ) @
49,4 22 215
10|
130 ~
- .
8
¢ | —
60,4 325
Version Symbol Code Iltem
2
312 NC BT/ |037004|AX1E230
3 1
2
3/2 NO BT/ | 037009 |AX1E231
13
3/2 NC 12 7
external air pilot MA 037011 |AX1K230
12 .
|Zg[ Actuation = K
e G 14 G 14
|
: P
‘ ) I8
| =4 Te) SJ'
; —l 3 b = :‘I
e e e 496 15 | 496
255 -
— i ®442\
T . —
» e
- I o @
= o ‘ o -
@ r
494 22 49,4 o
190 ™|
Gl4
] _—
D uﬁ 8
60,4 60,4
Version Symbol Code Iltem
2
3/2 solenoid/solenoid| 7] /J& 037010 |AX1E232
31
3/2 solenoid/solenoid | 12718
external air pilot m 037012|AX1K232

5.70.2



AN N

Valves series AX1
v | API

1/4”, 5/2 - 5/3, IN LINE interface, electrically operated

A\

Standard executions

Version Symbol Code Item /NQM\/

14
5/2 solenoid/spring

4

2

037003 | AX1E250

513
14 4.2 12 —
5/2 sol id/sol id 037006 | AX1E251 3
solenoid/solenoi @@ﬁ@ ,-‘aﬂ’ﬁ‘
; ; 112 %"
5/2 solenoid/solenoid 037013 | AX1E252 "y
differential R
14 4 2 12
5/3 closed centres 037014 | AX1E270
—— New series of “AX” valves with functions 5/2, 5/3 connections in line on the body,
5/3 open centres 037015 | AX1E271 electric and electric servo pilot.
513 They are manufactured in AISI 316L stainless steel, especially suitable in the
] N T TG food, chemical, pharmaceutical, Oil & Gas and mining industry.
5/3 pressurised centres 037016 | AX1E272 . o )
513 AX valves are manufactured according to 2014/34/EU Directive to be used in

4

513

2 potentially explosive environment.

4 2

5/2 solenoid/solenoid 4 2
external air pilot m 037018 | AX1K251|  Coils and connectors have to be ordered separately:
513

5/2 solenoid/spring i
external air pilot @mm 037017 AX1K250 @ 11 2Gc 1IB TS

11 2Dc T100°C

5/3 closed centres 1442 12 For the coils type ASA12... see page 2.200.1
e m 037019 | AX1K270 | For the coils type ASA2... see page 2.200.10
P 513 For the coils type ASA34... (only for EG/KG) see page 2.200.30
14 4 2 12 .
5/3 open gen_tres, 037020 | AX1K271 For connector see what suggested for the coil
external air pilot X
i T For the ATEX valves with coils Ex see version
e oentes 037021 | AX1K272 @ XX-XA-XB-XC-XD f 5.81.1
external air pilot L5 rom page >5.cl.
Code key
Series Actuation Size Function Option
AX1 = Standard E = electrical @9 2 =1/4Gas 50 = 5/2 solenoid/spring V = Seals FKM
AXX1* = Completely in K = electrical @9 2N = 1/4 NPT 51 = 5/2 solenoid/solenoid
stainless steel external air pilot 52 = 5/2 solenoid/solenoid
EG** = electrical @13 differential
KG** = electrical @13 70=5/3CC
external air pilot 71=5/30C
72 =5/3 PC
*On request ** For actuation EG/KG use coils type ASA34

Technical data

Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Threaded connection 1/4 Gas - 1/4 NPT

Standard Spring return: 2,5 + 10 bar (E) Bistable: 1 + 10 bar (E) 3 positions: 2.5 + 10 bar (E)
Pressure range — - - —

High pressure | Spring return: 2,5 + 12 bar (EG) Bistable: 1 + 12 bar (EG) 3 positions: 2.5 + 12 bar (EG)

Minimum external air pressure

1,5 bar (K - KG)

Temperature range

-25°C + +70°C (standard)
-10°C + +90°C (V)

Protection grade

@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)

Manual override

Bistable

Response time (at 6 bar)

Energising: - ms Energising: - ms Energising: - ms

De-energising: - ms De-energising: - ms De-energising: - ms

(1) Body:

Stainless steel AISI 316L

(2) Cover:

Stainless steel AISI 316L

(3) Spool:

Hard aluminium anodized (AX1 series)
Stainless steel AISI 316 (AXX1 series)

Materials

(4) Distancers:

Ixef 1022 (AX1 series)
Stainless steel AISI 316 (AXX1 series) —

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring:

Stainless steel

(7) Operator:

Stainless steel

5.73.1



Valves series AX1 A“Ei
1/4”, 5/2 - 5/3, IN LINE interface, electrically operated

A \\4
1 Actuation = K
I%[fffﬁffﬂ G 1/4 G1/4 G 1/4
! ——i } )
1| | @@3
Y — 7. W |
I T + < t
| o N Y R
!
e i 49,25 22,75 22,75 21,25
255
4.2
—T—T—% °’
‘l 38
| ‘ ‘
| L) o
[=2]
61 22 33
150
G114
e
| 8
61 22 33
Version Symbol Code Item
42
5/2 solenoid/spring | BI\][[/]v 037003 |AX1E250
513
5/2 solenoid/spring | v
external air pilot @K@W 037017]AX1K250
12 A . K
‘%[ _Actuation = K \ G4 G 14 G4
: |— G18 _ 3 I_
I =] + . B
1 & HE A Ta
i —l 1 = —l 1 - =
e Ea il nliy 49,25 22,75 22,75 J_ 49,25
255 -
. @42
g I Ty
R % | ([
o & i
@ O——F—F——
& o)
61 22 61
220
G4 G4
] ¥ z| L
il Q] ) —+—Fe
61 22 61
Version Symbol Code Iltem
1 4 2
5/2 solenoid/solenoid | T3 I /J& 037006 |AX1E251
513
. . 4 2
5{2 solep0|d/solen0|d 14 12 037013 | AX1E252
differential 315
5/2 solenoid/solenoid | v 7Hz
external air pilot @@@ 037018 | AX1K251

5.73.2



H L\
Valves series AX1 API
1/4”, 5/2 - 5/3, IN LINE interface, electrically operated —

12,
I%[ Actuation = K
i | G1l/4 Gl4 ﬁGlM
‘ | —G18 ‘ ‘ 0
j M ='| ° 3
j | - T
1 19 (SRS A ]
! ) i i
I - 66,25 J_ 22,75 22,75 J_ 49,25
255 - o
n 342 .
N Il H —
L — o — S R
j}“ﬂ ***** I\ i
{3 F7 N R e R
& =
78 22 61
237
Gl4 Gl/4
= ¥ 4
-~ qD | 3
= —l I I
78 # 22 # 61
Version Symbol Code Iltem Version Symbol Code Iltem
7R M 5/3 closed centres, | JreriTm
5/3 closed centres 037014 |AX1E270 external air pilot zﬁﬁﬂﬁﬂ‘&i@ 037019 |AX1K270
14 42 12 14 4 2 12
5/3 open centres 037015 |AX1E271| |2/ Open centres, 037020 |AX1K271
pe) external air pilot 513
14 4 2 12 ; 14 4 2 12
5/3 pressurised centres 037016 |AX1E272| | P/3 Pressuised centres 037021 | AX1K272
515 external air pilot 515

5.73.3



AN N

API

A \\4

Notes




Valves series AX1

1/4”, 3/2, IN LINE interface, pneumatically operated

AN N

API

A\

Standard executions
Version Symbol Code Item Ne ‘ A /
12 2
312 NC o [I/w | 037002 | Ax1P230
3 1 -
2
23 e
312 NO o /i | 037022 | Ax1P231 S
13 5 3 &
) ) 12 210 5% q & ,ﬂﬁ“i
3/2 pilot/pilot o /K | 037023 | Ax1P232 ) Eal I
31 F‘\\ A/sj,w -
) S
New series of “AX” valves with functions 3/2 connections in line on the body and
pneumatic pilot.
They are manufactured in AISI 316L stainless steel, especially suitable in the
food, chemical, pharmaceutical, Oil & Gas and mining industry.
AX valves are manufactured according to 2014/34/EU Directive to be used in
potentially explosive environment.
@ Il 2Gc IIB T5
11 2Dc T100°C
Code key
Series Actuation Size Function Option
AX1 = Standard P = pneumatic 2 =1/4 Gas 30=23/2NC V = Seals FKM
AXX1* = Completely in 2N= 1/4 NPT 31=23/2NO

stainless steel

32 = 3/2 pilot/pilot

*On request

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection 1/4 Gas - 1/4 NPT

Pressure range

Spring return: 2,5 + 12 bar

Bistable: 1 + 12 bar

T It
emperature range -10°C + +90°C (V)

-25°C + +70°C (standard)

Protection grade -

@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)

Energising: - ms

Energising: - ms

Response time (at 6 bar)
De-energising: - ms

De-energising: - ms

Materials

AN A

(1) Body: Stainless steel AISI 316L
(2) Cover: Stainless steel AISI 316L
(3) Spool: Hard aluminium anodized (AX1 series)

Stainless steel AISI 316 (AXX1 series)

(4) Distancers:

Ixef 1022 (AX1 series) _ _
Stainless steel AISI 316 (AXX1 series)

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring:

N

v

HIH

=

Stainless steel

5.76.1



AN N

Valves series AX1
v | API

1/4”, 3/2, IN LINE interface, pneumatically operated —

G1/4 G 14
G 1/8\ | /H/ I—
H-— ksl
i &1y
i,
51,75 21,5 21,75
242~

32
52

515 22 215

75

—
15
30

62,5 32,5
Version Symbol Code Item
2
3/2 NC ST/ | 037002 |AX1P230
3 1
2
3/2 NO SI/ M |037022|Ax1P231
1 3
G1/4 FG 1/4

185

TR
A L

51,75 ‘ 215 ‘ 51,75

4.2—\
J ] ) 10|
© :
o
(('v\l’ o)
51,5 22 51,5
0|
~
125
G1/4
4 o
8
] 4 .
62,5 L 62,5
Version Symbol Code Item
2
3/2 pilot/pilot B /K |037023|AX1P232
31

5.76.2



Valves series AX1

1/4”, 5/2 - 5/3, IN LINE interface, pneumatically operated

AN N

API

A\

Standard executions
Version Symbol Code Iltem N ‘A,
T2 e
5/2 pilot/spring 037001 | AX1P250
513 HE
) ) T2 =
5/2 pilot/pilot 037024 | AX1P251 @ =S~
513 I
5/2 pilot/pilot w2 = P ;
i ial 037025 | AX1P252 APl
ifferential Lz 4«1%0 :
1442 12 5;3‘5: 5]
5/3 closed centres 037026 | AX1P270 9
513
14 4 2 12
5/3 open centres 037027 | AX1P271
513
14 4 2 12
5/3 pressurised centres 037028 | AX1P272 . ) . o
513 New series of “AX” valves with functions 5/2 - 5/3 connections in line on the body
and pneumatic pilot.
They are manufactured in AISI 316L stainless steel, especially suitable in the
food, chemical, pharmaceutical, Oil & Gas and mining industry.
AX valves are manufactured according to 2014/34/EU Directive to be used in
potentially explosive environment.
@ Il 2Gc IIB T5
11 2Dc T100°C
Code key
Series Actuation Size Function Option
AX1 = Standard P = pneumatic 2 =1/4 Gas 50 = 5/2 pilot/spring V = Seals FKM
AXX1* = Completely in 2N=1/4 NPT 51 = 5/2 pilot/pilot

stainless steel

52 = 5/2 pilot/pilot
70=5/3 CC
71=5/30C
72 =5/3 PC

*On request

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection

1/4 Gas - 1/4 NPT

Pressure range

Spring return: 2,5 + 12 bar Bistable: 1 + 12 bar

3 positions: 2.5 + 12 bar

Temperature range

-25°C + +70°C (standard)
-10°C + +90°C (V)

Protection grade

@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)

Response time (at 6 bar)

Energising: - ms Energising: - ms

Energising: - ms

De-energising: - ms De-energising: - ms

De-energising: - ms

(1) Body:

Stainless steel AISI 316L

(2) Cover:

Stainless steel AISI 316L

(3) Spool:

Hard aluminium anodized (AX1 series)
Stainless steel AISI 316 (AXX1 series)

Materials

(4) Distancers:

Ixef 1022 (AX1 series)

Stainless steel AISI 316 (AXX1 series)

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring:

Stainless steel

5.79.1



Valves series AX1

1/4”, 5/2 - 5/3, IN LINE interface, pneumatically operated

AN N

API

A\

G UBK

G 1/4 G1/4 G14
( \ L 3 R L
49,25 22,75 2275 21,25
4.2
— J — @ @
—_— | !
‘I 3 8
|
|
M-

61 22 33
116
G 14 G114
— ¥ z| Y e
I : g
|
|_| J— —
61 22 33
Version Symbol Code Item
42
5/2 pilot/spring S/ | 037001 |AX1P250
513
G 1/4—\ G 1/4—\ G1/4
GlIS\ S (r™ 3 i
DL m
_l NS i 9 =
49,25 22,75 22,75 49,25
4.2
_rJ @ W o
< o
™) n
© O
61 22 61
144
G1/4 G1/4
14 4 4 =
, I o
| ™
61 2 [ 61
Version Symbol Code Item
42
5/2 pilot/pilot BT 037024 |Ax1P251
513
5/2 pilot/pilot T
ffarenti E[Xﬂgg]z 037025|AX1P252

5.79.2



Valves series AX1

1/4”, 5/2 - 5/3, IN LINE interface, pneumatically operated

AN N

API

A\

G 14 G 14 —G14
G 1/8\ (T 3 |—
oL :
NS 1 9 g
66,25 22,75 22,75 49,25
@42
I @ )
3
9 0 :
78 L 22 L 61
161
Gua— /—G 14
14 4 L 4
- + + I 51
78 22 61
Version Symbol Code Iltem
14 4 2 12
5/3 closed centres ; 037026 |AX1P270
513
14 4 2 12
5/3 open centres 037027 |AX1P271
513
14 4 2 12
5/3 pressurised centres bt 037028 |AX1P272

5.79.3



AN N

API

A \\4

Notes




Valves series AX1

1/4”, 3/2 - 5/2, NAMUR interface, electrically operated

AN N

API

A\

Completely in
stainless steel

Standard executions
Version Symbol Code Iltem
14—
32 NC B\ ][ |037029 | AXINE230
1
. . 14 4Ty
3/2 solenoid/solenoid 037030 |AX1INE232
51
14 4 2
5/2 solenoid/spring 037008 |AX1INE250
513
. . 14 42 12
5/2 solenoid/solenoid [Z]ZM 037031 |AXINE251
513
New series of “AX” valves with functions 3/2 - 5/2 connections NAMUR on the
body, electric pilot.
They are manufactured in AISI 316L stainless steel, especially suitable in the
food, chemical, pharmaceutical, Oil & Gas and mining industry.
AX valves are manufactured according to 2014/34/EU Directive to be used in
potentially explosive environment.
@ I 2Gc IIB T5
I 2Dc T100°C
Coils and connectors have to be ordered separately:
For the coils type ASA12... see page 2.200.1
For the coils type ASA2... see page 2.200.10
For the coils type ASA34... (only for EG/KG) see page 2.200.30
For connector see what suggested for the coil
@ For the ATEX valves with coils Ex see version
XX-XA-XB-XC-XD from page 5.81.1
Code key
Series Actuation Size Function Option
AXIN = NAMUR E = electrical @9 2 =1/4 Gas 30=3/2NC V = Seals FKM
AXX1IN* = NAMUR EG** = electrical @13 2N= 1/4 NPT 32 = 3/2 solenoid/solenoid

50 = 5/2 solenoid/spring
51 = 5/2 solenoid/solenoid

*On request

** For actuation EG use coils type ASA34

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection

1/4 Gas - 1/4 NPT

Standard

Spring return: 2,5 =+ 10 bar (E)

Bistable: 1 + 10 bar (E)

Pressure range

High pressure

Spring return: 2,5 + 12 bar (EG)

Bistable: 1 + 12 bar (EG)

Minimum external air pressure

1,5 bar (K - KG)

Temperature range

-25°C + +70°C (standard)
-10°C + +90°C (V)

Protection grade

@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)

Manual override

Bistable

Response time (at 6 bar)

Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

(1) Body:

Stainless steel AISI 316L

(2) Cover:

Stainless steel AISI 316L

(3) Spool:

Hard aluminium anodized (AX1 series)
Stainless steel AISI 316 (AXX1 series)

Materials

(4) Distancers:

Ixef 1022 (AX1 series)

Stainless steel AISI 316 (AXX1 series)

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring:

Stainless steel

(7) Operator:

Stainless steel

5.80.1



Valves series AX1 A“Ei
1/47, 3/2 - 5/2, NAMUR interface, electrically operated

A\

;

_|
i
&
60
G1l/4
- ]
= —l 3
49,25 22,75 22,75 21,25

Functions 3/2 84 32

_T
|I @ - Version Symbol | Code Item
1411
- o 3/2NC 037029 |AX1NE230
L A= O ij}“
|

14
5/2 solenoid/spring |21 ][] /| 037008 |Ax1NE250
513

i
Q] @ Dj
_l =
] &
U b— 1T U |3
’ 60 60
G U4
= |— =
- TI=
" ——
Functions 3/2 A9.25 4925
84 - 60
5 .
o Q Symbol | Cod
= = [Version ymbo ode Iltem
Ell @ @ D; 3/2 solenoid/solenoid dﬂ;ﬂﬂi& 037030 | AX1INE232

h 2
LJ H . ‘ [}— i LJ 5/2 solenoid/solenoid jﬁEﬂjﬁ 037031 |AX1INE251

5.80.2



Valves series AX1 - Non-sparking coil Ex nA A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE and NAMUR interface, electrically operated Ex nA "
Standard executions

Version Symbol Code % \é

312 NC B/ %

3/2 NO RINAL

3/2 solenoid/solenoid

5/2 solenoid/spring

New series of “AX” valves with functions 3/2 - 5/2 - 5/3 connection in line

o18 on the body or NAMUR. Electric and electric servo pilot.
A2 For code key h f di inl | iall itable i
5/2 solenoid/solenoid see the table They are manu_ actured in AISI 316L s_taln ess steel, ‘e‘spe_ma y suitable in
513 below the food, chemical, pharmaceutical, Oil & Gas and mining industry.
5/2 solenoid/solenoid TR P AX valves are manufactured according to 2014/34/EU Directive to be used
differential e in potentially explosive environment.
Y EEERT Solenoid operator with a special coil for pneumatic application in potentially
5/3 closed centres explosive environment (group II).
513
W42 1 Solenoid system is conforming to 2014/34/EU Directive, certified:
5/3 open centres
— I 3G Ex nA IIC T5 G X
5/3 pressurised centres I 3D Ex tc IIIC T95°C Dc X IP65
2 Connectors have to be ordered separately:
For connector type A12209N/ATEX see page 2.210.50
Code key
Series Actuation Size Function Hazardous areas Voltages
AX1 = Standard E = electrical @9 2 =1/4Gas |30=3/2NC XX =113G ExnA IIC T5 Gc X B =12VDC F= 24VAC*
AXX1* = Completely in | K = electrical @9 2N = 1/4 NPT |31 = 3/2 NO 113D Ex tc IIIC T95°C Dc X IP65 | C =24 VDC * || =110 VAC *
stainless steel external air pilot 32 = 3/2 solenoid/solenoid O=220 VAC *

AXIN = NAMUR

AXX1IN* = NAMUR
Completely in
stainless steel

* On reugest

50 = 5/2 solenoid/spring

51 = 5/2 solenoid/solenoid

52 = 5/2 solenoid/solenoid
differential

70 =5/3 CC

71 =5/3 0C

72 =5/3 PC

* = Standard voltages

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection

1/4 Gas - 1/4 NPT

Pressure range

Spring return: 2,5 + 10 bar

Bistable: 1 + 10 bar

3 positions: 2.5 + 10 bar

Temperature range -15°C + +50°C
Protection grade -
@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)
Manual override Bistable
Nominal voltage |12 VDC 24 VDC 24 VAC 110 VAC 220 VAC
Frequency - - 50/ 60 Hz 50/ 60 Hz 50 /60 Hz
Electrical Nominal current | 0.250 A 0.120 A 0.208 A 0.045 A -0.023 A
characteristic
Nominal power 3w 3W 5VA 5VA 5VA
Duty cycle 100% ED
Temp. class T5

Response time (at 6 bar)

Energising: - ms

Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

De-energising: - ms

(1) Body: Stainless steel AISI 316L
(2) Cover: Stainless steel AISI 316L
(3) Spool: Hard anodized aluminium (AX series)

Stainless steel AISI 316 (AXX series)

Materials (4) Distancers:

Ixef 1022 (AX series)

Stainless steel AISI 316 (AXX series)

(5) Seals: Hydrogenate Nitrile Butadine Rubber (HNBR)
(6) Spring Stainless steel

(7) Operator: Stainless steel

(8) Coil: Thermoset resin

5.81.1




: : : A
Valves series AX1 - Non sparking coil Ex nA API
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex nA "
12,
I%[ ‘ Actuation = K : e G1/4—\ /—GIi.IA
i — - 'y
1l f . D
[y - ) T 0| £
- = = i 3\ 9 7
i i - 496 215 | 2175
255
ﬂ || J ®4A2\
o ) 0
T = ©
494 22 215 o
130 ~|
Gl/4
_ U
8 Il o i (]D| %ﬁ 3
ful e .
=1 —l 4
30 60,4 325
Version Symbol | Code Iltem
2
3/2 NC i PAL AX1E230XX*
31
2
3/2 NO B/ AX1E231XX*
1 3
3/2 NC to— 7
external air pilot ‘ngm AXIKZ30XXZ
* For coil voltage: see code key at page 5.81.1
12
@[ Actuation = K
[t bt G U4 G4
b | —G1/8 |_
| — . =1
v [ @ 1 5
! N/ | - A+ - = )
0| = = [Te) ©
RELITL 0 3 I ke
[ B 496 215 496
255
4.2
N i
QI - \ N— I O -
B= =
& - - o b
494 2‘2 494 o
190 ™|
G4
— >f w I— =
8 | ot [ @] C) g [@]1e_|ds
=| —l ] FA =
30 60,4 60,4 30
Version Symbol | Code Iltem
2
312 solenoid/solenoid | 6] [ /1 AX1E232XX*
31
3/2 solenoid/solenoid | 12— .
external air pilot [Zgjj_—ﬂazﬁ]? AXIK232XXE

* For coil voltage: see code key at page 5.81.1

5.81.2



Valves series AX1 - Non sparking coil Ex nA A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex nA

L\
12 .
I%[ ,A,CtEaE'OP :K, \ G 1/4 G1/4 G1/4
b ——— —G1B X )
| . = T 3 T I_
‘ Y = | )T T T
| M : © = & P: ‘_/ | vl I
4 0= 11— —
I R 49,25 22,75 22,75 2125
255
@42
Al ST
— &
o |
S ‘n R
I e\
N
(=]
61 22 33
150
G 14 Gl4
= = ¥ z| Y=
ol ol | (@) 8
= — I—l _
30 61 22 33
Version Symbol | Code Iltem
4 2
14
5/2 solenoid/spring | 701 [[] [ AXIE250XX*
513
* For coil voltage: see code key at page 5.81.1
12 )
Actuation = K
oo G1/4 G1/4 —G14

5@3 4
C : ,,@ _

49,25 22,75 22,75 49,25

[IBYINE]
15

<
\W3

185

4.2

34
52

285
||

61 22 61
220
G 14 G 14
= — 4 z L| — A *®
8 e GD| D+t 43
30 61 J‘F 22 L 61 30
Version Symbol | Code Iltem
1 42 12
5/2 solenoid/solenoid | Z5] ][] /1 AXLE251XX*
513
i 1 14 42 12
5(2 solep0|d/solen0|d AXLE252XX*
differential R

* For coil voltage: see code key at page 5.81.1

5.81.3



AN N

Valves series AX1 - Non sparking coil Ex nA API
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex nA

A \\4
12
@[ Actuation = K
JERooupspst G4 —G14
= 3 J =
= + T =
. TN
- = - wn
N e
66.25 275 | 2275 4925
@42
Al 5 N— I O
&
. = =
g | I
,Q}, TN
I\ "
78 22 61
237
G4 G U4
= . z| Y R
il AR Ot o=
=|| = == |[_]
] j j
30 78 L2 | 61 30
Version Symbol | Code Iltem Version Symbol | Code Item
TR 5/3 closed centres, | it
* ' *
5/3 closed centres Eﬁﬂﬂ;@% AX1E270XX* external air pilot éﬁﬂ%}ﬂ;ﬁgm AXIK270XX*
A wasmatm s 5/3 open centres, | e
* ! *
5/3 open centres M@% AX1E271XX* oxternal air pilot %ﬁﬂ% AXIK271XX*
i 14 4 2 12 5/3 nsw es 14 4 2 12
* *
5/3 pressurised centres Mﬂ% AXLIE272XX* extepmessual air pilceot t ] AXLIK272XX*
* For coil voltage: see code key at page 5.81.1

5.81.4



Valves series AX1 - Non sparking coil Ex nA
1/4”, 3/2 - 5/2, NAMUR interface, electrically operated Ex nA

AN N

API

Y
s M5
ITI ; H of
=] ? ) Z I_ ®
- i
42 24 32
] 3
- 66 .
Ol i | i
60 12 | 12 32
150
J
GlUA— G4 G4
= 5 3 ]
| § DG
30 49,25 22,75 2275 | 2125
Functions 3/2 # -
‘{J 7©7
E Version Symbol | Code Iltem
— 4
= — o b 3/2 NC AR AXINE230XX*
1
U] J SRS a1
5/2 solenoid/spring AXINE250XX*
513
* For coil voltage: see code key at page 5.81.1
=1 I 4 I_ =
1 To 1 [@] @ U [© | 1ok
= 1 =
60 24 60
un
il & S
N - =
| - g
Ul i | O] [] |
60 12 \ 12 60 !
L 220
G4 Gua— G4
: Fa PN
Ny E ) & = T
= N> &_/ = 9 9
il
30 49,25 22,75 22,75 49,25 30
Functions 3/2 84 . 60
\
: o
=l =3
E Version Symbol | Code Item
4
= P @ {f} I=3 | 3/2 solenoid/solenoid 5| t4 AXINE232XX*
—_— ~ - - ‘ 51
L—] A R a2
g ‘ J ‘ g 5/2 solenoid/solenoid| 75 ][] f10 AXINE251XX*
513

* For coil voltage: see code key at page 5.81.1

5.81.5



AN N

API

A \\4

Notes




Valves series AX1 - Intrinsic safety Ex ia
1/4”, 3/2 - 5/2 - 5/3, IN LINE and NAMUR interface, electrically operated Ex ia

AN N

A\

Standard executions

Version Symbol Code
2
312 NC T/
3 1
2
32 NO i yAY

3/2 solenoid/solenoid

5/2 solenoid/spring

New series of “AX” valves with functions 3/2 - 5/2 - 5/3 connection in line on
the body or NAMUR. Electric and electric servo pilot.
They are manufactured in AISI 316L stainless steel, especially suitable in

513
2 For code key the food, chemical, pharmaceutical, Oil & gas and mining industry.
5/2 solenoid/solenoid see the table AX valves are manufactured according to 2014/34/EU Directive to be used
_ _ — below in potentially explosive environment.

5/2 solenoid/solenoid 03 % Conforming to 2014/34/EU Directive, certified:
differential 513

[ e Il 2G Ex ia lIC T6 Gb
5/3 closed centres o Il 2D Ex tb 11IC T80°C Db X IP65

14 4 2 12
5/3 open centres @ Il 2G Ex ia lIC T4 Gb

” j‘; = I 2D Ex tb 1lIC T80°C Db X IP65
5/3 pressurised centres =5 Connectors have to be ordered separately:

For connector type A18209N/ATEX see page 2.210.50

Code key
Series Actuation Size Function Hazardous areas Voltages
AX1 = Standard E = electrical @9 2 =1/4Gas [30=3/2NC XA =112G ExiallC T6 Gb C=24VDC
AXX1* = Completely in K = electrical @9 2N=1/4 NPT |31 = 3/2 NO 112D Ex tb IIC T80°C Db X IP65

stainless steel

AXIN = NAMUR
AXX1IN* = NAMUR
Completely in

stainless steel

* On reugest

external air pilot

32 = 3/2 solenoid/solenoid
50 = 5/2 solenoid/spring
51 = 5/2 solenoid/solenoid
52 = 5/2 solenoid/solenoid
differential

70 =5/3 CC

71=5/30C

72 =5/3 PC

XAl =112G Exia lIC T4 Gb
11 2D Ex tb llIC T80°C Db X IP65

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection

1/4 Gas - 1/4 NPT

Pressure range

Spring return: 2,5 + 8 bar

Bistable: 1 + 8 bar

3 positions: 2,5 + 8 bar

Minimum external air pressure | 2 bar
Temperature range -25°C + +50°C
Protection grade -
@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)
Manual override Bistable
Nominal voltage | 21.6 + 28 VDC 21.6 +28 VDC
Max voltage 28 VDC 28 VDC
Electrical | Nominal current | 0.115 A (at 28 VDC) 0.115 A (at 28 VDC)
characteristic
Nominal power 1.6 W (at 28 VDC) 1.6 W (at 28 VDC)
Duty cycle 100% ED 100% ED
Temp. class T6 T4

Response time (at 6 bar)

Energising: - ms

Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

De-energising: - ms

(1) Body:

Stainless steel AISI 316L

(2) Cover:

Stainless steel AISI 316L

(3) Spool:

Hard aluminium anodized (AX series)
Stainless steel AISI 316 (AXX series)

Materials

(4) Distancers:

Ixef 1022 (AX series)
Stainless steel AISI 316 (AXX series)

(5) Seals:

Hydrogenate Nitrile Butadine Rubber (HNBR)

T,

(6) Spring

Stainless steel

(7) Operator:

Brass

(8) Coil:

Thermoset resin

5.82.1



Valves series AX1 - Intrinsic safety Ex ia
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex ia

AN N

API

A\

Actuation = K

L ,,,,,,,,,,,, | Gl/4—\ /—(31/4
: i G1/8
T 1 0
| |H‘%f - o L
| ey E s
=" } i = G
l'7'7'£5';'7'7 - 49,6 215 21,75
l‘ 4.2
[ e ‘ ;
N o1
= % n
494 22 215
n
130 ™~
Gl4
=] ™= I— o]
g Il o Q| %% 8
- .
= = —l rA
30 60,4 325
Version Symbol Code Item
2
3/2 NC i PAL AX1E230XAC
31
2
3/2 NO B/ AX1E231XAC
1 3
3/2 NC 12—
external air pilot ‘ngm AXIKZ30XAC
* For coil voltage: see code key at page 5.82.1
12
I%[ Actuation = K
R G1/4 G4
] /
T e @ 1 -
| Nl - B =
! N E e+ H = 0
| 0| = =4 [Te) @
L0 = i 3 +/ = 31 =
[
in e e T~ 496 215 496
[N oa2- Nl
1 K | S— 3
| s © =
N = = o
- - % n
494 22 494
Lo
190 ™
G1/4
i — TT0 -
g k|l o (]D| %ﬁ g |C|D o |8
- k% (3] - ™
= =1 —l T =1 =
30 60,4 60,4 30
Version Symbol Code Item
2
3/2 solenoid/solenoid iﬁm& AX1E232XAC
31
3/2 solenoid/solenoid| 12— 714
external air pilot [Zgjj_‘ﬂazﬁ]@ AXIKZ32XAC

* For coil voltage: see code key at page 5.82.1

5.82.2




Valves series AX1 - Intrinsic safety Ex ia A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex ia

L "\
12 )
%I: _ Actuation = K , G4 G1/4 G4
| M - ; 34| U
NI T - @@@&j 4
I —| 9 = —| NS 4 il I
[
e it 49,25 22,75 22,75 21,25
255
[ 042
_.—J —_ < o
—_— NZ
s |
- ! 3 B
I )
(=2
61 22 33
150
G 14 G4
B~ = 14 z| Y 4
g 1o |OI - 8
=1 — '—l _
30 61 22 33
Version Symbol Code Item
1T
5/2 solenoid/spring | 701 []] [ AX1E250XAC
513
* For coil voltage: see code key at page 5.82.1
12
%[ Actuation = K
B G G114 —G14
f —— —Gus I_
= 3 =
i | nd — ) M N =
| gk Z8\SP) Ep
= = 4 =1 < —
; il il a =
I it n 49,25 22,75 22,75 J_ 49,25
255
l‘ H @42 [’_‘I l‘
] [=2]
- ® —
s A 3
' 0SS
{} >
& -
61 22 61
220
G4 G4
g k|l o 0| D) D o j 8
= =0 —l =1 =
30 61 22 61 30
Version Symbol Code Item
1 42 12
5/2 solenoid/solenoid | 26\ [[] /1K1 AXIE251XAC
513
i 1 14; 42 12
5(2 solen0|d/solen0|d AXLE252XAC
differential s
* For coil voltage: see code key at page 5.82.1

5.82.3



AN N

Valves series AX1 - Intrinsic safety Ex ia API
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex ia

A \\4
12
@[ Actuation = K
R tupeL A G4 G4
_
i _ : 1] _
| il + 3 i I
w - OVYg s
:_ = —l 7 ‘ = ]
i Bl n 66.25 275 | 2275 4925
255
“ ﬂ @42 ['_‘] ﬂ
_rJ k“ | — o
N\
Q = =
- o I
,63 TN
N\ 2
78 2 | 61
237
G4 G4
= L v z i el =
8 [ o [O] Dot =
= = —l T ] = =
30 78 L2 [ 61 30
Version Symbol Code Iltem Version Symbol Code Item
TR 5/3 closed centres, | it
5/3 closed centres Eﬁﬂﬂ;@% AX1E270XAC external air pilot éﬁﬂ%}ﬂ;ﬁgm AX1K270XAC
A wasmatm s 5/3 open centres, | e
5/3 open centres M@% AXIE2TIXAC| |20 i pilot %ﬁﬂ% AX1K271XAC
i 14 4 2 12 5/3 M es 14 4 2 12
5/3 pressurised centres Mﬂ% AX1E272XAC extepmessual air pilceot t ] AXLK272XAC
* For coil voltage: see code key at page 5.82.1

5.82.4



; ; ; ; A
Valves series AX1 - Intrinsic safety Ex ia APi
1/4”, 3/2 - 5/2, NAMUR interface, electrically operated Ex ia "
253 *HL
m L B
e @ TO0
=l =0 —l
42 24 32
i - 5
@7 oG}
E B g %
g -
= . ‘
— 06 .
II U 60 12 12 32
150
GlaA—  G14 G4
5 3| U
; OQT
1 N3 7 i g 2
49,25 22,75 22,75 21,25
84 L 32
Functions 3/2 um
E @ - @ —I Version Symbol | Code Iltem
- — > AR
f— O | 3/2 NC i AXINE230XAC
' ' ‘ |_ 1 72
II U 5/2 solenoid/spring AXINE250XAC
513
* For coil voltage: see code key at page 5.82.1
@ 53 M5
m | E i <
= = ¥ “ z I_ ]
A1 e | @ O ol j
= =1 —l o=
60 24 60
T wn
i & Y
= E— |
g £ ‘ -
00— 4
— | [— -
|| U 60 12 ‘ 12 60 U II
220
G4 Gua— G4
- 5 3 4 =
= NS =/ = 9 %
1
30 49,25 22,75 22,75 49,25 30
Functions 3/2 84 - 60
T
- °
: @ o ]3 Version Symbol | Code Iltem
= = 4
= — b =! |3/2 solenoidisolenoid (25, [} ,1¢ AXINE232XAC
- . - 51
= T f | |_J— 72
II i ] II 5/2 solenoid/solenoid 75} ][] f10 AXINE251XAC
513
* For coil voltage: see code key at page 5.82.1

5.82.5



AN N

API

A \\4

Notes




Valves series AX1 - Encapsulated coil Ex dm
1/4”, 3/2 - 5/2 - 5/3, IN LINE and NAMUR interface, electrically operated Ex dm

Standard executions

Version Symbol Code
2
3/2 NC Bl [/
3 1
2
3/2 NO iR yAY

1.3
2

12, 10

31
42

3/2 solenoid/solenoid

14,

5/2 solenoid/spring

513
TR For code key New series of “AX” valves with functions 3/2 - 5/2 - 5/3 connection in line on
5/2 solenoid/solenoid ; ) )
513 seebtglt(e)\;?ble the body or NAMUR. Electric and electric servo pilot.
5/2 solenoid/solenoid sarerT e They are manufactured in AISI 316L stainless steel, especially suitable in
differential 513 the food, chemical, pharmaceutical, Oil & Gas and mining industry.
13 closed Moot a AX valves are manufactured according to 2014/34/EU Directive to be used
5/3 closed centres st in potentially explosive environment.
5/3 M Solenoid operator with a special coil for pneumatic application in potentially
open centres 4 explosive environment (group Il). The protection is assured by a thermal
] [ N fuse that, in case of damage, disconnects the coil from power.
5/3 pressurised centres
213 Solenoid system is conforming to 2014/34/EU Directive, certified:
@ Il 2G Ex db mb IIC T5 Gb
I 2D Ex tb IIIC T95°C Db IP66
Code key
Series Actuation Size Function Hazardous areas Voltages
AX1 = Standard E = electrical @9 2 =1/4Gas |30=3/2NC XB =11 2G Ex db mb IIC T5 Gb A= 6VDC |E= 12VAC
AXX1* = Completely in | K = electrical @9 2N=1/4 NPT |31 =3/2NO 11 2D Ex tb 1IIC T95°C Db I1P66 B=12VDC |F = 24VAC
stainless steel external air pilot 32 = 3/2 solenoid/solenoid C=24VDC*| G= 48 VAC
AXIN = NAMUR 50 = 5/2 solenoid/spring D=48VDC | H=100VAC
AXXLIN* = NAMUR 51 = 5/2 solenoid/solenoid I =110 VAC
Completely in 52 = 5/2 solenoid/solenoid L =115VAC
i differential M= 120 VAC
stainless steel 0 =220 VAC
70=5/3CC B
— P =230 VAC
71=5/30C — 540 VAG
72=5/3PC Q=
* On reugest * = Standard voltages
Technical data
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Threaded connection 1/4 Gas - 1/4 NPT
Pressure range Spring return: 2,5 + 10 bar Bistable: 1 + 10 bar 3 positions: 2,5 + 10 bar
Minimum external air pressure | 1.5 bar
Temperature range -25°C + +50°C
Protection grade 1P66
@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)
Manual override Bistable
Nominal voltage |6VDC |12VDC | 24VDC |48VDC | 12VAC | 24VAC |48VAC | 100VAC| 110VAC| 115VAC| 120VAC | 220VAC | 230 VAC| 240VAC
Frequency - - - - 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz
E}Lecmcta', i Nominal current | 0510A | 0250A |0125A |0063A |0270A |0133A | 0067A |0032A |0029A |0028A |0027A | 00I4A | 0014A |0O0I3A
characteristic
Nominal power | 3W 3w 3w 3w 32VA [32VA [32VA |[32VA [32VA |32VA |32VA |32VA |32VA |32VA
Duty cycle 100% ED
Temp. class T5
Energising: - ms Energising: - ms Energising: - ms

Response time (at 6 bar)

De-energising: - ms

De-energising: - ms

De-energising: - ms

Materials

(1) Body: Stainless steel AISI 316L
(2) Cover: Stainless steel AISI 316L
(3) Spool: Hard aluminium anodized (AX series)

Stainless steel AISI 316 (AXX series)

(4) Distancers:

Ixef 1022 (AX series)
Stainless steel AISI 316 (AXX series)

(5) Seals: Hydrogenate Nitrile Butadine Rubber (HNBR)
(6) Spring: Stainless steel

(7) Operator: Stainless steel

(8) Coail: Thermoset resin

5.83.1



M H L\
Valves series AX1 - Encapsulated coil Ex dm API
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex dm "

12 .
[%1: /Actuation = K G14— GUA4
= : 1\ 0
1 I T 1,
| o > Oy
l=_) 17 _L 3 3 =i
{ i N 496 215 | 2175
255
Bﬁuieszo\ "
342
20 36,6 49,4 - 22 215 10|
130 ™
- G4 325
® E ® I u
: &
9 E! qD] ‘/\ =
8 é’_‘ .
@ #ig—LU ¢
Version Symbol | Code Iltem
2
3/2 NC i PAL AX1E230XB*
31
2
3/2 NO B/ AX1E231XB*
1 3
3/2 NC e
external air pilot m AXIK230XBZ
* For coil voltage: see code key at page 5.83.1
A
_ i - G1l/4 G1/4
tuation = K : o —_— —
: = B 1&_*\ =
1 0= 0 RSFER
—_ | — ——
49,6 215 49,6
255
Bﬁ\&mzo\ w0l
4.2
i ® o ]
20 36,6 494 22 49.4 36.6 ° 20
190
G1/4
E 5, h o 10 %E fa ©
. %5*’ o | ) [ EEd| -
Version Symbol Code Item
2
312 solenoid/solenoid | 6] [ /1 AX1E232XB*
31
3/2 solenoid/solenoid | 12— .
external air pilot m AXIK232XBZ

* For coil voltage: see code key at page 5.83.1

5.83.2




Valves series AX1 - Encapsulated coil Ex dm Av—

1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex dm "
12 .
o] Actaion =k cu, ou o
M | G1/8 , . L
| ~ - N 34
1 ot 15 OO 1,
! —7‘ B = ‘[ & =/ o B |
= =
[ it n 49,6 22.75 ( 22,75 21,25
255 '
Bﬁ&mzo\
d42
] Y -
= | o
-ﬂpi © ©
K (=)
20 36,6 61 ;2 33
150
G4 l——-122 G4
!O T T L
E 14 4 S
8 Q| : 8
gi 1 i
Version Symbol | Code Iltem
1T
5/2 solenoid/spring | 701 [[] [ AX1E250XB*
513
* For coil voltage: see code key at page 5.83.1
12
Actuation = K
‘Zgl:,,,,,,,,‘ \ G 1/4 Gl4 Gl/4 (
+ i ia@
s : &25{ S 0
) U
49,6 22.75 22,75 49,6
gfr;\lgzte 320 N w)
g
D42
i P o
&
= =
- 3 j b
20 36,6 61 22 J 61 36,6 20
220
@ ) G114 G1/4
1 ® ©
o E 1 Z j i EES
g é 5o ) g ||O g 8
@ e LU g
Version Symbol | Code Iltem
1 42 12
5/2 solenoid/solenoid | 26\ [[] /1 AXIE251XB*
513
i 1t 14; 42 12
5(2 solen0|d/solen0|d AX1E252XB*
differential s
* For coil voltage: see code key at page 5.83.1

5.83.3



1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex dm API

A\

Valves series AX1 - Encapsulated coil Ex dm @ Av—

G4 G4 G4
~9 3
- +
- - +
AFE
0 = B
i - - 66.25 275 | 2275 | 496
255 -+ A

DIN46320 o

g

<

@42
il X o
&
- b - b
g} )
[p hid =
\
20 366 66.25 2 61 366 20
220
G4 22 G4

36
36

—
S v == A4 2le Y Ofss®
§ E: () - —t8 ||D ;;Sg
] Ay — ol

® %'e IR
Version Symbol | Code Item Version Symbol | Code Item
5/3 closed centres Qgﬂ;@ﬂ;@% AX1E270XB* 2:( ?eﬁf;e:ircsi?;:es' @Xﬂﬂﬂ;ﬁg AX1K270XB*
5/3 open centres Mﬂ% AX1E271XB* 2; ?;EZF;?;H;S j 52 i AX1K271XB*
5/3 pressurised centres ﬁﬁm AX1E272XB* 2:( ?emﬁegﬁmes i i AX1K272XB*

* For coil voltage: see code key at page 5.83.1

5.83.4



Valves series AX1 - Encapsulated coil Ex dm A“Ei
1/4”, 3/2 - 5/2, NAMUR interface, electrically operated Ex dm

L \\U
253 M
@ 0 _ (& m ; m 0
g l\!/ ) ©
o E £ ¥ : ©
1| g (o @
® 3! g@ L
150
20 36,6 60 24 32
1
( =
) © 0 .
il | [l 4
60 # 12 12 32
PG 9 ey
DIN 46 320
G114 G14— G4
]
= S SN
= “E i N @ 5 3
) i
. 49,25 22,75 22,75 21,25
Functions 3/2 a4 2 -
{} Version Symbol | Code Iltem
ANA 14+
= 312 NC AR AXINE230XB*
oo —=
5/2 solenoid/spring AXINE250XB*
513
* For coil voltage: see code key at page 5.83.1
@ 53
® m
A
5] E i ¥
8 g gafs (O
@ g
22|
20 36,6 60 24
B 74@” 7@7 [Te) B
il L g 4 [
60 # 12 L 12 60
PG9
DIN 46 320
Gl4
) A (
Functions 3/2 7 ! -[ . l—-">
49,25 49.25
84 60
Version Symbol | Code Iltem
0 © ———
= 3/2 solenoid/solenoid AXINE232XB*
©0 X
‘ B 5/2 solenoidisolenoid 751 || /11 AXINE251XBY
513
* For coil voltage: see code key at page 5.83.1

5.83.5



AN N

API

A \\4

Notes




Valves series AX1 - Flameproof coil Ex db A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE and NAMUR interface, electrically operated Ex db = o
Standard executions E 5
Nt e
Version Symbol Code e SN
P— = O it
3/2 NC o], I/ 4 E/ P al
3 1 i G; & y G;.»"g‘
3/2 NO V

23 G s
B 3 D i
13 = vl i .\ )

: »&" e |

3/2 solenoid/solenoid

14 New series of “AX” valves with functions 3/2 - 5/2 - 5/3 connection in line on

5/2 solenoid/spring the body or NAMUR. Electric and electric servo pilot.

513
A2 For code key They are manufactured in AISI 316L stainless steel, especially suitable in
5/2 solenoid/solenoid see the table the food, chemical, pharmaceutical, Oil & Gas and mining industry.
_ _ — below AX valves are manufactured according to 2014/34/EU Directive to be used
5_/2 sole_nmd/solenmd S z in potentially explosive environment.
differential 513 Flameproof solenoid operator is used extensively to prevent possible
42 12 overheating or sparking of electrical equipment causing ignition in an
5/3 closed centres o potentially explosive atmosphere.
TS I BT Flameproof solenoid coil is equipped with a robust enclosure which will
5/3 open centres contain an explosion in case should it occur.
513 All construction joints in the enclosure are known as flame paths which
14 4 2 12 . . . .
5/3 pressurised centres prevent the transmission of a flame from within the enclosure to the
315 external atmosphere.
@ 112G Ex db IIC T6 Gb
Code key
Series Actuation Size Function Hazardous areas Voltages
AX1 = Standard E = electrical @9 2 =1/4Gas |30=3/2NC XC=112G Exdb lIC T6 Gb B=12VDC F= 24VAC*
AXX1* = Completely in 2N = 1/4 NPT | 31 = 3/2 NO C=24VDC* || =110VAC*
stainless steel 32 = 3/2 solenoid/solenoid M=120 VAC
AXIN = NAMUR 50 = 5/2 solenoid/spring 0O=220 VAC*
AXX1IN* = NAMUR 51 = 5/2 solenoid/solenoid Q=240 VAC

Completely in
stainless steel

*On reugest

52 = 5/2 solenoid/solenoid
differential

70=5/3CC

71=5/30C

72 =5/3 PC

* = Standard voltages

Technical data

Fluid

Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.

Threaded connection

1/4 Gas - 1/4 NPT

Pressure range

Spring return: 2,5 + 8 bar

Bistable: 2 + 8 bar

3 positions: 2,5 + 8 bar

Temperature range -20°C + +60°C
Protection grade -
@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)
Manual override Bistable
Nominal voltage 12 VvDC 24 VDC 24 VAC 110 VAC 120 VAC 220 VAC 240 VAC
Frequency - - 50/ 60 Hz 50/ 60 Hz 50/ 60 Hz 50 /60 Hz 50/ 60 Hz
Electrical Nominal current
characteristic
Nominal power 35W 35WwW 4 VA 4 VA 4 VA 4 VA 4 VA
Duty cycle 100% ED
Temp. class T6

Response time (at 6 bar)

Energising: - ms Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

De-energising: - ms

(1) Body: Stainless steel AISI 316L

(2) Cover: Stainless steel AISI 316L

(3) Spool: gar_d aluminium anodized (AX ser_ies)

tainless steel AISI 316 (AXX series)

Materials (4) Distancers: ISXt(;finllgig ég);ISAeII'ISeISl)%m (AXX series)

(5) Seals: Hydrogenate Nitrile Butadine Rubber (HNBR)

(6) Spring Stainless steel

(7) Operator: Stainless steel AISI 316L

5.84.1




Valves series AX1 - Flameproof coil Ex db A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex db

A\
G1/4 G1/4
7 ]
1/ 4
.- + - ol
3 \HA |§°
35 54,1 215 21,75
13235
@42
]
S
/“"’\ 3
o { o ®
g
maoas— 215
L 325
T
‘ L] a Version Symbol | Code Item
2
@ 8 |32NC i PAL AX1E230XC*
Z 31
- 23 7
B 0 IE va 3/2 NO BT AX1E231XC*
1 3
3/2 NC 12— .
external air pilot ‘ngm AX1K230XCZ
* For coil voltage: see code key at page 5.84.1
. | |
3
4 }
Gl/4 G 1/47
1./
JRY
& == + - Lo
3\ g *
35 54,1 215 54,1 35
199.7
S g
o
“ N N h
ZAN(O) G
o (e((O)La) s #
S ©
% \ e
waoas— L 53,85 22 53,85 J \m2oxs
64,85 . 64,85
T
‘ 2
: 8
Z Version Symbol | Code Iltem
' 2
M T o — | 3, |32 solenoidisolencid B /& AX1E232XC*
31
3/2 solenoid/solenoid | 12— .
external air pilot [Zgjj_—ﬂazﬁ]? AXIK232XCZ
* For coil voltage: see code key at page 5.84.1

5.84.2



AN N

Valves series AX1 - Flameproof coil Ex db API
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex db

L "\
G4 G4 G4
OO
RIS\ IO /AN Y I
)|
& 4“ "2 _l 9 .°9;
35 54,1 22,75 22,75 21,25
155.85
4.2
o
&
’@ (( 3B
N
N
o)
M 20x1.5J L 65,85 22 33
65,85 22 33
—F
"0 ik
@& .
[ i | Version Symbol | Code Item
1T
5/2 solenoid/spring | 701 [[] [ AX1E250XC*
513
* For coil voltage: see code key at page 5.84.1
o)
M 20x1. SJ ! 65,85 2_2 65,85 ! \— M 20x1.5
65,85 22 . 65,85
i g ]
[ " | | h [
Version Symbol | Code Iltem
1 42 12
5/2 solenoid/solenoid [Z@ﬂﬂ&] AX1E251XC*
513
i 1 14; 42 12
5(2 sole[10|d/solen0|d AXLE252XC*
differential s
* For coil voltage: see code key at page 5.84.1

5.84.3



Valves series AX1 - Flameproof coil Ex db
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex db

AN N

API

A\

G1/4 G1/4

65%

wn
(I
35 71,1 22,75 22,75 54,1 35
172,85
@42
D e
1S
¥ ©_ ©
( (el e) 4
©) ©@ ©
\ o
M 20x1.5J ! 82,85 22 65,85 ! (. M 20x1.5
82,85 22 65,85
—F
"QO° :
©O .
I [
I | | I [
Version Symbol | Code Iltem Version Symbol | Code Item
14 4 2 12 14 42 12
5/3 closed centres AX1E270XCx | |2/ closed centres, AX1K270XC*
HH external air pilot 518
Kok 5/3 open centres AT T M
| Vy * ’ *
5/3 open centres m!‘llﬂm AXIE27IXCE | | o o pilot AX1K271XC*
14 4 2 12 3 14 4 2 12
5/3 pressurised cerres AX1E272xCr | |2/ pressuised centres AXLK272XC*
518 external air pilot 513

* For coil voltage: see code key at page 5.84.1

5.84.4




Valves series AX1 - Flameproof coil Ex db A“Ei

1/4”, 3/2 - 5/2, NAMUR interface, electrically operated Ex db "

64,5 24 32

.
‘ ]

@ L

Mzoxl.s7
12| 12 32
—
o
3
G114 G114 G114
/ ]/
3 | L
+ T

N + o _ =

ASD) o 2

- -
0|
I M5 [T}
35 53,75 2375 22)75 21,25
Functions 3/2 1555
88,5 32

Version Symbol | Code Iltem
NN 14+
@ 3/2 NC AR AXINE230XC*
1
o6 aeomna [EITE
; ! |— 5/2 solenoid/spring AXINE250XC*
513

* For coil voltage: see code key at page 5.84.1

64,5 24 64,5

©®
©

115

M20><1.57 12| 12
I
=
—
o
<
@ J
Gl/47 cua— G
N =]
A\SP) A
| —
0
i l I M5 0
Functions 3/2 35 53,75 L 22775 53.75 35
223

885 53,75

Version Symbol | Code Iltem

T
a

@ , @ 3/2 solenoid/solenoid b k4 AXINE232XC*
51
4 2

T ' 14 12
OO 5/2 solenoid/solenoid AXINE251XC*
00 BRI

* For coil voltage: see code key at page 5.84.1

5.84.5



AN N

API

A \\4

Notes




Valves series AX1 - Encapsulated coil Ex mb
1/4”, 3/2 - 5/2 - 5/3, IN LINE and NAMUR interface, electrically operated Ex mb

AN N

API

A\

Standard executions

Version Symbol Code
2
312 NC T/
3 1
2
3/2 NO i yAY

3/2 solenoid/solenoid

5/2 solenoid/spring

New series of “AX” valves with functions 3/2 - 5/2 - 5/3 connection in line on

513
s For code key the body or NAMUR. Electric and electric servo pilot.
5/2 solenoid/solenoid b & see the table They are manufactured in AISI 316L stainless steel, especially suitable in
513 below the food, chemical, pharmaceutical, Oil & Gas and mining industry.
5/2 solenoid/solenoid Jary T2 AX valves are manufactured according to 2014/34/EU Directive to be used
differential K] in potentially explosive environment.
4 12 Solenoid operator with a special coil for pneumatic application in potentially
5/3 closed centres e explosive environment (group I1).
N T Solenoid system is conforming to 2014/34/EU Directive, certified:
5/3 open centres
— @ Il 2G Ex mb IIC T5 Gb
5/3 pressurised centres | pAYI[il1 /1y Il 2D Ex tb I1IC T95°C Db IP66
Code key
Series Actuation Size Function Hazardous areas Voltages
AX1 = Standard E = electrical @9 2 =1/4Gas |30=23/2NC XD = 112G Ex mb IIC T5 Gb A= 6VDC E = 12 VAC
AXX1* = Completely in | K = electrical @9 2N=1/4 NPT |31 =3/2 NO 112D Ex tb IIC T95°C Db IP66 | B =12 VDC F= 24VAC*
stainless steel external air pilot 32 = 3/2 solenoid/solenoid C=24VDC* | G= 48VAC*
AXIN = NAMUR 50 = 5/2 solenoid/spring D=48VDC | H=100VAC
AXXIN* = NAMUR 51 = 5/2 solenoid/solenoid I =110 VAC
. B ) . L =115 VAC
Completely in 52 = 5/2 solenoid/solenoid _
. - - M= 120 VAC
stainless steel differential O = 220 VAC *
70=5/3CC P =230 VAC
71=5/30C Q=240 VAC
72 =5/3PC
* On reugest * = Standard voltages
Technical data
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Threaded connection 1/4 Gas - 1/4 NPT
Pressure range Spring return: 2,5 + 10 bar Bistable: 1 + 10 bar 3 positions: 2,5 + 10 bar
Minimum external air pressure | 1,5 bar
Temperature range -25°C + +50°C
Protection grade IP66
@ Orifice 8 mm
Flow 1.100 NI/min at 6 bar with AP 1 bar
Mounting In any position (vertical assembly is not recommended for bistable valves subjected to vibration)
Cable lenght 3 mt.
Manual override Bistable
Nominal voltage |6VDC |12VDC | 24VDC |48VDC | 12VAC | 24VAC |48VAC | 100VAC| 110VAC| 115VAC| 120VAC | 220VAC| 230 VAC | 240VAC
Frequency - - - - 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz | 50/60 Hz
Erllectnctal_ i Nominal current | 0510A | 0250A |0125A |0063A |0270A |0133A | 0067A |0032A |0029A |0028A |0027A | 0014A | 0014A |00I3A
characteristic
Nominal power | 3W 3w 3w 3w 32VA [32VA |32VA [32VA |32VA |32VA |32VA [32VA [32VA |32VA
Duty cycle 100% ED
Temp. class T5

Response time (at 6 bar)

Energising: - ms

Energising: - ms

Energising: - ms

De-energising: - ms

De-energising: - ms

De-energising: - ms

Materials

1) Body: Stainless steel AISI 316L
y
(2) Cover: Stainless steel AISI 316L
(3) Spool: Hard aluminium anodized (AX series)

Stainless steel AISI 316 (AXX series)

(4) Distancers:

Ixef 1022 (AX series)

Stainless steel AISI 316 (AXX series)

(5) Seals: Hydrogenate Nitrile Butadine Rubber (HNBR)
(6) Spring: Stainless steel

(7) Operator: Stainless steel

(8) Cail: Thermoset resin

5.85.1



Valves series AX1 - Encapsulated coil Ex mb A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex mb

A \\4
12 o
[Zg[ 7A7ctL71aE|oini—I§‘ G4 61/47
—
‘ | —Gu8 _ - ! ‘ 0
T —E 16 5
| ey =l O
I S| ———1 3 ] |4 F
[ I N 496 215 21,75
255
’_ N
}_ L3}
— | 42
i @ &) 9
= INZAN
a s
| &)
494 22 215
12 | 130
Gl4
| — U
(=] - H [={
s | O \ o) ®
| — —l 4
30 60,4 l 325
Version Symbol | Code Iltem
2
3/2 NC i PAL AX1E230XD*
31
2
23]
3/2 NO AR AX1E231XD*
1 3
3/2 NC 12— "
external air pilot ‘ngﬁm AX1K230XDZ
* For coil voltage: see code key at page 5.85.1
|Z(lgzl: Actuation = K Gua G4
; 777777 ‘ G1/8 7 7
I — — = —_— ] D— = )
i | ‘ P ‘ @ 1;1 I
oy —4 &J—@— e
ohbd HE | [T\ [ EPgE
[ O 49,6 215 49,6
= 1
r m N
™)
] i | =
' e el Lo
- ‘ - o
- = g 0|
| ]
™~
494 22 494
12 | 130 12
Gl4
—H = Fe ol 3
s 1| |0= || @ AN O %
| — [ A T |
30 60,4 J 60,4 A+ 30
Version Symbol | Code Iltem
2
312 solenoid/solenoid | 6] [ /1 AX1E232XD*
31
3/2 solenoid/solenoid| 12— 71a .
external air pilot [Zgjj_‘ﬂazﬁ]@ AX1K232XDZ
* For coil voltage: see code key at page 5.85.1

5.85.2



Valves series AX1 - Encapsulated coil Ex mb A“Ei

1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex mb "

12
Actuation = K
I@: - 9"?‘,0, - G 14 Gl4 Gl1/4

f ;/G 18 5 I_
| _
i ! %+§ @ -— o
i _l\fﬂ 9 0 N3 @ 2 | o 8
L - —
b P 496 275 | 2275 | 2125
—
- @ 4.2
T— e—
&
< o
>
(=)
61 22 33
150
G4 G4
— 4 z| H s
8 Q| g
30 61 L 22 L 33
Version Symbol | Code Iltem
1T
5/2 solenoid/spring | 701 []] [ AX1E250XD*
513
* For coil voltage: see code key at page 5.85.1
12
[ Acuation=k. cumy cus o
— — !
G118 i ‘ ; ]
| M e ‘ — 5 kp= — ig, -
! - + - - + - i
: \J ‘ ﬁ _t =] & J ‘—j = o g
| —l — i — |_ i — 4
[ O A 496 22,75 22,75 49,6
255

-
]

- | 4.2 | -
— 1 0]
— IJ EOR J ) g
1| e
™
= | I =
I [Te)
61 2_2 61
12 | 220 12
G1/4
— [ 9
4 —1 £ ol &h :
—_— | 3 X 2 |
61 N 30
Version Symbol | Code Iltem
1 42 12
5/2 solenoid/solenoid | 26\ [[] /1 AX1E251XD*
513
i 1 14 42 12
5(2 sole[10|d/solen0|d AX1E252XD*
differential R

* For coil voltage: see code key at page 5.85.1

5.85.3



Valves series AX1 - Encapsulated coil Ex mb A“Ei
1/4”, 3/2 - 5/2 - 5/3, IN LINE interface, electrically operated Ex mb

A\
12 o
7o cuaion =k " "
- | —~G18 JE— ; N S—
e —E‘ =
I |\V ‘ ] = fi= 0
I Bt = = ol
1= —1 h— I o
[ ;5; R ——— 6,5 22,75 22,75 49,6
r I N
™
L | @42 | | -
T T o
—A]— B U 3
— | =)
‘l - o 8
| = |
I o
78 2_2 61
220 12
G1/4 G1l/4
f 14 4 I i
+ —1 | o] o l-&h .
—H |2 A s
—l I I I |_
30 78 L 22 i 61 J 30
Version Symbol | Code Iltem Version Symbol | Code Item
14 4 2 12 14 4 2 12
5/3 closed centres
* ' *
5/3 closed centres z@ﬂ;ﬁ]ﬂ%ﬁ AXIE270XDx | |0 i pilot 2oz LT AX1K270XD*
5/3 open centres | AT, AXIE271XD* | |D/3 open centres, | AT AX1K271XD*
p kit - | |external air pilot gLy -
. 14 4 2 12 5/3 n%d es 14 2 12
* *
5/3 pressurised centres Qﬁlﬂ% AX1E272XD* extepmess“al air pilceot 0 Al g AX1K272XD*
* For coil voltage: see code key at page 5.85.1

5.85.4



Valves series AX1 - Encapsulated coil Ex mb A“Ei
1/4”, 3/2 - 5/2, NAMUR interface, electrically operated Ex mb

Y
253 M5
m E i of
. f I — v ) 2 [] «
I ™
—f == OO
d — 1
12_ 150
42 24 32
T
J H [Te}
@ 9
‘ Q@ |1
— 66— 3
] [l =
|
[ 60 12 | 12 32
; &
L]
G4
GlA— G4
— O
gl - SVAR\ R @+2
; JE— —l N3 3 a3 g
: ‘
30 49,25 22,75 2275 | 2125
84 -
Functions 3/2 \ .
@ Version Symbol | Code Item
14+
@ i @ | 3/2 NC AR AXINE230XD*
1
- - ) 14 4 2
e @{5 \ 5/2 solenoid/spring AXINE250XD*
— T | 513
I I |_ * For coil voltage: see code key at page 5.85.1
2 53 M5
AN
[ © [] |
| —_— ¥ A —_— |
M — : — =
. I
—fm@m OO =] i—
( —l ]
12, 220 12
42 24 42
-
i ‘ 3
@ %
: @
(=1 - "
= 66 :
] v [] J
| i f
[ 60 12| 12 60 B
: " o
L] L
G1/4
Gla— G4 0
I
A = =
= 34 =
8 — 1| k /RS : 8
=t OV |
S = —l 1 : Q&1 =
Functions 3/2 30 49,25 22,75 22,75 L 49.25 30
84 - 60
>
O Ll Version Symbol | Code Item
- = 4
@ ) @ 1 E 312 solenoid/solenoid| B[\ [| [ AXINE232XD*
s o = 2
OB | — 5/2 solenoid/solenoid| 75} ][] 140 AXINE251XD*
! ! 1 — 13
I I h Il * For coil voltage: see code key at page 5.85.1

5.85.5



AN N

API

A \\4

Notes




Stainless Steel ancillary valves A“I_:i

Miniature ball valves from stainless steel hexagonal bar "

Standard executions

Version Symbol Code Iltem
Lar 030651 | 2MVSXFF
female-female
38" 030652 | 3MVSXFF
female-female
12 030653 | 4MVSXFF
female-female [ j
La 030654 | 2MVSXMF
male-female
3/8" 030655 | 3MVSXME Series of miniature ball valves from stainless steel hexagonal
male-female bar and manually operated.
) In line mounting they work to close or open the flow in both
rl‘gle_female 030656 | 4MVSXMF directions.
For use in the alimentary and chemical field.
}
m
7 > DN
A A
G
L
CH
G A B L CH | DN | Weight | Weight
(9 FF | (9) MF
1/4” 10 30 50 27 10 200 170
3/8” 10 30 50 27 10 190 165
1/2” 10 30 50 27 10 175 160
Technical data
Fluid Compressed filtered air with or without lubrication. Lubrication, if started, must be continued.
Pressure 0 + 25 bar
Temperature range -20 °C + + 150°C
Orifice See the dimension DN in the table
Mounting In-line
Body: Stainless steel AISI 316
) Lever: Nylon 66 reinforced glass
Materials )
Sphere: Stainless steel AISI 316
Seal: PTFE - FKM

5.100.1



Stainless Steel ancillary valves
Ball valves “full bore”

AN N

API

A\

Standard executions

Version Symbol Code Item
1/4” 030681 | VSLXO014FF
3/8” 030682 | VSLX038FF
1/2” 030683 | VSLXO012FF
3/4” 030684 | VSLX034FF

<

1 030685 | VSLX100FF
11/4” 030686 | VSLX114FF
11/2” 030687 | VSLX112FF
2" 030688 | VSLX200FF

Series of stainless steel ball valves full bore with long lever and
manually operated.
In line mounting they work to close or open the air flow in both

directions.

For use in the alimentary and chemical fields.

“»

A-A £

) | || p——
|
NN—~
| s
_,‘ G |
B H H
c L
D
© A|B| D E|F| G H | L | CH |Weight (g)
1/4" | 52| 8| 29 |110(37|8,5|11,4| 8 |50 |21,5| 220
3/8" | 52 10| 29 |110|37|8,5|11,4| 8 |50 |21,5| 205
1/2" | 55 |15| 34 |110|42| 10 | 15 | 9,5 | 60 (26,5| 275
3/4" | 66 [20(42,5|140|52|11,5|16,3|11,5| 70 |31,5| 465
1" |70 |25(50,5(/140|56| 14 |19,1|13,5| 85 |40,5| 710
11/4”| 85 |32| 63 |180|68|15,5|21,4| 16 | 95 |49,5| 1180
11/2"| 91 |40(75,5|/180|74|18,5|21,4| 16 |105|54,5| 1740
2" |105|50| 91 |230(87|22,5|25,7|23,5/125(69,5| 2930
Technical data
Fluid Compressed air, water, steam, inert gases and fluids
Pressure 1/4” - 3/8"- 1/2"= 100 bar 3/4”-1"= 64 bar 1 1/4"-1 1/2"-2"= 40 bar
Temperature range -20 °C + + 150°C
Orifice 1/47-3/8"= 10 mm | 1/2"= 15 mm| 3/4"=20 mm| 1"=25 mm | 1 1/4"=32 mm| 1 1/2= 40 mm| 2"= 50 mm
Flow 1/4” - 3/8"= 3.000 I/min 1/2"= 11.500 l/min 3/4"= 21.000 I/min 1"=33.000 I/min
1 1/4"=50.000 I/min 1 1/2"= 84.000 I/min 2"=97.000 I/min.
Mounting In-line
Body: Stainless steel AISI 316
. Lever: Stainless steel AlISI 316
Materials .
Ball: Stainless steel AISI 316
Seal: PTFE - FKM

5.101.1




Stainless Steel ancillary valves

Uni-directional valves

AN N

API

A\

Standard executions

Version Symbol Code Iltem
1/8” 030110 1FFX
1/4” 030111 2FFX
3/8” 030112 3FFX
1/2” 030113 4FFX
3/4” A B 030114 5FFX
1" 030115 6FFX
11/4” 030129 14FFX
11/27 030130 12FFX
2" 030131 20FFX

Note: available on request with NPTF thread.

Series of uni-directional ball valves from hexagonal bar, female

threaded.

In line mounting they allow the compressed air to flow in one
direction only; therefore, they are useful in those applications
where no return of the compressed air to the supply is admitted.

7. 22
S| 8 )Z S
)-
L SW
A L SW 7B Orifice PMax | Weight
mm? bar (9)
1/8” 42 14 5 18 350 50
1/4” 50 19 7 22 350 90
3/8” 60 24 10 42 350 160
1/2” 65 27 11 75 350 280
3/4” 75 34 17 126 300 350
1" 93 41 21 230 250 580
1"1/4 | 110 50 29 340 250 360
1" 1/2 112 55 34 509 250 1020
2" 120 75 48 1640 200 2200

Technical data

Fluid

Compressed filtered air with or without lubrication

Pressure

from 0,5 bar to see table

Temperature range

-20 °C + + 150°C

Orifice see table
Flow
Mounting In-line
Body: Stainless steel AISI 316
Materials Spring: Stainless steel AISI 316
Seal: FKM

5.105.1



Stainless Steel ancillary valves

Quick exhaust valves

AN N

API

A \\4

Standard executions

Version Symbol Code Item
1/8” 030810 1VSRX
1/4 030809 | 2VSRX
3/8” A, 030811 | 3VSRX

P
R

1/2" 030812 | 4VSRX
3/4” 030813 | 5VSRX
1" 030814 | 6VSRX
Options Suffix
Seals FKM max 150 °C V
Threaded NPTF NPT

Series of stailess steel quick exhaust valves used to increase the
speed of a cylinder.

The valve must be mounted directly on the port of the cylinder to
achieve the maximum possible speed.

When the supply is in P the diaphragm closes the exhaust R
and so the air flows through A into the chamber of the cylinder.
When the supply in P fails the diaphragm closes P and this is
due to the exhaust air from A to R. The noise of the exhaust can
be reduced by a silencer.

For stainless steel silencers see from page 5.190.1

How to order : 2VSRVXNPT

2VSRX NPT
D Version Option
il
|]|_P Il ‘
b
== r\
_ lA C J /‘\ I
o T J
L J N
[ [
L| LR |
D Ch.
H
Flow rate (at 6 bar with AP 1 bar)
D (version) L1 L2 H CH P-A (t/min) A-R (t/min)
1/8” 37,5 21 16,5 32 22 1580 1880
1/4” 37,5 21 16,5 32 22 1650 1900
3/8” 44,5 25,5 19 37 26 2350 2880
1/2” 54 23 31 45 32 4580 6400
3/4” 79 35 44 65 46 7100 10400
1” 79 35 44 65 46 7200 10500

Technical data

Fluid

Compressed filtered air with or without lubrication

Pressure

2 +10 bar

Temperature range

1/8" e 1/4” = -10 °C + + 120 °C

3/8"-1/2"-3/4"e 1" =-20°C ++ 80 °C

Orifice (mm) 1/8" =6 1/4" =8 3/4" =10 1/2" =12 3/4" =16 1"=18
Body: Stainless steel AISI 316L
Materials Seals: 1/8" e 1/4" = FKM

3/8” - 1/2" - 3/4” - 1" = Polyurethane

5.110.1



Stainless steel airline equipment in AISI 316

AN N

A\

1/4”

Standard executions

Version Symbol Code Iltem
Filter-regulator + 090604 | AL4FRRLX
lubricator

Filter-regulator @@ 090601 | A14FRRX
Filter @* 090607 Al14FX
Regulator @ 090610 |  A14RX
Lubricator <> 090613 A14LX

(€ &

I12Gc IIC TX
I12Dc lIC TX

On request, they can be supplied according to 2014/34/EU - ATEX

Options

Suffix

Filter 40 um cartridge

Series of modular units in stainless steel AISI 316 suitable for
industial application like: food, medical, chemical, Oil & Gas and
mining.

Light weight and compact size for space saving, the air
preparation units have the following standard features:

* For high pressure use, corrosion and chemical resistance;

40 » Good performance in chemical working environments and

NPT thread

Manual condense drain

outdoor facility;
« Suitable for food, medical, chemical, off-shore and mining industry;
N » Metallic parts meet NACE Standard MR-01-75;
» The pruduct effectively removes water and particle;
» Accurate and sensitive pressure setting;

H « Lubricator oil can be replenished without stopping air supply.

Automatic condense drain

D see page 5.140.21

Order separately screw kit and o-ring for mounting FRRX + LX,

The modular units are supplied together with the bracket nuts
BT and gauge always in stainless steel material.

Seals for low temperature -40°C + +70°C
How to order: A14FRRX40N
o, -
Ful, NACE A14FRRX 40 N
'-‘.h.-‘INTEI\NATIONAL
National Association of Corrosion Engineers
s eiihirde ocs rsqing sbmman i wal-hasd Version Option Option
and other corrosive environments.
Technical data
Item A14FRRLX Al4FRRX A14FX A14RX A14LX
Pressure 30 bar
Regulation range 0,5 + 20 bar
Overpressure exhaust Reliving M5 Reliving M5 - Reliving M5 -
Pressure regulator Piston Piston - Piston -
Max. flow rate (I/min) 1850 I/min 1850 I/min 1900 I/min 1850 I/min 2500 I/min
Temperature range -10°C + +70°C (std) | -10°C + +70°C (std) -10°C + +70°C (standard)
P 9 -40°C + +70°C (BT) | -40°C + +70°C (BT) -40°C + +70°C (BT)

Suggested oll With 1ISO VG 32 viscosity according to normative 1ISO 3448

. 5 um (standard) 5 um (standard) 5 um (standard) ) )
Filtering element 40 um (on request) | 40 pm (on request) | 40 um (on request)
Condense drain Semi-automatic (standard) - manual/automatic (on request) - -

. Filter: 105 cm?® 3 3 3

Cup capacity Lubricator: 125 cm? 105 cm 105 cm - 125 cm
Weight 2660 g 1380 g 1260 g 1200 g 1200 g

5.140.20




Stainless steel airline equipment in AISI 316

AN N

API

1/4 Materials "
Li1J
7
/R
8
—
{7 4 N
] L
/] =i
N\
1 /‘\? F\fﬁx
4 3 < YN HH N
By
5] —
—
o
Materials
1 Pressure regulator screw Stainless steel AISI 316 9  Lubricator cover Stainless steel AISI 316
2 Pressure regulator cup Stainless steel AISI 316 10 Lubricator body Stainless steel AISI 316
3 Regulator body Stainless steel AISI 316 11 Cover Stainless steel AISI 316
4 O-ring seal FKM (standard) - EPDM (BT) 12 Fitting Stainless steel AISI 316
5 Filtering element Stainless steel AISI 316 13 O-ring seal FKM (standard) - EPDM (BT)
6 Filter cup Stainless steel AISI 316 14 Pipe PU
7  Drain unit Stainless steel AISI 316 15 Lubricator cup Stainless steel AISI 316
8 Oil regulation screw Stainless steel AISI 316

5.140.21

Description | Code Iltem
Screwkitand | pq0618|  VOXKIT-1/4"
o-ring




Stainless steel airline equipment in AISI 316 A“Ei

1/4 Dimensions —
45 45 91
25.5
1 q C D
C )il | Reliving M5
Sy L1
I__dp:::nq g
| |
AT I T Nour | ]
al IN ‘ 1
) T |
i i § G1/8 (x2)
| |
\ \
| |
| |
| |
\ \
T T
Version Symbol Code Item

Filter-regulator 090604| AL4FRRLX
+ lubricator

61.5

COIcrDo %[D
| Reliving M5 J
|

5

IN \ ‘ N ROUT I F@\
!
i
i
i
i

77
.ﬁ.
i

33.5

192

G1/8 (xz)/

G1/4 (x2) &
3

Version Symbol Code Item

Filter-regulator @@ 090601|  A14FRRX

5.140.22



. - . . v
Stainless steel airline equipment in AISI 316 API
1/4 Dimensions —
45 61.5
255 1165 |
i i
o 1D | & ‘
| s
S | N k&
-] i N our /@
| |
i Gl/4(x2)/ i i
Q I |
- | |
| |
| |
| |
\ \
Version Symbol Code Item
Filter @ 090607 A14FX
45 91
255 61.5
16.5,
P .
[
| Reliving M5 []] ‘
N o F
w% 25 S
el ‘ | S
L ll Hoore
-] i N our F@
| |
| G1/8 (x2) | G1/4 (x2)
I
237
Version Symbol Code Item
Regulator @ 090610 AL4RX

5.140.23



Stainless steel airline equipment in AISI 316

AN N

API

1/4” Dimensions = o
45 61.5
25.5 16.5
* T T 'J:‘
‘Q‘ifﬁ" ‘ CC}D
== .
I | | J@ 9‘[
IN/ i ouT /@
| |
§| G1/4 (x2) / 1
|
| |
\ \
| |
| |
| |
\ \
Version Symbol Code Item
Lubricator <> 090613 AL4LX

5.140.24



Stainless steel airline equipment in AISI 316 N
7 P API

A\
Standard executions
Version Symbol Code Item
Filter-regulator 090605| AI12FRRLX
+ lubricator
Filter-regulator @@ 090602 A12FRRX
| A12ZFRRLX
Filter @ 090608 AL2FX oMl
Regulator @ 090611 A12RX
Lubricator <> 090614 A12LX
b 3
I 2Ge IIC TX Series of modular units in stainless steel AISI 316 suitable for
c E @ industial application like: food, medical, chemical, Oil & Gas and
On request, they can be supplied according to 2014/34/EU - ATEX Light weight and compact size for space saving, the air
Options Suffix preparation units have the following standard features :
 For high pressure use, corrosion and chemical resistance;
High pressure (12 + 28 bar) HP » Good performance in chemical working environments and
outdoor facility;
Filter 40 um cartridge 40 « Suitable for food, medical, chemical, off-shore and mining industry;

» Metallic parts meet NACE Standard MR-01-75;

» The pruduct effectively removes water and particle;

NPT thread N « Accurate and sensitive pressure setting;

« Lubricator oil can be replenished without stopping air supply.

Manual condense drain H The modular units are supplied together with the bracket nuts
and gauge always in stainless steel material.

Automatic condense drain D Order separately screw kit and o-ring for mounting FRRX + LX,
see page 5.140.41

Seals for low temperature -40°C + +70°C BT

How to order: A12FRRX40N

N, -
Fo, NACE A12FRRX 40 N

“.® INTERNATIONAL
National Association of Corrosion Engineers
recognised oil-field recommendation for resistance H : :

to sulphide stress cracking common in well-head Version Option Option

and other corrosive environments.

Technical data

Item A12FRRLX A12FRRX A12FX A12RX Al2LX
Pressure 60 bar
Regulation range 0,5 + 12 bar (standard) - 12 + 28 bar (HP)
Overpressure exhaust Reliving M5 Reliving M5 - Reliving M5 -
Pressure regulator Piston Piston - Piston -
Max. flow rate (I/min) 2500 I/min 3800 I/min 3030 I/min 2520 I/min 4100 l/min
Temperature rande -10°C + +70°C (std) | -10°C + +70°C (std) -10°C + +70°C (standard)

P 9 -40°C + +70°C (BT) | -40°C = +70°C (BT) -40°C + +70°C (BT)
Suggested oll With 1ISO VG 32 viscosity according to normative 1ISO 3448

5 um (standard) 5 um (standard) 5 pum (standard)

Filtering element 40 pum (on request) | 40 pm (on request) | 40 um (on request) ) )

Condense drain Semi-automatic (standard) - On request manual/automatic - -

Filter: 110 cm®
Lubricator: 130 cm?

Cup capacity 110 cm?® 110 cm?® - 130 cm?®

Weight 3840 g 2000 g 1650 g 1400 g 1750 g

5.140.40



Stainless steel airline equipment in AISI 316

AN N

API

1/2 Materials "
Li1J
%
A1
8
—
{7 4 I\
] L
/] =i
NN
1 /‘\? F\fﬁx
4 > 5 4N RE N
By
5] —
.
]
Materials
1 Pressure regulator screw Stainless steel AISI 316 9 Lubricator cover Stainless steel AISI 316
2 Pressure regulator cup Stainless steel AISI 316 10 Lubricator body Stainless steel AISI 316
3 Regulator body Stainless steel AISI 316 11 Cover Stainless steel AISI 316
4 O-ring seal FKM (standard) - EPDM (BT) 12 Fitting Stainless steel AISI 316
5 Filtering element Stainless steel AISI 316 13 O-ring seal FKM (standard) - EPDM (BT)
6 Filter cup Stainless steel AISI 316 14 Pipe PU
7 Drain unit Stainless steel AISI 316 15 Lubricator cup Stainless steel AISI 316
8 Oil regulation screw Stainless steel AISI 316

Description | Code Iltem
Screw kitand | 5q0619|  vOXKIT-1/2"
o-ring

5.140.41



Stainless steel airline equipment in AISI 316

AN N

API

1/2 Dimensions = o
116 99
58 58 70.5
36 58
| |
agl
Reliving M5
A S | |
) 1L |
29 (x2)—| 4:7 I |
‘ = 3
I I Hr /)
ﬁ |
“ﬁ IN/ i T \OUT @ @
| |
| | | .
| i G1/4 (x2) ‘ G1/2 (x2) §
| | |
] a
| | |
| | |
| | |
|
| | |
| | |
T e T
Version Symbol Code Item
Filter-regulator 090605 AL2FRRLX
+ lubricator
99
58 70.5
36 58
| |
Reliving M5
17 h |
g- 0 | i
@9 (x2)—1 4:7 !
| <
£ | )T
|
g HCASEE
|
| | .
‘ G1/4 (x2) ‘ G1/2 (x2) §
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
S iyl
Version Symbol Code Item
Filter-regulator M 090602|  A12FRRX

5.140.42



Stainless steel airline equipment in AISI 316
Dimensions

1/2”

AN N

API

A\

ps
29 (x2)—

N our

70.5

58

F
f /@@

|
\
| |
| | .
E 1 G1/2 (xz)/ 1 §
| |
| |
| |
| |
\ \
| |
\ \
| |
| |
| |
| |
il il
Version Symbol Code Item
Filter ‘@ 090608 A12FX
99
58 705
36 58
|
I
|
|
jé Reliving M5 |
‘ i
P [
i A
l @
| \
G1/4 (x2) DD] \-G1/2 (x2)
\
Version Symbol Code Item
Regulator @ 090611 A12RX

5.140.43



Stainless steel airline equipment in AISI 316 A“Ei

1/2 Dimensions —

58 70.5

L 36 58

|
ollo
@9 (x2)—1
! | ) ¥
| Y
IN/ j‘ \ ouT @ @
| |
|
| |
i G1/2 (x2) i &
|
| |
‘ |
| |
‘ |
| |
! |
| \
! |
|
|
|
&E%EL N~
Version Symbol Code Item
Lubricator <> 090614 A12LX

5.140.44



Stainless steel airline equipment in AISI 316 N
P API

Standard executions

Version Symbol Code Item

Filter-regulator
+ Lubricator

Filter-regulator @@ 090603 A01FRRX

090606 AO01FRRLX

Filter 090609 AO1FX

Regulator 090612 AO01RX

Lubricator 090615 AO01LX

11 2Ge IIC TX Series of modular units in stainless steel AISI 316 suitable for
c E @ industial application like: food, medical, chemical, Oil & Gas and
Il 2Dc IIIC TX mining.
On request, they can be supplied according to 2014/34/EU - ATEX Light weight and compact size for space saving, the air
Options Suffix preparation units have the following standard features :
* For high pressure use, corrosion and chemical resistance;
High pressure (12 + 28 bar) HP » Good performance in chemical working environments and
outdoor facility;
Filter 40 um cartridge 40 » Suitable for food, medical, chemical, off-shore and mining industry;

» Metallic parts meet NACE Standard MR-01-75;

» The pruduct effectively removes water and particle;

NPT thread N « Accurate and sensitive pressure setting;

* Lubricator oil can be replenished without stopping air supply.

Manual condense drain H The modular units are supplied together with the bracket nuts
and gauge always in stainless steel material.
Al i i . . .
utomatic condense drain D Order separately screw kit and o-ring for mounting FRRX + LX,
see page 5.140.61
Seals for low temperature -40°C + +70°C BT
How to order: AOLFRRX40N
NACE AOLFRRX 40 N
< INTERNATIONAL
oot orrch retomendsion of feoktenes Version Option Option
O P Siver cortosve omvronmente. oo
Technical data
ltem AO1FRRLX AO1FRRX AO1FX AO1IRX AO1LX
Pressure 60 bar (with viewer on cup: 15bar)
Regulation range 0,5 + 12 bar (standard) - 12 + 28 bar (HP)
Overpressure exhaust Reliving M5 Reliving M5 - Reliving M5 -
Pressure regulator Piston Piston - Piston -
Max. flow rate (I/min) 8000 I/min 8900 I/min 9600 I/min 9400 I/min 13200 I/min
Temperature range -10°C + +70°C (std) | -10°C + +70°C (std) -10°C + +70°C (standard)
P 9 -40°C + +70°C (BT) | -40°C + +70°C (BT) -40°C + +70°C (BT)
Suggested oll With 1ISO VG 32 viscosity according to normative 1ISO 3448
. 5 um (standard) 5 um (standard) 5 um (standard) ) )
Filtering element 40 um (on request) | 40 pm (on request) | 40 um (on request)
Condense drain Semi-automatic (standard) - On request manual/automatic - -
. Filter: 200 cm? 3 3 3
Cup capacity Lubricator: 220 cm? 200 cm 200 cm - 220 cm
Weight 7960 g 4580 g 3950 g 3400 g 3360 g

5.140.60



Stainless steel airline equipment in AISI 316

AN N

API

1 Materials —
Li1J
%
A1
8
—
{7 4 N
] L
/] =i
SN
1 /‘\? F\fﬁx
4 > 5 4N RE N
e N
5] —
.
]
Materials
1 Pressure regulator screw Stainless steel AISI 316 9 Lubricator cover Stainless steel AISI 316
2 Pressure regulator cup Stainless steel AISI 316 10 Lubricator body Stainless steel AISI 316
3 Regulator body Stainless steel AISI 316 11 Cover Stainless steel AISI 316
4 O-ring seal FKM (standard) - EPDM (BT) 12 Fitting Stainless steel AISI 316
5 Filtering element Stainless steel AISI 316 13 O-ring seal FKM (standard) - EPDM (BT)
6 Filter cup Stainless steel AISI 316 14 Pipe PU
7 Drain unit Stainless steel AISI 316 15 Lubricator cup Stainless steel AISI 316
8 Oil regulation screw Stainless steel AISI 316

5.140.61

Description | Code Iltem
screwkitand | 690650/ VOXKIT-1"
o-ring




1

Dimensions

Stainless steel airline equipment in AISI 316

AN N

API

A\

150

75

275.5

130.5

29 (x2) —

35

35

\ out

\
|
I \ -
‘ \
| | |
i i g G1/4 (x2) i \-c1 02
| |
\ | \
| ‘ |
\ ‘ \
| ‘ |
\ | \
| ‘ |
\ ‘ \
| ‘ |
\ | \
1
=T 7
‘ ‘a%?
Version Symbol Code Item
Filter-regulator 090606 AOLFRRLX
+ lubricator
125
75 83
50 45
7.25,
LIC O (i %
— o Relva s
i g Tp ‘ |
@9 (x2) — ; !
L =
| | 2N
| i ©|
8 // @
2 & AL i | [ \ _
o IN/ \\./T \OUT
| < 9
1 i
i G1/4 (x2) i \-61 (x2)
| |
\ \
| |
\ \
| |
\ \
| |
\ \
| |
\ \
Version Symbol Code Item
Filter-regulator @@ 090603|  AOLFRRX

5.140.62



Stainless steel airline equipment in AISI 316

AN N

API

1 Dimensions - o
83
75
45
0 7.25
o ©
@9 (x2) —
N /A ; ™/ i I|=|
“ | | )
| — L 1= |
IN/ i \OUT _ \/ -
| e~ @
g | |
1 1
1 G1 (x2) 1
| |
| |
| |
| |
\ \
| |
| |
| |
\ \
| |
\ \
%T E
Version Symbol Code Item
Filter @ 090609 AO01FX
125
75 83
50 45
‘I 7.25,
( ( O Q __b
) é'/ Reliving M5 1
- |
29 (x2) —| ‘ !
| |
. | ]—ﬁ
- T b
n L 1
/ @ 11 F . @ |
\ <0
| |
| \
%—J G1/4 (x2) ﬁ‘ﬁ\Gl (x2)
Version Symbol Code ltem
Regulator @ 090612 AO1RX

5.140.63



1

Stainless steel airline equipment in AISI 316

Dimensions

AN N

API

A\
83
75
45
50
7.25
@9 (x2) —/
. | =
| | )
8 i :: W\ :
|
/ I Tﬁii ° IS \e/ A
IN | uT — —
3 | i ©
1 1
| |
| G1 (x2) |
| |
\ \
| |
\ \
| |
| |
| |
\ \
| |
| |
| |
| |
—— —E
1
Version Symbol Code Item
Lubricator <> 090615 AOLLX

5.140.64



Stainless Steel push-in fittings A“I—:i

Series RX, in AISI 316 L —

Version Type
BSPT stud RX11
BSP stud RX12
Union RX?26
Bulkhead RX27
Reducer RX25
BSPT elbow RX14
BSPT swivel elbow RX15
BSP swivel elbow RX16 Series of stainless steel push-in fittings with reduced dimensions
and new collet and release collar.
Equal elbow RX28 The_y are f_or cor_mectlng n_ylon gnd polyurethane tubes. _
Available in various configurations (studs, elbows, T) and with
BSPT swivel tee RX20 th_reads C_Eas prfa-tefloned taper (BSPT) and Gas parallel (BSP)
with sealing o-ring.
BSP swivel t RX21 The stud threaded versions are standard with external and inter-
swiveltee nal hexagonal key (for mounting in narrow places).
Equal tee RX29 * How to order: RX110618
Single hollow bolt RX31 RX11 06 18
Single banjo RX35 Type Code g Tube Tube or thread code
* For standard items, codes and dimensions see tables from
page. 5.150.2
External tube g (mm) 4 6 8 10 12 1= Body
2 = Release collar
Code 04 06 08 10 12 3 = Sealing ring
4 = Collet
Threads M5 1/8” 1/4” 3/8” 1/2” 5 = Protection seal
Code M5 18 14 38 12 6 =0-ing
7 = O-ring
APPLICATION FIELDS: Chemical
Pharmaceutics
Medicine
Food
Electronics
Technical data
Fluid Compressed air, gases, acids, fluids.
Pressure range 0,5 + 12 bar
Temperature range -20 °C + + 150°C
Parallel threads UNI - ISO 228/ 1 (BSP)
Taper threads UNI-ISO7/1 (BSPT)
Metric threads ISOR/ 262
Connection tubes Calibrated nylon, polyurethane and rilsan
Tube tolerance + 0,05 mm
Body and release collar: Stainless steel AISI 316 L
. Sealing ring and protection ring: Stainless steel AISI 316 L
Materials .
Collet: Stainless Steel AISI 301
Seals: FKM

5.150.1



Stainless Steel push-in fittings

Series RX, in AISI 316 L

AN N

API

A\

L2
L1 T
(@] Code Item Tube @ D1 D2 L1 L2 CH
020901| RX 1104 18 4 1/8” 9 75 | 155 10
S 020902| RX 11 04 14 4 1/4” 9 11 20 14
- ]/T 3 | 020903 RX 11 06 18 6 1/8” 12 75 | 205 12
o -0 020904| RX 11 06 14 6 1/4” 12 11 20 14
020905 RX 1108 18 8 1/8” 14 75 | 245 14
020906| RX 11 08 14 8 1/4” 14 11 23 14
020907| RX 11 10 14 10 1/4” 16 11 30 16
020908| RX 11 10 38 10 3/8" 16 | 11,5 | 235 17
020909| RX 11 12 38 12 3/8" 18 | 115 | 27 18
BSPT stud 020910 RX 1112 12 12 1/2" 18 14 27 22
L2
L1 _
5
Code Item Tube @ | D1 D2 D3 L1 L2 | CH:1 | CH2
S 020915| RX 12 04 M5 4 M5| o | 8| 4 [19] 9 | -
ol Jg N 020916| RX 1204 18 4 18| 9 [ 13| 5 [ 16 | 13| 3
[alial 2 |0 020917| RX 1206 18 6 18" | 12 [ 13| 5 |19 | 13 | 4
020918| RX 12 06 14 6 14| 12 | 16 | 6,5 |18,5] 16 | 4
N 020919 RX 1208 18 8 18" | 14 | 13 | 5 |225] 14 | 6
T 020920| RX 12 08 14 8 14| 14 | 16 | 65| 21 | 16 | 6
© 020911] RX 12 10 14 10 |1/4°]| 16 | 16 | 6.5 |275] 16 | 8
020912] RX 12 10 38 10 |38 16| 20| 7 | 25|17 8
020913 RX 12 12 38 12 [3587] 19| 20| 7 [285] 21 | 10
BSP stud 020914| RX 121212 12 1/2"| 19 | 25 | 85 [26.5| 22 | 10
L1
SE | J]:[J'_ Code ltem Tube @1 Tube @2 D2 L1
020925| RX 26 04 04 4 4 9 27
020924| RX 26 06 04 6 4 12 31
020926| RX 26 06 06 6 6 12 32,5
020935| RX 26 08 06 8 6 14 34
020927| RX 26 08 08 8 8 14 33
, 020928] RX 26 10 10 10 10 16 37,5
Union 020929| RX 2612 12 12 12 18 39,5
L1
T
O
[}
if £
S - B =
9 Code Item Tube @ D2 L1 L2 max CH
g 020930| RX 27 04 04 4 12x1 27 11 15
9 020931| RX 27 06 06 6 14x1 32,5 16 17
020932 RX 27 08 08 8 16x1 33 17 19
020933 RX 27 10 10 10 18x1 37,5 19 21
Bulkhead 020934| RX 271212 12 20x1 39,5 20 24

5.150.2



Stainless Steel push-in fittings

Series RX, in AISI 316 L

AN N

API

A\
L1
Q
(0]
5 JE 8
Code Iltem Tube g D1 D2 L1
020921| RX 25 04 06 4 6 9 31
Reducer 020922| RX 25 06 08 6 8 12 33
020923| RX 25 08 10 8 10 14 345
L3
CH
\? -
Fbt & ¢
Code Item Tube g D1 D2 L1 L2 L3
o1 020956| RX 14 04 18 4 1/8" 9 75 16 17
020957| RX 14 06 18 6 18" | 12 | 75 16 20
020958| RX 14 06 14 6 14" | 12 11 20 20
020959| RX 14 08 18 8 18" | 14 | 75 17 21
020949| RX 14 08 14 8 U4 | 14 11 20 21
BSPT elbow 020946| RX 14 10 14 10 14" | 16 11 | 225 | 255
L3
111 8 «
CH | A1 a Code Item Tubeo| D1 | D2 | Ls L1 L | CH
. | 020936| RX 15 04 18 4 18" | 9 | 17 | 75 | 175 | 10
3 020937| RX 15 06 18 6 18" | 12 | 215 75 | 20 | 13
- 020938| RX 15 06 14 6 U4 | 12 | 21,5 11 | 24 | 14
020939| RX 15 08 18 8 18" | 14 | 22 | 75 | 20 | 13
D1 020940| RX 15 08 14 8 U4 | 14 | 22 | 11 | 24 | 14
020941| RX 15 10 14 10 | 1/4" | 16 | 255 | 11 | 26,5 | 16
020942| RX 15 10 38 10 | 3/8 | 16 | 255 | 115 | 27 | 17
_ 020943| RX 15 12 38 12 | 3/8" | 18 | 28 | 11,5 | 305 | 21
BSPT swivel elbow 020944| RX 1512 12 12 | 12| 18 | 28 | 14 | 335 | 22
L3
—1 I 5] « Code Item Tubeg| Di | Dz | L | Lo | Ls | CH
cH | °1 0 020950| RX 16 04 M5 4 M5 | 9 4 | 14 | 17 | 9
N 020951| RX 16 04 18 4 | 18" | 9 5 | 16 | 17 | 13
- 020952| RX 16 06 18 6 18" | 12 | 5 | 18 | 21,5 13
5 020953| RX 16 06 14 6 U4 | 12 | 65 | 20 | 21,5 | 16
020954| RX 16 08 18 8 18" | 14 | 5 | 18 | 22 | 13
D1 020955| RX 16 08 14 8 U4 | 14 | 65 | 20 | 22 | 16
020947| RX 16 10 14 10 | 14" | 16 | 6,5 | 225 | 255 | 16
020983| RX 16 10 38 10 | 38 | 16 | 7 | 24 | 255 21
_ 020984| RX 16 12 38 12 | 3/8 | 19 | 7 | 265 28 | 21
BSP swivel elbow 020985| RX 16 12 12 12 | 12" | 19 | 85 | 31 | 28 | 22

5.150.3




AN N

Stainless Steel push-in fittings
Series RX, in AISI 31(?L g API

A\
L1
. :
— E
i
Code Item Tube g D2 L1
020960 RX 2804 04 4 9 17
D2 020961| RX 28 06 06 6 12 20
020962| RX 28 08 08 8 14 21
e 020963| RX 28 10 10 10 16 25
Equal elbow 020964| RX 2812 12 12 18 27
L3
I Iy & &
N CH
- Code Item Tubeg| D: | D2 L1 L2 Ls | CH
I 020966| RX 20 04 18 4 18" | 9 75 | 215 ] 34 | 10
D1 020967 RX 20 06 18 6 18" | 12 | 75 | 245 | 42 | 13
020968 RX 20 06 14 6 14" | 12 | 11 | 285 | 42 | 14
020969 RX 20 08 18 8 18" | 14 | 75 | 245 | 43 | 13
020970 RX 20 08 14 8 14" | 14 | 11 | 285 | 43 | 14
_ 020971| RX 20 10 14 10 |14 | 16 | 11 | 32 | 50 | 16
BSPT swivel tee 020972| RX 20 10 38 10 | 3/8" | 16 | 115 |325]| 50 | 17
L3
« Code Item Tube g | D1 D2 L1 L2 Ls CH
- 020974 RX 21 04 M5 4 M5 9 4 18 | 34 9
020975| RX 2104 18 4 18" | 9 5 20 | 34 | 13
D1 020976 RX 2106 18 6 18" | 12 5 | 225 42 | 13
020977| RX 2106 14 6 14" | 12 | 65 | 245| 42 | 16
020978 RX 2108 18 8 18" | 14 5 |225| 43 | 13
020979| RX 2108 14 8 14 | 14 | 65 | 245 | 43 | 16
_ 020986 RX 21 10 14 10 14" | 16 | 65 | 255 | 50 | 16
BSP swivel tee 020987 RX 21 10 38 10 | 3/8" | 16 7 27 | 50 | 21
L2
Q
I -
>
J- - =
-
Code Item Tube g D2 L1 L2
D2 020995| RX 29 04 04 4 9 17 34
020996 RX 29 06 06 6 12 20 40
020997| RX 29 08 08 8 14 21 42
020998 RX 2910 10 10 16 25 50
Equal tee 020999 | RX 291212 12 18 27 54

5.150.4



Stainless Steel push-in fittings

Series RX, in AISI 316 L

AN N

API

A\
L2
o
CH y——e a
L1
= Code Item D1 L1 Lo La CH
020980 RX 3100 18 1/8" 5,5 23 27 14
020948| RX 3100 14 1/4” 6,5 26,5 315 17
single hallow bol 020988 RX 31 00 38 3/8” 7 30 36 21
020989| RX 3100 12 1/2" 8,5 35,5 41,5 26
L2
- I Code ltem Tubeg [ D1 | D: | Ds | L | Lo
= 020982 RX 3504 18 4 1/8" 9 14 15 | 19,5
020981 RX 3506 18 6 1/8” 12 14 15 22
o1 020973| RX 3506 14 6 1/4” 12 18 17 | 235
o 020965| RX 3508 18 8 1/8" 14 14 15 | 22,5
020945| RX 3508 14 8 1/4” 14 18 17 24
020990 RX 35 10 14 10 1/4” 14 18 17 27
020991| RX 35 10 38 10 3/8"” 16 22 20 29
Single banjo 020992| RX 35 12 38 12 172" 16 22 20 31
020993| RX 35 12 12 12 1/2" 19 26 24 33

5.150.5




Stainless Steel rapid fittings i
Series CX, in AISI 316 Lp g API

A \\4

Version Type
BSPT stud CX11
Union CX14
BSPT elbow CX16
Equal elbow CX18
BSTP central tee CX20
BSTP lateral tee CX21
Equal tee CX19
Nut CX27
Series of stainless steel rapid fittings in AlSI 316L suitable for
applications with very high temperatures and/or aggressive flu-
ids not compatible with standard seals.
*How to order: CX110618
External tube g (mm) 4 5 6 8 10 CX11 06 18
Code 04 05 06 08 10
Type Code g Tube Tube or thread code
Threads 1/8” 1/4* 3/8” . . .
* For standard items, codes and dimensions see tables from
Code 18 14 38 page 5.155.2

Technical data

Fluid All those compatible with stainless steel AISI 316 L
Pressuremax 25 bar

Temperature range -40 °C + + 200°C

Taper threads UNI-ISO7/1 (BSPT)

Connection tubes Suggested PTFE

Tube tollerances Up to 10 mm: £ 0,05 mm - @ 12 mm and 15 mm: + 0,1 mm
Materials Body e Nut: Stainless Steel AISI 316 L

5.155.1



Stainless Steel rapid fittings i
Series CX, in AISI 316 Lp g API

A\
Tube @
CH1
3 o Code Item Tube @ | D1 L1 L2 | CH:1 | CH2 |Weight
@)
p 021560 CX 1106 18 6-4 18" | 75 26 34 10 12

021561 CX 1106 14 6-4 /4" | 11 | 295 | 12 14 18
D1 021562 CX 110818 8-6 1/8" | 75 | 265 | 14 13 | 16,5
021563| CX 1108 14 8-6 1/4" | 11 30 14 14 | 20,5
021564 CX111014 10-8 1/4" | 11 | 325]| 16 14 24

BSPT stud 021565| CX 111038 | 10-8 | 3/8" | 11,5| 33 | 16 | 17 | 30
Tube @
CH1
~| CH2
-
Code Iltem Tube g L1 CH1 CH2 Weight
(9)
021566 CX 14 06 00 6-4 34 12 10 20
Union 021567| CX 14 08 00 8-6 35 14 12 26
021568| CX 14 10 00 10-8 39 16 14 36

L3

CH1
CH2

d

L2

L1

Code Iltem Tubeg | D1 | L1 | L2 | Ls |CH1|CH2|Weight
(9)
D1 021569| CX 16 06 18 6-4 |18 |75] 17 | 23 12|10 17
021570| CX 16 06 14 6-4 |1/47] 11 [21,5] 23 |12 |10 ] 20
021571] CX 16 08 18 86 |1/8"|75] 17 | 23 | 14| 10| 18
021572| CX 1608 14 86 |14"|11]215] 23 14|10 21
BSPT elbow 021573| CX 16 10 14 10-8 | 1/4”] 11 [21,5]/255] 16 | 10 | 25

L1

CH1
CH2

‘»_l

Tube @

Code Item Tube g L1 L1 CH1 | CH2 |Weight
C)]
021574 CX 18 06 00 6-4 22,5 22,5 12 10 25
Equal elbow 021575] CX 18 08 00 8-6 23 23 14 10 27
d 021576| CX 18 1000 10-8 255 25,5 16 10 33

5.155.2



Stainless Steel rapid fittings
Series CX, in AISI 316 L

AN N

API

A\
L3
CH1
CH2
Q
E
3 =L Code ltem Tubeg | D | L1 | Lz | Ls |CHi|CHz| Weight
b ()]
021577| CX 20 06 18 64 |1/8°| 8 | 17 | 46 | 12 | 10| 29
o1 021578| CX 20 06 14 6-4 |1/4"| 11 |21,5|46 |12 | 10| 32
021579| CX 20 08 18 86 |1/8"| 8 | 17 | 46 | 14 | 10| 30
021580| CX 20 08 14 86 |1/4"| 11 |21,5| 46 | 14 | 10| 34
BSTP central tee 021581 CX 201014 | 10-8 |1/4"| 11 |215| 51 | 16 | 10 | 40
L4
L2
A -
a Code Iltem Tube | D1 | L1 | L2 | Ls | La |CHi1|CHz2|Weight
o (@
021582 |CX 2106 18| 6-4 |1/8"| 8 | 17 | 23 | 40 | 12 | 10 | 29
021583|CX 21 06 14| 6-4 | 1/4" | 11 |215| 23 |445]| 12 | 10 | 32
021584 |CX210818| 86 |1/8"| 8 | 17 | 23 | 40 | 14 | 10 | 30
BT latoral foe 021585|CX 21 08 14| 8-6 |1/4" | 11 |21,5| 23 |445]| 14 | 10| 34
021586 | CX 21 10 14| 10-8 | 1/4" | 11 | 215|255 47 | 16 | 10 | 40
L1
CH1
CH2
; S
AN | 2
5 S 2
8
Code Iltem Tube g L1 L1 CH: CH2 | Weight
()]
021587| CX 19 06 00 6-4 45 | 225 | 12 10 36
Coual 021588| CX 19 08 00 8-6 46 23 14 10 39
qualice 021589| CX 19 10 00 10-8 51 | 255 | 16 10 49
Code Iltem Tube @ D1 L1 CHz Wg?ht
021590| CX 27 06 10 6-4 | M10x1 10 12 4
Nt 021591| CX 2708 12 86 | M12x1 10 14 5
u 021592| CX 27 10 14 10-8 | M14xl 11 16 7

5.155.3




AN N

API

A \\4

Notes




H : H AN
Stainless Steel compression fittings APi
Series OX, in AISI 316 —
Version Type
BSPT stud OX11
Female BSPT stud OX13
Union OX14
'
Bulkhead 0OX15 is
A
BSPT elbow 0OX16
Equal elbow OX17
BSPT - compression tee 0OX19
Equal tee OX18 Series of stainless steel AISI 316 Tl compression fittings con-
forming to DIN 2353 standards for metal tubes.
Equal + 0OX28 The ogive crushing onto the tube, by screwing down the external
nut, allows to get a safe connection and to work even at high
Nut OX21 pressures.
The ogive is single cone.
Ogive OX22 This series of fittings can also be used for connecting non-stiff
tubes and this by applying a tube insert inside the tube.
Tube insert 0oX23 Available with threads Gas taper (BSPT) and Gas parallel (BSP).
* How to order: 0X110814
External tube g (mm)| 6 8 10 | 12 | 14 | 15 | 16 | 18 OX11 08 14
Cod 06 | 08 | 10 | 12 | 14 | 15 | 16 | 18
ode Type Code g Tube Tube or thread code
Threads 1/8 14 3/8” vz * For standard items, codes and dimensions see tables from
Code 18 38 page 5.160.2

AV

Technical data

Fluid

Compressed air, aggressive fluids, oil at low pressure

Pressure range

Tube from 6 mm to 15 mm: 250 bar - Tube 16 mm and 18 mm: 160 bar

Temperature range

According to the tube used

Taper threads

UNI-1SO7/1 (BSPT)

Connection tubes

Metal or rilsan, nylon, polyurethane, polyethylene (with insert tube)

Materials

Completely in stainless steel AISI 316 Tl

5.160.1



Stainless Steel compression fittings
Series OX, in AISI 316

AN N

API

A\
Code Iltem Tube g | D1 | L L1 CH:1 | CH2
027031| OX 11 06 18 6 178" | 10 | 23 | 7 | 14 | 12
o o 027053| OX 11 08 18 8 178" | 10 | 23 | 8 | 17 | 14
027033 OX 1108 14 8 14" | 13 | 25 | 8 | 17 | 17
\ / 027034| OX 11 08 38 8 38 | 13 | 23 | 9 | 17 | 19
N (! 027035| OX 11 08 12 8 1727 | 16 | 23 | 11 | 17 | 22
= — ﬁémbeg 027036| OX 11 10 14 10 |4 | 13| 26 | 9 | 19 | 17
) 027037| OX 11 10 38 10 | 3/8 | 13 | 24 | 10 | 19 | 19
I — 027038| OX 11 10 12 10 | 1/27 | 16 | 24 | 11 | 19 | 22
T 027039| OX 1112 14 12 | w4 | 13 | 25 | 10 | 22 | 19
027040 OX 11 12 38 12 | 3/8 | 13 | 27 | 10 | 22 | 19
L 027041 OX 111212 12 |12 | 16 | 25 | 10 | 22 | 22
027042 OX 1114 12 14 | 127 | 16 | 29 | 11 | 27 | 24
027043| OX 11 15 12 15 | 12" | 16 | 29 | 11 | 27 | 24
027044| OX 11 16 12 16 | 1/2° | 16 | 31 | 115 | 32 | 27
BSPT stud 027045 OX 1118 12 18 | 12" | 16 | 31 | 115 | 32 | 27
CH2 L1 CH1
O i QTube 2 Code Item Tube g| Ds L Li | CHi | Cho
;'Z{ = 027081] OX130618 | 6 | 18 | 34 | 19 | 14 | 14
027082| OX 13 08 14 8 14" | 39 24 17 19
L 027083| OX 13 10 14 10 14" | 40 25 19 19
027084| OX 13 12 38 12 318" | 41 26 22 24
027085| OX 13 14 12 14 12" | 46 31 27 27
027086| OX 13 15 12 15 12" | 46 31 27 27
027087| OX 13 16 12 16 12" | 47 | 305 | 32 27
Female BSPT stud 027088| OX 131812 18 1/2” 47 30,5 32 27
ﬂ ﬁ
Tubo L | | | OTubed Code Item Tube o L L1 CH:1 CH:2
i 027001| OX 14 06 06 6 39 10 14 12
027002| OX 14 08 08 8 40 11 17 14
L 027003| OX 14 10 10 10 42 13 19 17
027004| OX 1412 12 12 43 14 22 19
027005| OX 14 14 14 14 46 16 27 24
027006| OX 14 15 15 15 46 16 27 24
. 027007| OX 14 16 16 16 48 16 32 27
Union 027008| OX 14 18 18 18 48 16 32 27
CH3 CH2 CH1
Tube@ Tube@
D Code Item Tube g | Li L2 L3 L4 | CH1| CH2 | CHs3
027137| OX 15 06 06 6 22 |27 7 [ 42|14 | 17 | 17
» » 027138| OX 15 08 08 8 23 | 27 | 8 | 42 | 17 | 19 | 19
027139| OX 1510 10 10 25 | 28 [10,5] 43 | 19 | 22 | 22
027140| OX 1512 12 12 25 | 29 | 10 | 44 | 22 | 24 | 24
027141| OX 15 14 14 14 27 | 31 | 12 | 46 | 27 | 30 | 27
027142| OX 1515 15 15 27 |31 | 12 | 46 | 27 | 30 | 27
027143| OX 15 16 16 16 30 |32,5]/135] 49 | 32 | 36 | 32
Bulkhead 027144| OX 151818 18 30 |32,5]13,5| 49 | 32 | 36 | 32

5.160.2




AN N

Stainless Steel compression fittings
Series OX, in AISI 316 p g API

A\
CHA Code Item Tube g | D1 | L L1 L2 | CHi1 |CH2
CH2 027091| OX 16 06 18 6 1g"| 8 |27 |12 | 15 | 14 | 12
[ 027092 | OX 16 06 14 6 14| 12 | 27 [155] 15 | 14 | 12
| W 027093| OX 16 08 18 8 1/8" | 12 | 29 [155| 18 | 17 | 12
g ]@r | Tubed 027094| OX 1608 14 8 14" 12 [ 29 | 14 | 18 [ 17 | 12
- [— 027095| OX 16 08 38 8 318" | 12 | 29 175 18 | 17 | 17
B JF ‘ 027096 OX 16 10 14 10 |14 |12 |30 | 15 | 19 | 19 | 14
| 027097 | OX 16 10 38 10 |3/8"| 12 | 30 | 17 | 19 | 19 | 17
D1 027099 | OX 16 12 14 12 |wa| 12 | 32| 17 | 20 | 22 | 17
L1 027100| OX 16 12 38 12 |3/8" | 12 | 32 | 17 | 20 | 22 | 17
1 027101| OX 16 12 12 12 |12'| 14 | 32 | 20 | 20 | 22 | 19
027102| OX 16 14 12 14 |12°| 14 | 36 | 21 | 24 | 27 | 19
027103| OX 16 15 12 15 | 1/2"| 14 | 36 | 21 | 24 | 27 | 19
027104| OX 16 16 12 16 | 1/2°| 14 | 40 | 23 | 26 | 32 | 24
BSPT elbow 027105| OX 16 18 12 18 | 1/2"| 14 | 40 | 23 | 26 | 32 | 24
L
CH2 L1
Kj C Tube@
- Code Item Tube g L L1 CH1 CH2
s CH: 027061| OX 17 06 06 6 27 12 14 12
BN 027062 OX 17 08 08 8 29 14 17 12
027063| OX 17 10 10 10 30 15 19 14
Tubed 027064| OX 17 12 12 12 32 17 22 17
027065| OX 17 14 14 14 36 21 27 19
027066| OX 17 15 15 15 36 21 27 19
027067| OX 17 16 16 16 40 23,5 32 24
Equal elbow 027068| OX 17 18 18 18 40 23,5 32 24
~CH chp
360 )] aBr
O
_17ﬁ - Code Iltem Tube g | D1 | L L1 L2 | CH1 |CH2
g 027151| OX 19 06 18 6 1/8"| 8 | 27 | 12 | 15 | 14 | 12
’ 027153| OX 19 08 14 8 14| 12 | 29 | 14 | 18 | 17 | 12
- 027156| OX 19 12 38 12 |3/8| 12 | 32 | 17 | 20 | 22 | 17
027157| OX 19 14 12 14 | 1/2°| 14 | 36 | 21 | 24 | 27 | 19
027158| OX 19 15 12 15 | 1/2°| 14 | 36 | 21 | 24 | 27 | 19
_ 027159| OX 19 16 12 16 | 1/2"| 14 | 40 |235]26,5] 32 | 24
BSPT - compression tee 027160| OX 191812 18 | 1/2"| 14 | 40 [23,5|26,5| 32 | 24
el
Tube@ Lt @ [ J-grubes
- — L[ Code Item Tube @ L L1 CH1 CH2
‘ \ ‘ \ ] 027121| OX 18 06 06 6 27 12 14 12
027122| OX 18 08 08 8 29 14 17 12
Tube 027123 OX 18 10 10 10 30 15 19 14
027124 OX 1812 12 12 32 17 22 17
027125| OX 18 14 14 14 36 21 27 19
027126| OX 18 15 15 15 36 21 27 19
027127| OX 18 16 16 16 40 23,5 32 24
Equal tee 027128| OX 18 18 18 18 40 23,5 32 24

5.160.3



AN N

API

Stainless Steel compression fittings
Series OX, in AISI 316

A\
Tubed
CH1 [ ‘ ]
L] CH2
R
Tubed| | @f - gruves
S ) Code Item Tube g L L1 CH1 CH2
v 027211 OX 28 06 06 6 27 12 14 12
[ F‘T ] 027212| OX 28 08 08 8 29 14 17 12
027213| OX 28 10 10 10 30 15 19 14
Tube® 027214 OX 281212 12 32 17 22 17
027215| OX 28 14 14 14 36 21 27 19
027216| OX 28 15 15 15 36 21 27 19
027217| OX 28 16 16 16 40 23,5 32 24
Equal + 027218| OX 28 18 18 18 40 23,5 32 24
oG
CH
Code Item Tube @ F1 A CH 2 G
027241| OX 21 06 06 6 12x1,5 14,5 14 6
027242| OX 21 08 08 8 14x1,5 14,5 17 8
— 027243| OX 2110 10 10 16x1,5 15,5 19 10
027244| OX 211212 12 18x1,5 15,5 22 12
< F1 027245| OX 2114 14 14 22x1,5 17 27 15
027246| OX 211515 15 22x1,5 17 27 15
027247| OX 2116 16 16 26x1,5 18 32 18
Nut 027248| OX 211818 18 26x1,5 18 32 18
oG
| Code Item Tube g 2 G M
027271 OX 22 06 06 6 6 9,5
s 027272 OX 22 08 08 8 8 9,5
027273 OX 221010 10 10 10
\ 027274 OX 221212 12 12 10
‘ 027275| OX 22 14 14 14 14 10
027276| OX 22 1515 15 15 10
, 027277| OX 2216 16 16 16 9,5
Ogive 027278| OX 22 18 18 18 18 9,5
do
\
]
dia Code Item Ext. tube @ x tickness | Int.tube g | d [@di| L
027293| OX 23 06 06 6x1 4 2,6 | 38|155
B 027290 OX 23 08 08 8x1 6 46 | 58 |15,5
027291| OX 2310 10 10x1 8 6,6 | 7,8 |16,5
027292 OX 231212 12x1 10 8,6 | 9,8 16,5
Tube extermal o 027294| OX 23 14 14 14x1 13 11,2 [12,8| 17
027295| OX 231515 15x1,5 12 10,2 |11,8] 17
027296| OX 2316 16 16x1 16 14,2 |15,8|17,5
Tube insert 027297| OX 231818 18x1,5 15 13,2 [14,8|17,5

5.160.4




Stainless Steel standard fittings A“_Pi
Series AX, in AlISI 316 —
Version Type Version Type
M-F BSPT reducer | AX002 | |Female plug AXO010
M-F BSPT stem
increaser AX004 | [Nut AX013
BSPT nipple AXO0O06 | |BSPT - hose adapter | AXQ015
Eii;z reducing AX027 | |BSP female union | AX032
Threaded nipple AXO028 | |M-F BSP union AX033
Solder fittings AX029 | |BSP 457 female | Ax 34
elbow
EiSPT extended AX030 | |F - F elbow AX021
pple
Female socket AXOO7 ||M - F elbow AX022
Female reducing e
ookt AX031 ||F-F-Ftee AX023
Male BSPT plug AXO16 ||F-F-F-F + AX026
Series of standard fittings in stainless steel AlSI 316 available in
various configurations to adapt the connections of every instal-
lation according to one’s requirements.
Available with Gas taper threads (BSPT) and fit for pneumatic,
hydraulic (low pressure) and hydropneumatic installations, for
alimentary, chemical, medical fields etc..
* How to order: AX0061212
AX006 12 12
Type Filetto Filetto
* For standard items, codes and dimensions see tables from
page 5.165.2
Threads 1/8” 1/4 3/8” 1/2” 3/4” 1" 11/4 11/2 2" 21/2 3 4
Code 18 14 38 12 34 01 41 21 02 22 03 04

Technical data

Fluid Compressed air, aggressive fluids, oil at low pressure.
Pressure range 60 bar
Taper threads UNI-ISO7/1 (BSPT)

Materials

Stainless steel AISI 316 TI

5.165.1



AN N

Stainless Steel standard fittings
Series AX, in AISI 316 g API

-—

Code Item A B L CH

CH 026161| AX002 14 18 14 1/8" 18 14
026163 AX002 38 18 3/8" 18" 20 17

7 026162| AX002 38 14 3/8" 14 20 17
026165| AX002 12 38 12" 3/8" 23 22

026164| AX002 12 14 12" 1/4" 23 22

026166| AX002 34 38 34 3/8" 27 27

a| IIHE - — < 026167| AX002 34 12 34 12" 27 27
026168| AX002 01 12 1" 12" 30 36

026169 AX002 01 34 1" 34 30 36

> % 026170 AX002 41 34 11/4" 34 31 42
026171] AX002 41 01 11/4” 1" 31 42

L 026172 AX002 21 01 11/2" 1" 33 50

026173 AX002 21 41 11/2" 114" 33 50

026174] AX002 02 41 2 11/4" 37 60

026175 AX002 02 21 2 11/2" 37 60

026176] AX002 22 21 21/2" 11/2" 43 77

026177| AX002 22 02 21/2" 2 43 77

026178] AX002 03 02 3 2 48 90

M-F BSPT reducer 026179] AX002 03 22 3 2112 48 90
Code Iltem B A CH L

026251| AX004 18 18 1/8" 1/8" 17 21

026252| AX004 14 18 14 1/8" 19 24

026253| AX004 14 14 14 14" 19 27

CH 026254| AX004 38 18 38 1/8" 24 25
026255| AX004 38 14 3/8" 1/4” 24 28

&\W 026256| AX004 38 38 3/8" 3/8" 24 31
026257| AX004 12 14 12" 14" 30 30

026258| AX004 12 38 12" 3/8" 30 33

| i — < 026259| AX004 12 12 12" 12" 24 40
026260| AX004 34 14 314 14" 36 31

026261| AX004 34 38 34 3/8" 36 34

026262| AX004 34 12 34 12" 36 35

L 026263| AX004 34 34 34 34 36 37

026264| AX004 01 38 1" 3/8" 41 37

026265| AX004 01 12 17 12" 41 38

026266 AX004 01 34 T 314 a1 20

026267] AX004 01 01 1 T 21 21

026268] AX004 41 34 11/4" 38 50 40

026269 AX004 41 01 114" T 50 21

026270] AX004 41 41 11/4" 114 50 24

026271] AX004 21 34 112" 34 55 43

026272] AX004 21 01 11/2° T 55 24

. 026273] AX004 21 41 11/2" 114 55 47

M- F BSPT stem increaser 026274] AX004 21 41 11/2° 11/2° 55 53

CH

Code Iltem A A L CH

< 1 — — d« 026131| AX006 18 18 1/8" 1/8" 24 12
026132| AX006 14 14 1/4 14" 29 14

N 026133| AX006 38 38 3/8" 3/8" 32 17
1 026134| AX006 12 12 12" 12" 38 22

026135| AX006 34 34 314" 34 45 27

026136| AX006 01 01 1" 1" 47 36

026137| AX006 41 41 11/4" 114" 52 42

026138| AX006 21 21 11/2" 11/2" 55 50

026139| AX006 02 02 2 2" 62 60

_ 026140| AX006 22 22 21/2" 21/2" 71 77

BSPT nipple 026141 AX006 03 03 3’ 3" 82 90

5.165.2




Stainless Steel standard fittings S
Series AX, in AISI 316 g API

A\
Code Iltem A A1 L CH
026091 | AX027 14 18 1/4” 1/8” 27 14
026092| AX027 38 14 3/8" 1/4" 31 17
CH 026093| AX027 12 14 172" 14 34 22
W 026094| AX027 12 38 1/2" 3/8” 35 22
026095| AX027 34 38 3/4" 3/8” 38 27
_ 026096| AX027 34 12 3/4" 172" 42 27
< T — < 026097 AX027 01 12 1" 1/2" 45 36
026098| AX027 01 34 1" 3/4” 48 36
026099 | AX027 41 34 11/4" 3/4” 49 42
L 026100| AX027 41 01 11/4” 1 51 42
026101| AX027 21 01 11/2 1 53 50
026102| AX027 21 41 11/2" 11/4" 54 50
026103| AX027 02 41 2" 11/4” 58 60
026104 AX027 02 21 2 1172 59 60
026105| AX027 22 21 212" 1172 67 77
BSPT rectucing nipple 026106 AX027 22 02 21/2" 2" 70 77
026107| AX027 03 22 3’ 2112 78 90
Doss088800000 04423 Code e A 3
026001| AX028 18 18 1/8" 16
i N 026002| AX028 14 14 1/4" 18
026003| AX028 38 38 3/8” 22
026004| AX028 12 12 1/2" 25
KRR AT d T 026005| AX028 34 34 3/4” 30
026006| AX028 01 01 1" 35
L 026007 | AX028 41 41 11/4” 38
026008| AX028 21 21 11/2" 38
026009| AX028 02 02 2" 45
026010| AX028 22 22 21/2" 55
Threaded nipple 026011| AX028 03 03 3" 60
Cc
Code Iltem A L ©
026031| AX029 18 18 1/8" 20 2,24
026032| AX029 14 14 1/4” 22 2,24
1 < 026033| AX029 38 38 3/8" 25 2,31
026034| AX029 12 12 12" 28 2,90
026035| AX029 34 34 3/4” 35 2,90
026036 AX029 01 01 1" 35 3,38
026037 | AX029 41 41 11/4 45 3,56
L 026038| AX029 21 21 1172 45 3,68
026039 AX029 02 02 2" 50 3,91
026040 AX029 22 22 21/2" 55 6,30
Solcer fting 026041| AX029 03 03 3 65 4
026042 AX029 04 04 4 75 45
Code ltem A A L
026061| AX030 18 18 1/8” 1/8” 30
026062| AX030 14 14 1/4” 1/4” 36
026063| AX030 38 38 3/8” 3/8” 42
026064| AX030 12 12 1/2" 1/2" 45
026065| AX030 34 34 3/4" 3/4" 53
026066| AX030 01 01 1" 1 60
026067 | AX030 41 41 11/4” 11/4 66
026068| AX030 21 21 11/2 1172 67
026069 | AX030 02 02 2" 2" 75
, 026070| AX030 22 22 21/2 21/2 85
BSPT extended nipple 026071| AX030 03 03 3 3 90

5.165.3



Stainless Steel standard fittings

Series AX, in AISI 316

AN N

API

A\
Code Iltem B L D
AR, 026511| AX007 18 18 1/8" 20 14
026512| AX007 14 14 14" 22 17,2
a m 026513| AX007 38 38 3/8” 25 21,3
026514| AX007 12 12 12" 30 26,7
026515| AX007 34 34 34" 35 33,4
026516| AX007 01 01 1" 37 40
L 026517| AX007 41 41 11/4" 42 483
026518| AX007 21 21 11/2" 42 57
026519| AX007 02 02 2 46 71
026520| AX007 22 22 21/2" 65 90
026521| AX007 03 03 3" 70 100
Female socket 026522| AX007 04 04 4 70 120
Code Item B B1 L
026541| AX031 14 18 14 1/8" 27
026542| AX031 38 14 3/8" 14 30
026543| AX031 12 14 12" 14" 36
026544| AX031 12 38 12" 3/8" 36
026545| AX031 34 38 34 3/8" 39
026546| AX031 34 12 34 12" 39
o - 026547 | AX031 01 12 1" 12" 45
@ 026548| AX031 01 34 1" 3/4” 45
026549| AX031 41 34 11/4" 3/4” 50
026550| AX031 41 01 11/4" 1" 50
026551| AX031 21 01 112 1 55
L 026552| AX031 21 41 11/2" 114 55
026553| AX031 02 41 2 11/4" 65
026554| AX031 02 21 2 11/2" 65
026555| AX031 22 21 212" 11/2" 74
026556 AX031 22 02 21/2" 2 74
' 026557 | AX031 03 02 3 2 80
Female reducing socket 026558| AX031 03 22 3 21/2" 80
L
Code Iltem A L CH
026191| AXO016 18 18 1/8" 15 12
026192| AX016 14 14 14 17 14
026193| AX016 38 38 3/8" 18 17
5 - — < 026194| AX016 12 12 12" 20 22
026195| AXO016 34 34 34 25 27
026196| AX016 01 01 1 28 36
M 026197| AXO016 41 41 114 31 42
026198| AX016 21 21 11/2" 33 50
026199| AX016 02 02 2 38 60
026200| AXO016 22 22 212" 43 77
Male BSPT plug 026201| AX016 03 03 3 48 90
CH
‘ Code Iltem B L CH
i 026671| AX010 18 18 1/8" 13 17
026672| AX010 14 14 14 15 19
- 026673| AX010 38 38 3/8" 16 24
026674| AX010 12 12 12" 18 30
‘ 026675| AX010 34 34 34 21 36
026676| AX010 01 01 1 24 41
B 026677| AX010 41 41 11/4" 24 50
026678| AX010 21 21 112" 24 55
026679| AX010 02 02 2 26 68
026680 AX010 22 22 21/2" 30 84
Female plug 026681] AX010 03 03 3 30 98

5.165.4



Stainless Steel standard fittings
Series AX, in AISI 316

AN N

API

A\
Code Iltem B H CH
026641| AX013 18 18 1/8” 6 19
B 026642 | AX013 14 14 1/4” 6 22
r— . - CH 026643 | AX013 38 38 3/8” 7 27
026644 | AX013 12 12 1/2" 8 32
026645 | AX013 34 34 3/4” 9 36
026646 | AX013 01 01 1’ 10 46
026647 | AX013 41 41 11/4" 11 55
026648 | AX013 21 21 11/2" 12 60
026649| AX013 02 02 2" 13 75
026650| AX013 22 22 21/2" 16 95
Nut 026651| AX013 03 03 3 19 105
s Code Item Tube @ A L CH
] = © 026711| AX015 07 18 7 1/8” 30 13
E 026712| AX015 09 14 8 1/4" 44 15
026713| AX015 11 38 10 3/8” 50 19
c L 026714| AX015 15 12 145 12" 52 24
026715| AXO015 21 34 20 3/4” 60 28
026716| AX015 27 01 25 1" 70 35
026717 | AXO015 34 41 32 11/4" 70 45
026718| AX015 40 21 40 11/2 80 50
BSPT - hose adapter 026719 AX015 52 02 52 2 88 62
Code Item B B L
026741| AX032 18 18 1/8" 1/8" 30
L 026742| AX032 14 14 1/4” 1/4" 34
% \ 026743| AX032 38 38 3/8” 3/8” 38
T 026744| AX032 12 12 172" 1/2" 41
T D ——
A 026746 AX032 01 01 1’ 1" 52
026747 AX032 41 41 11/4” 11/4” 54
026748| AX032 21 21 1172 11/2" 59
026749| AX032 02 02 2" 2" 67
_ 026750| AX032 22 22 21/2" 21/2" 78
BSP female union 026751| AX032 03 03 3" 3’ 94
L Code Item A B L
% 026801| AX033 18 18 1/8" 1/8” 42
026802| AX033 14 14 1/4” 1/4” 42
S I O 026803| AX033 38 38 3/8"” 3/8" 49
026804| AX033 12 12 1/2" 1/2" 56
026805| AX033 34 34 3/4” 3/4” 63
026806 AX033 01 01 1" 1" 69
026807 AX033 41 41 11/4" 11/4 74
_ 026808| AX033 21 21 11/2" 11/2" 84
M-F BSP union 026809 AX033 02 02 2 2" 102
Code Item B B L
026311| AX034 18 18 1/8" 1/8” 17
026312| AX034 14 14 1/4" 1/4" 19
026313| AX034 38 38 3/8” 3/8” 20
026314 AX034 12 12 1/2" 1/2" 22
026315| AX034 34 34 3/4” 3/4” 25
026316 AX034 01 01 1" 1’ 28
026317| AX034 41 41 11/4 11/4" 33
026318| AX034 21 21 11/2" 11/2" 36
026319 AX034 02 02 2 2 43
026320 AX034 22 22 21/2" 21/2" 50
BSP 45°, female elbow 026321| AX034 03 03 3 3 56

5.165.5



Stainless Steel standard fittings A“Ei
Series AX, in AlISI 316 —
Code ltem B B L
026291| AX021 18 18 1/8” 1/8” 19
026292| AX021 14 14 1/4” 1/4” 21
026293| AX021 38 38 3/8” 3/8” 25
026294| AX021 12 12 1/2 1/2 28
026295| AX021 34 34 3/4” 3/4” 33
026296| AX021 01 01 1’ 17 38
026297| AX021 41 41 1 1/4” 11/4 45
026298| AX021 21 21 11/2" 11/2" 50
026299 AX021 02 02 2" 2" 58
026300| AX021 22 22 21/2" 21/2" 75
F - F elbow 026301| AX021 03 03 3’ 3" 85
Code ltem A B L
026391| AX022 18 18 1/8” 1/8” 20
026392| AX022 14 14 1/4” 1/4” 20
026393| AX022 38 38 3/8" 3/8" 24
026394| AX022 12 12 1/2" 1/2" 28
026395| AX022 34 34 3/4” 3/4” 33
026396| AX022 01 01 17 17 38
026397| AX022 41 41 11/4 11/4” -
026398| AX022 21 21 11/2" 11/2" -
026399| AX022 02 02 2" 2" -
026400| AX022 22 22 21/2 212 -
M - F elbow 026401| AX022 03 03 3" 3" -
Code Item B B B L
,,,,,,,,, 026421 AX023 18 18 1/8” 1/8” 1/8” 19
026422| AX023 14 14 1/4” 1/4” 1/4” 21
026423| AX023 38 38 3/8” 3/8" 3/8” 25
026424| AX023 12 12 1/2" 1/2" 1/2" 28
026425| AX023 34 34 3/4” 3/4” 3/4” 33
026426| AX023 01 01 17 17 17 38
026427| AX023 41 41 11/4 114 11/4 45
026428| AX023 21 21 11/2 11/2 11/2" 50
026429| AX023 02 02 2" 2" 2" 58
026430| AX023 22 22 21/2 212 21/2 75
F-F-Flee 026431 AX023 03 03 3" 3’ 3" 85
B
=
' "I’//A
||| | Code Item B B B B L
@ ||| l 026481| AX026 18 18 1/8” 1/8” 1/8" 1/8” 20
4, I 770 026482| AX026 14 14 1/4” 1/4” 1/4” 1/4” 24
é 026483| AX026 38 38 3/8" 3/8” 3/8” 3/8" 24
= 026484| AX026 12 12 1/2” 1/2” 1/2” 1/2" 28
026485| AX026 34 34 3/4” 3/4” 3/4” 3/4” 33
026486| AX026 01 01 17 1’ 17 17 38
026487 AX0264141 | 114 | 114 | 114 | 114 45
026488| AX0262121 | 11/2° | 11/2" | 112" | 112 49
F-F-F-F + 026489 AX026 02 02 2" 2" 2" 2" 57

5.165.6




Stainless Steel quick-lock couplings

Series GXA, from DN 6 to DN 25

AN N

API

A\

Version Code Item

Coupling 1/4” F, DN 6 570836 GXA1014F
Plug 1/4” F, DN 6 570837 GXA2014F
Coupling 3/8” F, DN 9 570838 GXA1038F
Plug 3/8” F, DN 9 570839 GXA2038F
Coupling 1/2” F, DN 13 570840 GXA1012F
Plug 1/2" F, DN 13 570841 GXA2012F
Coupling 3/4” F, DN 19 570842 GXA1034F
Plug 3/4” F, DN 19 570843 GXA2034F
Coupling 1" F, DN 25 570844 GXA1100F
Plug 1" F, DN 25 570845 GXA2100F

Series of stainless steel AISI 316 quick-lock couplings, double

shut off.

Conforming to ISO 7241-1 “A” suitable for use in aggressive
environments like the chemical field and the food industry.

The connection tightness between the coupling and the plug is
guaranteed by a series of spheres and this allows a longer life
time even when the connections and the disconnections are

frequent.

For standard items, codes and dimensions see tables from page

5.170.2.

Technical data

Fluid

Compressed air, gas, acids, fluids

Pressure

1/4” = 300 bar

3/87-1/2"-3/4” = 250 bar

1" = 200 bar

Temperature range

-20 °C + +150 °C

Parallel threads

UNI - ISO 228

Materials

Coupler body and internal parts, all in stainless steel AISI 316

Seal: FKM

5.170.1



i 1 i A
Stainless Steel quick-lock couplings APl
Series GXA, from DN 6 to DN 25 = o

<
sw
Code Iltem A SW

570836| GXA1014F 1/4" -

570838| GXA1038F 3/8” -

570840| GXAL1012F 1/2" -

570842| GXA1034F 3/4” -

570844| GXAL1100F 1" -

Code ltem A SW

570837| GXA2014F 1/4" )

570839| GXA2038F 3/8” -

570841| GXA2012F 1/2" -

570843| GXA2034F 3/4 )

570845| GXA2100F 1 :

[m]
< [ if — << Q

SW 1 A B c D L | Swi | sw:
Sw2 14" | 50 | 34 | 26 | 70 | 19 | 19
3/8" | 57 | 40 | 30 | 80 | 22 | 22
172" | 70 | 46 | 38 | 95 | 27 | 27
Groun counling-olu 314" | 81 | 535 | 48 | 108 | 34 | 32
P CotpTngPg T | 96 | 63 | 54 | 126 | 38 | 41

5.170.2




Stainless Steel quick-lock couplings
Series GXF, from DN 6 to DN 30

AN N

API

A\

Version Code Item

Coupling 1/4” F, DN 6 570846 GXF1014F
Plug 1/4” F, DN 6 570847 GXF2014F
Coupling 3/8” F, DN 9 570848 GXF1038F
Plug 3/8” F, DN 9 570849 GXF2038F
Coupling 1/2” F, DN 13 570850 GXF1012F
Plug 1/2" F, DN 13 570851 GXF2012F
Coupling 3/4” F, DN 19 570852 GXF1034F
Plug 3/4” F, DN 19 570853 GXF2034F
Coupling 1" F, DN 25 570854 GXF1100F
Plug 1" F, DN 25 570855 GXF2100F
Coupling 1-1/4” F, DN 30 570856 GXF1114F
Plug 1-1/4” F, DN 30 570857 GXF2114F

5.172.2.

Series of stainless steel AlSI 316 quick-lock couplings, “flat face”
double shut off without exit of fluid at the moment of disconnec-
tion.

Conforming to ISO 16028 for use in aggressive environments
like the chemical field and the food industry and on those use
where it is important that there is not exit of fluid.

The connection tightness between the coupling and the plug is
guaranteed by a series of spheres and this allows a longer life
time even when the connections and the disconnections are
frequent.
For standard items, codes and dimensions see tables from page

Technical data

Fluid

Compressed air, gas, acids, fluids

Pressure

1/4” = 300 bar

3/87-1/2" = 250 bar

3/4” = 200 bar

1" =150 bar

11/4" = 100 bar

Temperature range

-20 °C + +150 °C

Parallel threads

UNI - ISO 228

Materials

Coupler body and internal parts, all in stainless steel AISI 316

Seal: FKM

5.172.1



: : ; A
Stainless Steel quick-lock couplings A‘PI
Series GXF, from DN 6 to DN 30 —
Z [I{I:IIL"’_; VIIIIY) Q2
’\\\\\\m\\\\\s\&\\»}//////,
gfv
Code ltem A (© SW
570846 GXF1014F 1/4” 48 22
570848| GXF1038F 3/8” 68 27
570850 GXF1012F 1/2" 74 32
570852 GXF1034F 3/4” 79 36
_ 570854| GXF1100F 1’ 93 45
Coupling GXF1 570856| GXF1114F 11/4 106 55
,,/,/[l[/,l:;‘,‘,;;;;:\\\\\\
2
<
SW
Code Item A B SW
570847| GXF2014F 1/4” 48 22
570849| GXF2038F 3/8" 67 27
570851| GXF2012F 1/2” 68 32
570853| GXF2034F 3/4” 70 36
570855| GXF2100F 17 82 45
Plug GXF2 570857 GXF2114F 11/4 90 55
| = ]
= |
L
Vi sw
A L SW
1/4” 86 22
3/8" 118 27
1/2” 125 32
3/4” 130 36
. 17 153 45
Group coupling-plug 11/4" 1725 55

5.172.2




Stainless Steel swivel joints, in line and 90° A“Ei
Series GGLX - GGAX, from DN 6 to DN 50

A \\4
Version Code Item
In-line 1/4” MF, DN 6 570858 GGLX014
In-line 3/8” MF, DN 9 570859 GGLX038
In-line 1/2” MF, DN 13 570860 GGLX012
In-line 3/4” MF, DN 19 570861 GGLX034
In-line 1” MF, DN 25 570862 GGLX100
In-line 1 1/4” MF, DN 30 570863 GGLX114
In-line 1 1/2” MF, DN 40 570864 GGLX112
In-line 2" MF, DN 50 570865 GGLX200
ST | G | S e e, sooidng s
90° 3/8" MF, DN 9 70867 GGAX038 golr755ta2ndard items, codes and dimensions see tables from page
90° 1/2" MF, DN 13 570868 GGAX012
90° 3/4” MF, DN 19 570869 GGAX034
90° 1" MF, DN 25 570870 GGAX100
90° 1 1/4” MF, DN 30 570871 GGAX114
90° 1 1/2” MF, DN 40 570872 GGAX112
90° 2" MF, DN 50 570873 GGAX200

Technical data
Fluid Compressed air, gas, acids, fluids
GGLX: 1/4"- 3/8” = 300 bar | 1/2" = 300 bar 3/47-1" = 250 bar | 1 1/4” =180 bar | 1 1/2"-2" = 150 bar
Pressure
GGAX: 1/4” = 350 bar 3/8-1/2" = 300 bar | 3/4™-1" = 250 bar | 1 1/4” = 180 bar | 1 1/2"-2" = 150 bar
Temperature range -20 °C + +150 °C
Parallel threads UNI - 1SO 228
Max speed of rotation 10 turns / minute
. Coupler body and internal parts, all in stainless steel AlSI 316
Materials
Seal: FKM

5.175.1



Stainless Steel swivel joints, in line and 90°
Series GGLX - GGAX, from DN 6 to DN 50

AN N

API

A\
— AN O,
V T m|
% T
SW1 SW. SW3
L Code Item A B L | swi| sw: | sws
570858 GGLX014 v | ua | 75 | 27 | 24 | 11
570859| GGLX038 3/8" | 358" | 88 | 34 | 30 | 14
570860 GGLX012 12" | 12" | 101 | 36 | 32 | 18
570861 GGLX034 3/4” | 3/4” | 110 | 46 | 40 | 24
570862 GGLX100 17 17 | 124 | 55 | 50 | 30
570863| GGLX114 |11/47[11/4"| 129 | 60 | 55 | 38
i line swivel ot GGLX 570864 GGLX112 |11/2"[11/2"| 138 | 75 | 69 | 41
! 570865| GGLX200 2" 2 | 149 | 85 | 80 | 55
A
|~
u T o
.
SW1 SW 3W3
L
Code ltem A B L | Swi| Swz | Ssws
570866 GGAX014 va | ua | 78 | 32 | 21 | 11
570867| GGAX038 3/8" | 3/8 | 98 | 36 | 27 | 14
570868| GGAX012 12 | 12" | 106 | 46 | 32 | 18
00" suivel ioint GOAX 1/d" - 1 570869 GGAX034 3/4” | 3/4” | 118 | 50 | 37 | 24
swivel joint GGAX 1/4" = 1 570870| GGAX100 1" | 1”7 | 142 | 60 | 46 | 30
rife]
%
U o
(A
A
L
Code ltem A B L Q SW1 | SW2
570871| GGAX114 |11/47[11/4"| 155 | 60 | 55 | 38
o 570872| GGAX112 |11/2"[11/2°] 170 | 75 | 70 | 41
90° swivel joint GGAX 1 1/4” + 2 570873| GGAX200 2" 2" [ 190 | 85 80 | 55

5.175.2




Air-reservoirs
According to Directive 2014/68/EU

AN N

API

A\

Version Code Item

5 It 4 connections 050612 5SBCX4
12 It 4 connections 050613 12SBCX4
24 1t 4 connections 050614 24SBCX4

Keep to the use and maintenance man-
ual supplied together with each reser-
VOIr.

C€ € 1206DcIC TX

On request, they can be supplied
according to 2014/34/EU - ATEX

Series of stainless steel air-reservoirs for compressed air built
according to directive 2014/68/EU about equipment under pres-
sure.

Every air-reservoir is supplied with Certificate of Conformity and
manual instructions.

For standard items, codes and dimensions see tables from page
5.180.2.

On request, safety valves in stainless steel can be supplied.

Technical data

Fluid Compressed air

Pressure 11 bar max

Hydrostatic test pressure 16,5 bar

Temperature range -40 °C + +50 °C

Threads Parallel UNI - ISO 228/1
Materials Stainless Steel AlISI 304 polished

5.180.1



Air-reservoirs

L\
According to Directive 2014/68/EU A_P“I
2014/68/EU Type: 5SSBCX4
87,5 115 87,5
G 1/2
Haw
G1/2 G1/2
\r Tf R
] - 1 —
Q
]
i G 1/2
290
Code Iltem N° connections
050612 5SBCX4 4
2014/68/EU Type: 12SBCX4
97 155 ) 97
G 1/27 \
G1/2 G 1/2
\ﬁ T/> i
O . 1 N
Q
]
*G 1/2
349
Code Iltem N° connections
050613 12SBCX4 4
2014/68/EU Type: 24SBCX4
186 150 129
G 1/2}7
G1/2
G 1/2 ~ ) ) ) / ®
O H o~
\¥ / &
[Te}
&
=1 fF
:?‘E{G 1/2
‘ 235 x 130 @10,5((x4)
465
Code ltem N° connections
050614 24SBCX4 4

5.180.2



Air-reservoirs v

Accessories API

A \\4

Version Code ltem
Mounting bracket STSBX
Bracket/tank
connection fitting AX0041212
Series of accessories for the mounting (bracket and fitting) of
the reservoirs.
3 Type: STSBX
221 | o
Y9}
N —
™

SN RN
3 Code Item
s 050628 STSBX
Materials: Stainless Steel AISI 304
Type: AX0041212
G1/2
24
|
N
—
]
G1/2 Code Item

026259 AX0041212

Materials: Stainless steel AISI 316

5.180.5



AN N

API

A \\4

Notes




Stainless Steel flow controls
In line, for cylinders

AN N

API

A\

Version Type
Unidirectional in line with female-female thread VX52
Bi-directional in line with female-female thread VX53
Hexagonal screw adjustment VX15
For cylinder, swivel with screwdriver VX18
adjustment and push-in fitting

Series of stainless steel flow controls available either for in line
applications and for direct connection to cylinders to control the
translation velocity.

The in line regulators are available for control in one way
(unidirectional) or in both ways (bi-directional).

The regulators for cylinders can be unidirectional with outlet
adjustment from the cylinder ( C) or with inlet adjustment to the
cylinder ( V'), and in both sides ( B ).

For standard items, codes and dimensions see tables at page
5.185.2.

For the coupling of the screw adjustment type VX15 with stainless
steel single banjo, see banjo type RX35 at page 5.150.5

Flow diagrams

VX 52/53 1/8" VX 52/53 1/4" VX 15
240 1000 800
220 900 "
/ 700
200
800 /
180 600
700
= 160 = =
= = ‘£ 500
gm éeue g /
£ 120 £ 500 £ 400
© e © 1/8 1
g 100 8 400 g
[ o i 300
80
300
60 200
w 200
40 /
LA 100 /1 100 — -
20 > ///
0 0 A 0 4/
0 4 10 12 14 0 2 4 6 8 10 12 14 16 18 0 10
Needle turns Needle turns Needle turns
Technical data
Type VX52 - VX53 VX15 VX18
Fluid Compressed filtered air with or without lubrication
Pressure range 0,5+ 10 bar 0+ 10 bar
Temperature range -20 °C + 150 °C 0°C+150°C
Threads UNI - ISO 228
Body: Stainless Steel AISI 316 L Body: Stainless Steel AISI 316 L Body: Stainless Steel AISI 316 L
Needle & needle valve: Stainless steel AISI 316 L | Needle: Stainless steel AISI 316 L Needle: Stainless steel AISI 316 L
Materials Knob: Stainless steel AlSI 316 L Cartridge: Stainless steel AISI 316 L

Nut: Stainless steel AISI 316 L
Seals: FPM

Cartridge: Stainless steel AISI 316 L
Seals: FPM
Banijo ring: Stainless steel AISI 316 L

Seals: FPM
Gasket: PTFE

5.185.1



Stainless Steel flow controls

In line, for cylinders

AN N

API

A\

L3

Hexagonal screw adjustment

5.185.2

Code Item A L Li [ L2 |Ls|Lsa|Ls|Ls| D |Dz1|Weight
min  max (%] (%] ar
030155|VX52 1818 (1/8"(49 |54 (40| 8 | 30| 15|20 |20 |54 |M5| 168
030156|VX52 14 14 (1/4” |49 |54 |40 | 8 | 30| 15|20 |20 |54 |M5| 178
o o ) 030146|VX52 38 38 |3/8"|57 |66 |49 | 8 | 35|18 |20 | 25|54 |M5| 305
Unidirectional in line with female-female thread 030147|VX52 12 12 |1/2"| 57 66 | 49 | 8 | 35 | 18 | 20 | 25 |5.4|M5| 310
-
—
L5
Code Iltem A L Li L2 |Ls|Lsa|Ls|Ls| D |Da1|Weight
min  max (%) (%] ar
030157|VX53 18 18 (1/8"(49 |54 40| 8 | 30| 15|20 |20 |54 |M5| 168
030158|VX53 14 14 (1/4"|49 |54 40| 8 | 30| 15|20 |20 |54 |M5| 178
o o ) 030144|VX53 38 38 (3/8"|57 |66 49| 8 | 35|18 |20 |25|54|M5| 305
Bi-directional in line with female-female thread
030148|VX53 1212 (1/2"|57 |66 |49 | 8 | 35|18 |20 |25|54|M5| 310
For cylinder
Code Iltem D1 | L1 | L2 | Ls |CHz1| CH2 |Weight
—£
—— max ar
:: 024035|VvX150018C| 1/8" | 55 | 25 | 36 | 14 | 2,5 16
024036 |VX15 00 14C| 1/4" | 6,5 | 27,5| 42 | 17 3 30
For banjo push-in fittings series RX see page 5.150.5.
Bi directional
Code Item D1 | La | L2 | L3 |CHz1| CH2 |Weight
3 —f max ar
—
024037 |VX150018B| 1/8" | 55| 25 | 36 | 14 | 25 16
024038 |VX150014B| 1/4" | 6,5 |27,5] 42 | 17 3 30
For banjo push-in fittings series RX see page 5.150.5.
For valve
— Code Iltem D1 | L1 | L2 | Ls |CHz1| CH2 |Weight
=S max gr
024039 |VvX150018Vv| 1/8" | 55| 25 | 36 | 14 | 2,5 16
024040 |VX150014Vv| 1/4"| 6,5 |27,5] 42 | 17 3 30

For banjo push-in fittings series RX

see page 5.150.5.




Stainless Steel flow controls

In line, for cylinders

AN N

API

L\
For cylinder
Code | Item |Tube| D:|[D2| i | L2 | Ls | Ls |CHweight
~ L
/r\] 7] max ar
024232|VX180418C| 4 |1/8"| 9 5 |155| 32 |19,5| 9 | 29
024233|VvX180618C| 6 [1/8"| 12| 5 |155/32 |22 |9 | 27
024234|VX180614C| 6 |1/4"|12|6.5|17.5| 40 (23,5/10| 49
024235(VvX180818C| 8 [1/8"| 14| 5 |15.5| 32 (22,5| 9 | 31
024236|VX180814C| 8 |1/4"|14|6.5|17.5/40 | 24 |10| 49
024237(VX181014C| 10 |1/4"| 16| 6.5 |17.5| 40 26,5/ 10| 53
024238|VX181038C| 10 [3/8"| 16| 9 | 22 |52 | 28 |14 | 86
L4 For valves
CH g Code Item Tube| D1 | D2 | L1 | L2 | Ls | La |CH|Weight
g 'f_l‘_ (%) max gr
- | 024239|VvX180418V| 4 [1/8"| 9 5 ]155/ 32 (19,5 9 | 29
- ! a 024240|VvX180618Vv| 6 [1/8"| 12| 5 |155/32 |22 |9 | 27
o 024241|VX180614V| 6 |1/4"|12|6.5|17.5| 40 |23,5/10| 49
:[7 024242|VvX180818Vv| 8 [1/8"| 14| 5 |15.5| 32 |22,5| 9 | 31
024243|VvX180814V| 8 |1/4"|14|6.5|17.5| 40| 24 |10| 49
D1 024244|VvX181014V| 10 |1/4”| 16| 6.5 |17.5| 40 |26,5/10| 53
D3 024245|/VvX181038Vv| 10 [3/8"| 16| 9 | 22 |52 | 28 |14| 86
Bi directional
Code Item Tube| D1 | D2 | L1 | L2 | Ls | La |CH|Weight
—t 2 max ar
024246|VX180418B| 4 |1/8"| 9 5 |15.5|/ 32 |19,5| 9 | 29
024247|,VvX180618B| 6 |1/8"| 12| 5 |155/32 |22 | 9 | 27
024248|VvX180614B| 6 |1/4"|12|6.5|17.5| 40 |23,5/10| 49
024249|VvX180818B| 8 |1/8"| 14| 5 |15.5| 32 |22,5| 9 | 31
024250|VvX180814B| 8 |1/4”"|14|6.5|17.5/ 40| 24 |10| 49
Swi ) o 024251|VvX181014B| 10 |1/4"| 16 | 6.5 |17.5| 40 |26,5/10| 53
wivel with push-in fitting
024252|VvX181038B| 10 |3/8"| 16| 9 | 22 |52 | 28 |14| 86
Flow diagrams
VX 1804 VX1806-08 VX180 10
300 650 1/7 2000
7 /4 600 / 1800 »
20 > / 1600
225 500
450 1400
. 200 - P
E 175 / E 400 l” E 1200
i 150 i/ 0 / i/ 1000
/ ) [ 1]
2 2 20 2 800
100 200 > 7 600
75 150
50 100 400
25 s - L 200 = —
0 0 | 0 1]
2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12

Needle turns

Needle tu

ns

Needle turns

5.185.3




AN N

API

A \\4

Notes




Stainless Steel silencers and silenced exhaust restrictors A“Ei

A \\4

Standard executions

Version Symbol Type
Silencer with mesh AFEX
o spncer i AEX
S'i:enl*;gglréflat and hexagon nut AEPX
Silenced exhaust restrictor with ’;,\Zm AVRX

manual adjustment

Series of stainless steel silencers and silenced exhaust restrictors
to be used on the exhausts of valves to reduce the noise.

The silenced exhaust restrictors, furthermore, adjust the exhaust
speed and therefore the translation velocity of the cylinders.

For standard items, codes and dimensions see tables from page
5.190.2.

Technical data

Fluid

Compressed air

Pressure range

0 + 10 bar

Temperature range

-40 °C + + 150°C

Parallel threads

UNI - ISO 228

Materials

AFEX

AEX AEPX AVRX

Stainless Steel AlISI 304

Stainless Steel AlISI 316

5.190.1



Stainless Steel silencers and silenced exhaust restrictors

AN N

API

L \\J
@B
CH ‘
‘ 7 [m)]
L 7] ° Code ltem A B CH C D
% 010327 AFEXM5 5MA 6,5 8 4 8
A 010321 AFEX18 1/8” 11 13 6 15
010322 AFEX14 1/4” 14 16 8 18
010345 AFEX38 3/8” 17 19 9 19
010346 AFEX12 1/2" 22 24 10 22
) ) 010330 AFEX34 3/4” 28 30 10 27
Silencer with mesh 010329| AFEXO1 1" 34 36 15 29
m
CH Code Item A B ©
; 010358 AEXM5 M5 16 9
1 010351 AEX18 1/8” 22 12
‘ : ‘ 010352 AEX14 1/4” 24 15
011033 AEX38 3/8” 30 19
A 010353|  AEXI2 172" 38.5 23
010354 AEX34 3/4” 47 30
Conical silencer with exagonal nut 010355 AEXO01 1” 56 36
CH B
|
i Code Item A B CH
4 } 010360 AEPXM5 M5 4.5 8
A 010361 AEPX18 1/8” 6.2 12
010362 AEPX14 1/4” 6.2 15
010363 AEPX38 3/8” 6.7 19
010364 AEPX12 1/2” 9.2 23
010365 AEPX34 3/4” 9.7 30
Silencer, flat and hexagon nut on nipple 010366 AEPXO01 1 10.7 36
| M)
CH
m N
! - Code ltem A B CH
023518 AVRX18 1/8” 21.5 12
023519 AVRX14 1/4” 28 14
A 023520 AVRX38 3/8” 26 17
- - 023527 AVRX12 1/2" 32 22
Silenced exhaust restrictors 023528 AVRX34 3/4” 36.5 27
with screwdriver nut 023529 AVRX01 17 36.5 34

5.190.2



	A.P.I. - Advanced Pneumatic Industries -- General Catalogue 0917
	5 - STAINLESS STEEL COMPONENTS


